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Abstract

In this report the structure of the neutron nuclear data library KEDAK

and the computer program system KEMA for updating the KEDAK library e.g.

for deletion, insertion and change of data records is presented. Besides

this the program REFORM for preparation of an input for KEMA is described
here. Both programs are written in FORTRAN IV and are presupposing the direct

access form of the KEDAK library as used in Karlsruhe.

Das KEDAK Programm Compendium

Teil II
Verwaltung der Kerndatenbibliothek

Zusammenfassung

In diesem Bericht wird der Aufbau der Neutronenkerndatenbibliothek KEDAK sowie
das Programmsystem KEMA, das zur Aufdatierung der KEDAK Daten z.B. zum L&schen,
Einfiigen, Andern von Datensitzen dient, beschrieben. Ferner wird das Programm
REFORM, das die Erstellung einer Eingabe flir KEMA erleichtert, dargestellt.
Beide Programme sind in FORTRAN IV geschrieben und setzen die in Karlsruhe

benutzte Direct Access Form der KEDAK Bibliothek voraus.
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Introduction

The data file KEDAK contains the evaluated neutron nuclear data
for a number of materials important for reactor physics, specific
physical experiments, burn up calculations, shielding and others.
It is maintained and updated in Karlsruhe. It is used there in the
direct access form whereas the sequential card image format is in
use for the external exchange of the KEDAK library.

In this part the structure of the KEDAK library in direct access
form is described. Also the program system KEMA for the management
of the KEDAK library in particular for deletion, insertion, exchange
of data records and the program REFORM which facilitates the input
for KEMA are presented here. Both are presupposing the direct access
form of the KEDAK library and are written in FORTRAN IV. The nomen-
clature used in this description follows that described in KFK 880
/1/. For the direct understanding of the following the most impor-
tant terms will be shortly explained.

Each data type and each material is characterized by a numerical
and an alphamerical name. Numeric names are used for storage
purposes and in external transmission. The user of the direct
access library alternatively may employ alphamerical names which
might be kept in mind more easily since they are abbreviations
containing the chemical symbols. For some data types additional
so~called "further names" are necessary for their complete and unique
description e. g. for the inelastic excitation cross section it is
not sufficient to know its numerical data type name, but in addition
the level excitation energy must be specified. The level energy is
called a further name of this data type.
"Arguments" of the data type are called those quantities on which
the data type considered is dependent and in dependence on which it
is stored on the file, e. g. all cross section types have only omne
argument, the incident neutron energy. The numerical values of the
nuclear data types corresponding to specific values of the arguments
are termed "functional values". The number and kind of arguments and
functional values for a single data item and also the number and kind
of further names for a single data item are contained in 2.9

for each of the data types at present available on KEDAK. This
table supersedes the corresponding table in KFK 880 /1/.

Zum Druck eingereicht am 31.1.1977
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Direct access KEDAK library

The sets of data are written on a disk storage in direct access form without
format control in form of fixed-length unblocked records. Theentire infor-
mation is divided into a declaration and a data part. All records are filled
up to avoid unnecessary storage requirements. The structure of the declara-
tion and data part is presented below in more detail.

Declaration part

The purpose of the declaration part is to provide necessary addressing in-
formation to access the data on the library. Addressing is performed by a
hierarchy of pointers. Each pointer points to a table containing the next lower
level of pointers. The lowest level pointer points to the starting address of a
single data type.

An example may illustrate that: A table of pointers locates the starting address
of the materials in the library. At this starting address another table provides
the starting address of the various data types available for that material. If
this data type requires further names, e.g. inelastic excitation levels, this
address actually will point to a third table containing the starting address of
the uniquely defined data types (see figure below).

MATERIAL 1 | DATATYPE 1| { DATA ITEMS

i ired
MATERIAL 2 DATA TYPE 2 if no further names are requi

otherwise:

N FURTHER
NAMES 1 4 DATA ITEMS

/ FORTHER
/ [NAMES 2

MATERIAL M DATA TYPE N e

FURTHER
NAMES N

High level pointer Lower level pointer Lowest level pointer
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Here the arrows indicate that the high level pointer contains the starting address
of the next lower level pointer table or of data items.

The declaration part only includes the high level pointer table, the "material
address table'. As was pointed out before, numeric names are internally used

to identify material or data type names. Therfore a link has to be established
between the alphameric names and their numeric correspondent. This is obtained
by two ""conversion tables' stored in the declaration part.

In addition the declaration part contains an identifier for the library, its creation
date and the information necessary to access the three tables described above.

Structure of the declaration part:

The declaration part starts at the first word of the first record in the library.

The content of the different records in the declaration part is outlined below.



(1

Starting address length contents
(record, word) (in words)
1,1 3 Library identification: the alphameric text 'KEDABIBLIOTH' is stored to
enable identification of the library
1,4 1 creation date: contains the date of the last update run for the library
in decimal digits ddmmyy specifying day, month, year
1,5 1 number of isotopes in the conversion table for material names
(""material conversion table')
1
1,6 2 starting address( ) of the "material conversion table"
1,8 1 number of data type names appearing in the conversion table for data type names
(""type conversion table'')
1
1,9 2 starting address( ) of the "type conversion table"
1,11 1 number of materials in the table pointing to the starting address of each
material (""material address table')
1
1,12 2 starting address( ) of the "material address table'

as specified
in the words
6 and 7

three times
the number
specified as
contents in
word 5

"material conversion table'': consisting of three words for each material
of which the first two contain alphameric material names of eight charac-
ters in length and the last one an integer number giving the numeric name:

alphameric name [numeric
of matlerial 1 |name of
material 1

alphameric name |numeric
of matexial 2 name of e
material 2

as specified
in the words
9 and 10

three times
the number
given in
word 8

""type conversion table': its structure is identical with that of the
""material conversion table', so that in the above description only the term
"material' has to be replaced by the term ''data type"

9-11



as specified
in the words
12 and 13

four times
the number
given in
word 11

"material address table': this table points to the starting address of each
material in the library. At this address the beginning of a table is found
pointing to the individual data types for that material.
Structure: the table consists of four words for each material. The first word
gives the numeric material name, the second the number of data types

available for that material, and the third and fourth word the starting address
for that material:

material 1

material 2

(1)

numeric number | starting etddress(l) numeric number | starting address(1)
name of of material 1 name of of mategial 2 ..
data types |(record ((WOI'd data types {(record [(word
number) | number) number) | number)

(1)

An address in the library consists of two words: the first word gives the record number, the second the word number in this record.

L-11
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The contents of the declaration part is stored word by word consecutively in
the above order. Since the starting address of the above three tables is expli-
citly specified in the words 5 - 13 of record one, this however is no prere-
quisite for the programs described in this report. Actually the tables could be
stored anywhere within the library.

Data part

The data part includes all lower level pointer tables and the actual data items

for the materials listed in the "material address table'. The data part may be
divided into sections, each section containing the information for a single
material. As a rule a section is not physically interrupted by data of another
section, that means each section is a closed block in the library.

Each section consists of an addressing block and subsections. The addressing
block begins at the first word of the respective section. The corresponding starting
address is stored in the material address table. A subsection contains the data
for one data type and its starting address is recorded in the addressing block in

a manner explained below. If the respective data type requires further names for
unique identification an additional address block has to be given in the subsection.
A subsection contains one or more data blocks depending upon whether further
names do exist or not. The figure below may illustrate the physical organization:
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declaration part

section 1
(material 1)

section 2
(material 2)

addressing block
(type address table)

subsection 1
(data type 1)

subsection 2
(data type 2)

if data type 2
requires further
names:

addressing block
(further names
address table)

data block 1

data block 2

(further names 1) (further names 2)

The logical structure of a section is displayed in the following figure:

addressing block
(type address table)

start of a —
material data type 1

(section)

data type 2

no further names
3

further names .

subsection 1

= data block 1

addressing block
(further name address table)

Ed

subsection 1 consists
of one data block only

further names} = 5 Idata block 1‘

combination 1

further names ; |data block ZJ

combination 2

subsection 2 contains one addressing
block and one or more data blocks
depending on the number of combi-

nations of further names



Structure of a section

starting address | length (in words) contents
as given in the |seven times the "type address table':for each data type it points to the starting address of its subsection or the
material address|number of data addressing block of this subsection if there is one. It consists of seven words for each data type
table types with the following meaning:
data type 1 data type 2
word 1 2 3 4 5 6 7 1 2 3 4
numeric NFN NARG NFV address of numeric number | number
name of |number offnumber of | number NUM subseg¢tion 1 name of of of
Hata type 1jfurther argumentyg of func- (record) (word) (data type 2|further |argu- » o e
names (1) tional names(l) { ments
values
,of one data item(2) | yof one data item(2)
jof data type 1 ; pof data type 2 ~
i !
NUM: if no further names exist, NUM gives the number of data items for this data type l_T_‘
if further names exist, NUM gives the number of combinations of further names, e.g. ©
for inelastic excitation the number of level energies for which
data are given.
as given in the (NARGH+NFV) % subsection 1: assume, that data type 1 does not require further names, then its structure is that
type address NUM where NARG, of a data block:
table NFV and NUM are
given in the type ] (2) 9
address table data item® "1 data item( ) 2
argument jargument functio- |} functio- hrgument | argument NUM
1 A nal value |nal value | ....... 1 2 ..., . data
1 2 items
- NARG words —> |€—~ NFV words —>|¢—  NARG words —




as given in the
type address
table

(3+NFN)xNUM
where NFN and
NUM are given in
the type address
table

combination 1

Subsection 2: assume, that data type 2 does require further names,
then the subsection starts with a
"further name address table':

for each combination of further names
it contains the further names, the number of data points available
and the starting address of the respective data block:

combination 2

first second NDP adress of the first second NUM
further further number of data block further further combi-
name of mame of data points | (record) (word) name of |[name of © 7 |nations
combinption 1 combingtion 2
)
A NFN words —l P NFN words — T

as given in the
further name
address table

(NARGH+NFV) %
NDP where NARG
pnd NFV are given
in the type address
table and NDP is
recorded in the
further names
address table

data blocks for the different combinations of further names follow.
Their structure is similar to that of the data block described above
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(1) The number of further names required for a data type are described in 2.9.

(2)

Note the difference between number of further names and
number of the combinations of further names: the number of further names
required for inelastic excitation cross sections is one, the level energy, i.e.
each combination of further names consists of one further name only. The number
of the combinations of further names however, equals the number of level ener-
gies for which data are given.

The number of arguments and the number of functional values for each data type
are given and interpreted in 2.9.

A data item is a set of arguments and functional values which logically belong
together, e.g. for a cross section type the incident neutron energy (argument)
and the cross section (functional value) form a data item. For details see / 1 7.

Notes

Although data are stored densely in the library since the updating program
described below does align them in this manner, this dense storage is not a pre-
requisite to use any of the programs described here. However a block may not
be interrupted by data not belonging to it, no matter whether it is an addressing
block or a data block. Any block may be shifted to any other free position in

. the library provided the next higher level pointer pointing to it is reset to the new

address. The only exception are the words 1 - 13 of record 1, which represent
the highest level block and must not be shifted.

Summary

The flow chart below gives an idea of the logical and physical organization of
the library. The term '"block' is used in the above sense.



highest level

library identification
creation date

pointers to

"material conversion table"
""type conversion table"
""material address table" .

material conversion table
(forms a block)

type conversion table

(forms a block)

material address table

(points to starting address
of sections; forms a block)

section 1

type address table
(points to subsections:
addressing block)

subsection 1:
(no further names)
= data block

> lowest level

subsection 2:
(further names)
further name address table

(points to data blockss
addressing block)

data block 1
data block 2

¢
.

€1-11



II-14

2. The basic management program system (KEMA)

2.1 Purpose of the program system KEMA

The purpose of KEMA is to execute all kinds of management tasks on the
KEDAK library. These can be all possible changes of nuclear data which
imply a previous transformation from direct access form to a sequential
form; a deleting of all sets of data which can be linearly interpolated
by their neighbouring sets of data; the generation of the KEDAK library
in card image format for dispatching the data of other centers; the
retransformation from card image format to direct access form and the
printout of KEDAK summary information. KEMA also provides a number of
routines for the management of the test data sets in the library.
Similarly to the existence of ENDF/A and ENDF/B KEDAK offers the
possibility to enter incomplete or not fully evaluated sets of data,

e. g. to test new microscopic experimental results. Each of the above
tasks will be executed by respectively one subroutine which is called
by a control program. Therefore this FORTRAN VI program system is
always expansive. The separate subroutines will be loaded in the
program region by an overlay structure only if they are going to be
used. The control program extracts from the input what kind of task
will be done, checks the input of all desired working programs and

the presentation of all needed DD-cards and calls the appropriate
subroutines.

The entire input for the called subroutines is interpreted and written
on unit 8 in unformatted form by a FORTRAN VI subroutine FREEFO. The
working programs of KEMA can then read their particular input from unit
8. For the input some explanations are necessary: Each data record
starts in column | of a data card. If it is not possible to place all
the data of one input record on one card, a second, third, etc. card
may be used, which must have a blank in column 1. Or: a non-blank column
1 in the input card is an indication for a new input record.

One has to distinguish between an alphameric word of the lenght REAL%*4
and of the lenght REAL#8. A REAL#4 word must be included in apostrophies
and is stored left justified in the computer and filled up with blanks if
not all 4 bytes are occupied. Example: 'ARG' or 'ABCD'. A REAL*8 word
may be included in apostrophies comprising at least 5 signs and at most

8 signs, which are stored left justified in the computer if not all 8
bytes are occupied. A special case are REAL¥#8 words with a number of
occupied bytes less than or equal to 5. These words may be also included
in d-signs. They are also stored left justified in the computer and
filled up with blanks.

Examples: 'PU239' = 'PU239bbb' = PU239a); 'RESbb' = oJRESW.
Fixed point and floating point numbers are written in the usual manner,
e, g: fixed point numbers: | 10 875 and floating point numbers:

10. 5.E3 0.7E-3 0.0l. It is not possible to read double precision
values.
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The input data are separated by one or more blanks.

The following subroutines are contained in KEMA:

Identification
number

01717

01750

01701

01751

01723

01705

01708

01703

01704

01720

01721

01722

Task of the respective program

Program for converting the KEDAK library from
direct access into sequential form

Program for deleting, inserting and changing
nuclear data which are given in sequential form

Program for converting the KEDAK library from
sequential into direct access form

Program for updating the KEDAK library in direct
access form

Program for deleting of data which can be
linearly interpolated

Program for filling up data gaps in test data
sets by standard data in the sequential KEDAK
library

Program for declaration of test data to standard
data in the sequential KEDAK library

Program for printing selected sets of data of the
sequential KEDAK library

Program for printing a list of contents of the
direct access KEDAK library

Program for converting standard data of the KEDAK
library from direct access form into card image
format

Program for converting the sets of data of
selected isotopes of the KEDAK library from
direct access form into card image format

Program for conversion of the KEDAK library from
card image format into direct access form

For updating the direct access KEDAK library by standard data, only
the program succession 01717, 01750, 0170! is needed or in special
cases the program 01751,



Diagram of the program system KEMA

Control program

|

Subroutine 01717

Conversion of the

KEDAK library from
direct access into
sequential form

Input unit: |

Output unit: 12

Subroutine 01751

Subroutine 01704

Updating the
KEDAK library in
direct access
form

Input unit: 1
(13)
Output unit: |

Print out of a
list of contents
of the direct
access library

Input unit: 18

Subroutine 01720

Subroutine 01721

Subroutine 01722

Conversion of the
standard data of
the KEDAK library
from direct access
form into card
image format

Input unit: 17

Qutput unit: 16

—

r

]

Conversion of the
sets of data of
selected isotopes
from direct access
form into card
image format

Input unit: 17

Qutput unit: 16

Conversion of the
KEDAK library
from card image
format into
direct access forq

Input unit: 21

Qutput unit: 1

o

1

Subroutine 01750

Deleting, inser-
ting and changing
of nuclear data
given in sequen-—
tial form

Input unit: 12
(13)

Output unit: 2
Temporary units:
9,10,11

Subroutine 01701

Subroutine 01723

Conversion of the
KEDAK library
from sequential
into direct access
form

Input unit: 2
Output unit: 14

Deleting of data
which are linearly
interpolatable and
given in sequen-—
tial form

Input unit: 12
Output unit: 2

Subroutine 01705

Subroutine 01708

Subroutine 01703

Filling up data
gaps in test data
in the sequential
library

Input unit: 3
Output unit: 4
Temporary unit: 15

Declaration of
test data to
standard data in
the sequential
KEDAK library

Input unit: 4
Output unit: 19
Temporaryunit: 20

Print out of

selected sets of
data of the sequen-
tial library

Input unit: 2

91-11
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2.2 The control program

Input:
1. record (containing the information about the program flow)
I Number of working subroutines to be called + 1 (I-f 20)

(NFOLG(J), J =1, 1) Identification numbers of the working subroutines
chosen. NFOLG (I) = 0O

2. record (containing the assignment table of the alphanumerical and
the numerical names of the isotopes)
NZM Number of isotopes in the assignment table
(MATNA(J), NUNA(J), J =1, NZM)
MATNA : alphanumerical name of the isotope (REAL ¥ 8)
NUNA : numerical name of the isotope
3. record (containing the assignment table of the alphanumerical and
the numerical data type names)
NZT Number of data types in the assignment table
(TYPN(J), NUTY(J), J =1, NZT)

TYPN : alphanumerical data type name (REAL ¥ 8)
NUTY : numerical data type name
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2.3 Updating the KEDAK library

2.3.1 Updating in a general manner

2.3.1.1 Conversion of tlke KEDAK library from direct access
into sequential form

Program : 01717

Input : KEDAK library in direct access form (organization
see 1.)on the external storage unit 1

Output : KEDAK library in sequential form on the external
storage unit 12

This sequential library has the following unformatted organization:

1. record

1 constant,
date of the last change in the form ddmmyy,
number of isotopes available in the library.

2. record

Names of the isotopes in numerical form
The following records are repeated for each isotope

3. record

Name of the isotope in numerical form,
number of data types available for this isotope

4. record

Data type names in numerical form
The following records are repeated for each data type name

5. record

Name of the isotope in numerical form,

name of the data type in numerical form,

number of further names of the data type,

number of arguments for a single data item,

number of functional values for a single data item
in the case of further names:

number of combinations of the further names
otherwise:

@)

The following records are repeated for each combination of further names.
If there are no further names at all the 60 record is omitted and the other
two records are given only once.

6. record

Further names of the combination.
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7. record

Number of data items.

8. record

Arguments for a single data item,

functional values belonging to the arguments for a single
data item for all data items in the order of increasing
arguments.
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2.3.1.2 Updating the sequential KEDAK library

Program : 1750
Input : a) Sequential KEDAK library (organization see 2.3.1. 1)on the

external storage unit 12
b) Control input in form of card input

c) Data blocks for changing data either in the form
of card input or in the form of a data set on the external

storage unit 13

The control input has the following structure:

1. record

I AU In the case the data alteration blocks are given in form
of cards: 1
otherwise: O

I BA In the case the data alteration blocks are given in form of
a data set on the external storage unit 13: 1
otherwise: O

I AU and I BA may both be set equal to 1. In this case first the
card input and then the external input is processed.

NNKO Number of combinations of material / data type names, for

which new combinations of further names shall be inserted.
(max. 20)

2. record (only if NNKO> Q)
((IKO (1, &), I=1,2), IZKO (J), J =1, NNKO)

IKO (1,...) : name of the isotope in alphanumerical form,
IKO (2, ...) :name of the data type in alphanumerical form,
IZKO : number of combinations of new further names

to be inserted.

Then the data alteration blocks follow. According to the kind of data change

one has to choose between three types of data alteration blocks: ADD, DROPS
and DROPA. The ADD-set has the function to insert single data items for

the specified material and data type at the point specified by the respective
arguments, the DROPS-set to delete single data items existing for the specified
material and data type and identified by their arguments. The DROPA-set
causes dropping for all data items for the specified material or only all data
items for a specific data type. In arranging the data within the data alteration
blocks first priority is assigned to the names of the isotopes. At present the
following order of material names is valid for KEDAK :
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6 6
NIbbb’ N1b58, NIb o, NIb 1, NIb62, NIL

b
27, C. 12, , , 50, 52,

U, 235, AL, 12 CD . CR -, CR 50, CR

CR. 53, CR 54, FE

, FE 54, 56, 57, FE 58,
b b bbb’ | po s FES6, FE b

2 4
Hypp2r HppH L By @1, HE, 3, HE 4, MO,

VI . 94 VIQ{ 95 VIQ% 96 V]Qa 97 VI 98 Mﬂ 100, N ,
‘l 9 1 3 k4 ] ’ ’ ] ] ] ]
NAl s U239, U] 38, H” 1,
35 31

64, 9, 16,

9
Mﬁb 2’

The actual order of material names can be printed out by the program 01704

in 2.5.2.

Second priority have the data type names which have to be arranged in alpha-
betical order. If there are further names for the data type considered the diffe-
rent combinations of further names are given in the order of increasing values.
For one particular material, data type and one particular combination of further
names (if required) the rewised data have to be given in order of increasing
arguments.

Structure of the data alteration blocks

A Insertion of new data (ADD - blocks)

This item covers the three following tasks:

a) The names specified (material - and / or data type - and / or
further names) are not found in the KEDAK library - a new set
of data characterized by these names has to be created.

b) The names specified are already available in the library - new
data items have to be inserted.

¢) The specified names and arguments of single data items exist already

in the library - the existing functional values have to be replaced by
new values.

Structure of the data block:

N Number of data words in the following input
record ( N€ 2000). Note that alphameric names

congsist of eight characters each and have to be
counted as two words.

/\ ¢
Oj ADDbb a] Constant, REAL*¥ 8 word
NNAM Number of names

(NAM(I), I =1, NNAM) Name of the isotope in alphanumerical form (REAL ¥ 8),
name of the data type in alphanumerical form (REAL * 8),

eventual further names in single precision floating point
representation.
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NARG Number of arguments of a single data item
NWERT Number of functional values of a single data item
(ARG 1 (I), I =1, NARG) Arguments } first

(WERT 1 (I), I =1, NWERT) Funtional values data item
(ARG 2 (D), I =1, NARG) Arguments } second
(WERT 2 (I), I =1, NWERT) Functional values data item

and so on in the order of increasing arguments as many times as data items
shall be inserted or changed. In the case the data type for which changes should
be performed has no arguments at all (as it is the case e.g. for the type
ISOT4, for other examples see 2.9, then NARG = O and there can only be one
data item with ARG (1) equal to the alphameric text ‘ARG “and functional values
following.

The data type AASTATUS, too, represents a special case since it is only used
to store bibliographic information. If this type shall be inserted, NARG and
NWERT have to be set equal to 1 and the comments consequently following

have to be included in apostrophies. They have to be given in total by a number
of characters divisible by 8, since the first 4 characters are always interpreted
as argument and the following 4 characters as functional value. Note, that 72
characters are thought to form one line in actual use.

Deletion of existing data (DROPA -, DROPS - blocks)

a) The deletion of an entire set or sets of data on KEDAK is effected by the
DROPA date block.

Structure of the data block:

N Number of data words in the input record
(N<€ 2000). (REAL ¥ 8 data have to be

~ counted as two single words)

CD DROPA Q/ Constant, (REAL % 8)
NNAM Number of names

(NAM (I), I =1, NNAM) Name of the isotope in alphanumerical form
(REAL ¥ 8),
eventually: name of the data type to be deleted
in alphanumerical form (REAL ¥ 8),
eventually: further names in floating point
representation.

NNAM, (NAM (I), I =1, NNAM) may berepeated as often as necessary.
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b) The deletion of single data items belonging to the specified names and
arguments is caused by the DROPS-block.

Structure of the DROPS-block:

N Number of data words in the input record
(N £ 2000). (REAL#* 8 words have to be
counted as two single words)

o DROPS @) Constant, REAL # 8 word
NNAM Number of names

(NAM(I), I =1, NNAM) Name of the isotope in alphanumerical form
(REAL * 8),
name of the data type in alphanumerical form
(REAL * 8),
eventually: further names in floating point
representation

NARG Number of arguments for a single data item
(ARG 1(I), I =1, NARG) Arguments of the first data item to be deleted
(ARG 2(I), I =1, NARG) Arguments of the second data item to be deleted

and so on in the order of increasing arguments as many times as data items shall
be deleted. )

The last input record of program 01750 is given by:

2 a ENDEch

In the case that IAU =1 and IBA =1, i.e. data alteration blocks are presented

in form of cards as well as on an external storage unit, first the data alteration
blocks on cards closed by the 2 @ ENDE @ record are processed and successive-
ly the external input which has also to bg completed by the record 2 o ENDE, o .
The hierarchy of the input data, however, i.e. the already specified order o})

the material names, the alphabetic order of the data type names and the in-
creasing order of arguments has not only to be fulfilled within the data alteration
blocks on cards and on an external unit but it has also to be valid for the entire
input in the case both input variants are mixed.

The different data alteration blocks ADD, DROPA, DROPS are sorted by the
program onto the different storage units 9, 10 and 11 respectively. Therefore
DD-cards for these units are needed.
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Qutput:

a) Sequential KEDAK library containing the changed data on the external
storage unit 2 (organization see 2,3.1.1)

b) A listing for each isotope and each data type, giving the
number of data items available,
number of data items deleted,
number of data items inserted,
number of data items exchanged.
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2.3.1.3 Conversion of the sequential KEDAK library into
direct access form

Program : 01701
Input : a) Sequential KEDAK library on the external storage unit

2 (organization see 2.3.1.1)

b) The card input consists of one record with the following
contents:

‘KEDA' ‘BIBL' 'IPTH' Constants which appear as words
1, 2, 3 in the declaration part of the direct
access KEDAK library (see 1)

NMAT Number of isotopes available in the sequential
library ’
Qutput : a) KEDAK library in direct access form (seel) on the external

storage unit 14
b) Printed test output, e.g.

KMAT Current number of the isotope which is just going
to be converted

ITYP Current number of the data type of this isotope
KMAT which is just going to be converted

INK Current number of the combination of further names
belonging to ITYP and KMAT which is just going to
be converted.
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2.3.2 Updating in a special manner

Updating the KEDAK library in direct access form

Often it is helpful to have a program which changes data directly
in the direct access KEDAK library, for example if only one
functional value must be corrected. In this case it is ineffective
to use the way over the sequential form of the library. In the
following cases the here described program 01751 may replace the
program succession 01717, 01750, 01701 in KEMA:

a) in all DROPA cases
b) in all DROPS cases

c) in ADD cases only if data shall be corrected which were
always present, or if at most so much data shall be added
to a present material, type and eventual further name as
were dropped before with DROPS.

Note, that in the case of DROPS a set of data is dropped by shifting
the following data pairs downwords the number of NARG+NRV words.
Therefore at the end of the data block a gap of NARG+NRV words is
formed which can only be closed by adding a new set of data in this
data block or by converting the KEDAK library in sequential form and
back into direct access form. In the case of DROPA only the address
table in the KEDAK library is contracted, the corresponding data block
is saved unchanged but it is not possible to receive the data. The gap
in the address table and the unreachable data block can only be
eleminated by transforming the library into sequential form and back
into direct access form. That means: to have a compact library it is
convenient to use sometimes the program succession 01717, 01750, 0170!.

Program: 01751

Input: a) KEDAK library in direct access form on the external
storage unit | (organization see 1).

b) Control input in form of card input.

¢) Data blocks for changing data either in form of card
input or in form of a data set on the external storage
unit 13.

The control input has the following structure:
. record

In the case the data alteration blocks are given
IAU in form of cards: 1
otherwise: O

In the case the data alteration blocks are given

in form of a data set on the external storage
IBA .

unit 13: 1

otherwise: O
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IAU and IBA may both be set equal to l. In this
case first the card input and then the external
input is processed.

Then the data alteration blocks follow, which have the same structure
as described in program 01750,

Output: a) Changed KEDAK library in direct access form on the
external storage unit 1.

b) Print output for each separate data change.

1. line

Material name, type name, eventually further names
2. line
Kind of changing, for example: one record exchanged,

or: all data deleted.
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2.3.3 Deletion of linearly interpolatabel data

This program is necessary to economize the space on the disk storage
by deleting of sets of data which can be linearly interpolated by
their neighbouring sets of data with an error of at most O,! 7.

All data types with one argument and one functional value except

the types AASTATUS, SGNL, SGNC, SGIL, SGIC, SGILZ, SGICZ, SGNIL and
SGNIC are concerned of this reduction if the functional value is
greater than 1.E-10.

Program: 01723

Input: a) Sequential form of the KEDAK library on the external
storage unit 12 (organization see 2.3.1.1).

b) Card input in the following form:

NM Number of materials with data which shall
be reduced (at most 20)

(NAME (1),I=1,NM) Name of the materials with data
which shall be reduced. If the unnecessary
data pairs of all materials located on KEDAK
shall be dropped, NM must be set equal to 1
and NAME(1) equal to o/ALL J

Qutput: a) Reduced KEDAK library in sequential form on the
external storage unit 2.

b) Paper output for each material and each data type
with a changed number of data pairs:

material name, data type name, number of data pairs
before reducing, number of data pairs after reducing
eventually further names.



I1-29

2.4 Handling of provisional data in the KEDAK library

2.4.1 Filling up data gaps in test data with standard data in
the sequential KEDAK library

In the following 'test data' or 'standard data' mean in the case

of data without further names one pair of arguments and corres-
ponding values, and in the case of data with further names all pairs
of arguments and corresponding values belonging to one combination

of further names. Standard data are marked in the KEDAK library by 5
signs in the material name, the remaining 3 signs of the REAL#8 word
are set to blank, whereas the test data have a material name which is
identical with the corresponding standard name in the leading 5 signs
and the remaining 3 signs are set different from blank. Formally the
standard data and the test data are stored on KEDAK under different
material names, her connection however is given by the identical
five leading signs of the material name.

A modified form of the NDF-KEDAK reading routine provides the standard
data, if a test data material name is specified and no test data are
existing for the specified data type. In the case that test data are
existing for the specified data type,these test data are provided in
the concerning energy region, for all other energy points the standard
data are delivered.

1. Example: Arguments of the reading routine:
material name: 'Ub23SWCl'
data type name: &SGI o)

test data

standard data

— — — — —

i X ] 1 \
§ J 1 I _—

0.001 10 10 | 10 E[eV]




Eev]

E[eV]

5
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In this case the reading routine provides in the energy region
from 0.001 eV inclusive to lkeV exclusive the standard data,
from lkeV to 100 keV inclusive the test data and from 100 keV
exclusive to 10 MeV inclusive the standard data.

2. Example: Arguments of the reading routine:
material name: 'UbZBSSGZ'
data type name: QJSGIZ o)

test data

S
7

excited level D@e@l

standard data

o o - ——— - =

+

N
1 T >

excited level [ﬁe?l

In this case the reading routine provides standard data for the
first excited level, test data for the second and third level
and standard data for all following levels.

These technics show that the test data must cover a closed
energy region. Mostly the test data consider in separate energy
regions. The following program describes a possibility to fill
up the gaps between these test data with standard data so that
one energetic region occurs.
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Program: 01705

Input: a) Sequential form of the KEDAK library on the external
storage unit 3 (organization see 2.3.1.1).

b) Card input in the following form:
1. Card
MAT (1) Material name of the test data
MAT (2) Material name of the standard data
MM Number of data types to be filled up
(at most 10 and only one of them may
have further names)

For each data type to be filled up follows:

Card 2 to MM+I

TYP Name of the data type to be filled up
N Number of gaps to be filled up (at most 4)
K If the data type considered has further names:

number of further names,
otherwise number of arguments.

( (UE (NK,L) ,NK=1,K), (OE (NK,L) ,NK=1,K),L=1,N)
there means:
UE lower gap limit
OE wupper gap limit
UE < OE

The input cards 2 up to MM+l must be arranged so, that
the data types have an alphabetic order.

Output: a) Sequential form of the KEDAK library on the external
storage unit 4.

Paper output for each data type TYP of the material
MAT(1):

1. line

Material name in numerical form,

data type name in numerical form,

number of further names,

number of arguments,

number of functiomal values,

number of combinations of further names.
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The following lines are repeated for each combination
of further names.

2. line (only in the case of further names)
Further names of the combination

3. line

Number of data pairs.

4, line (in the case of further names line 4 is only
written if the combination considered was
inserted)

Arguments,
functional values.

If the number of the inserted arguments and functional values
belonging to these arguments is greater than 20000, the working
field in the program containing these data is written on the
external storage unit 15, and this field is filled again from
the beginning. Therefore a DD card for unit 15 is necessary,
for example:

//G.FT15F001 DD UNIT=SYSDA,SPACE=(1016,80),DCB=(RECFM=VBS,BLKSIZE=1016)

if the number of arguments and functional values is greater 20000
and less than or equal to 40000.
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2.4.2 Declaration of test data to standard data in the sequential
KEDAK library

This program has the task to declare the test data of one material
and different data types to standard data by replacing the standard
data in those energy regions where test data are existing. The test
data theirself are kept unchanged and may be deleted by the program
01751 or by the program succession 01717, 01750, 01701.

Program: 01708

Input: a) Sequential form of the KEDAK library on the external
storage unit 4 (organization see 2.3.1.1).

b) Card input in the following form:

MAT (1) Material names of the standard- and
of the test datain the succession of
MAT(2) )} their appearance in the KEDAK library.

IST 1: MAT(1) is the name of the standard material,
MAT(2) is the name of the test material.

2: MAT(1) is the name of the test material,
MAT(2) is the name of the standard material.

N Number of data types of the test material with
data which shall be declared to standard data
(at most 20).

(TYP(I),I=1,N) Names of the data types with data which
shall be declared to standard data.

(KOALT(I)I=1,N) Number of combinations of further
names in the standard material which will
be overwritten by combinations of the test data.

Output: a) Sequential form of the KEDAK library on the external
storage unit 19.

b) Paper output for each changed data type of the
standard material:

1. line

Name of the material in numerical form,
data type name in numerical form,

number of further names,

number of arguments,

number of functional values,

number of combinations of further names.

The following lines are repeated for each combination
of further names.
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2. line (only in the case of further names)

Further names of the combination.

3. line

Number of data pairs.

4. line (in the case of further names, the 4. line
will only be written if the respective
combination was taken from the test data

set)

Arguments,
functional values.

If the number of all arguments and functional values of all types
TYP(I) is greater than 20000, the working field in the program
containing these data is written on the external storage unit 20,
and this field is filled again from the beginning. Therefore a
DD card for unit 20 is necessary, see program 01705 (2.4.1).
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2.5 Special print output of the KEDAK library

2.5.1 Print out of selected sets of data of the sequential

KEDAK library

Program :
Input :

Output s

01703
a) Sequential KEDAK library on the external storage unit 2

(organization see 2.3.1.1)

b) Card input with the following contents:

N, (MAT (I), TYP (), I =1, N)

N : Number of isotope name/data type name combinations
to be printed

MAT : Name of the isotope in alphanumerical form (REAL 8)
TYP : Name of the data type in alphanumerical form (REAL #* 8)

Here the order of isotope names as specified in 2.3.1.2 and the
alphabetic order of the data type names has to be observed.

For each selected combination of names:

Name of the isotope,

name of the data type

(the following is repeated for each combination of further names,
if existing for the respective data type)

further names if existing,

number of data items,

arguments, } for the first data item and so on
functional values for all data items successively
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2.5.2 Print out of a list of contents of the direet access
KEDAK -library

Program : 01704

Input :  KEDAK library in direct access form (organization see 1)
on the external storage unit 18

Output : A list of the contents of the KEDAK library, i.e. a list of the
isotopes in the order as stored in the library and for each
isotope the available alphanumerical data type names in alpha-
betical order.
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2.6 Transfer of the KEDAK data by conversion of the library
from direct access into card image format and vice versa

2.6.1 Conversion of the standard data of the KEDAK library
from direct access form into card image format

Program: 01720

Input: KEDAK library in direct access form (organization see !.)
on the external storage unit 17

Qutput: The sets of data of all the isotopes in the KEDAK library
having names of a length less than or equal 5 characters
in card image format are written onto the external storage
unit 16.

Logical structure of the nuclear data file KEDAK in card image format

Basic ideas
A word means
a) an integer number with a maximum of 7 digits,

b) a floating point number of the form + X-]OY, where X is a mantissa
with 8 digits with 0.1 < X < 1.0 and Y the exponent of the base 10
with =50 < Y < 49,

A field means a number of one or more words, which are considered as
logically correlated.

A data set consists of three fields,

a) the name field with NN words, i.e. material names, data type names,
possible further names, e.g. the energy of an excited nuclear level,

b) the argument field with NA words,
¢) the value field with NN words containing the functional values

belonging to the arguments.

For microscopic neutron cross sections e.g. the name field contains
material and data type names, the argument field a neutron incident
energy, the value field the particular cross section belonging to
this energy.

A subgroup means the number of all data sets with equal material,
data and possible further names.

A group means the number of all data sets with equal material
and data names.

A file means the number of all groups contained in the nuclear
data file.

Formal contents of the data fields

Contents of the name field

Material name

Each material is characterized by a fixed point number of the structure

lezz3xAlA2A3
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where
212223 = atomic number,
AIA2A3 = atomic weight (mass number) as integer number,
X = one digit compound reference number for characteri-~

sation of a chemical compound.

If a material is a natural element, then A A A  is set equal to 000. The
compound reference number X is O for elementS and isotopes and # O, when
compounds of the material concerned with other materials have to be
treated separately.

Data type name

Each data type is characterized by a fixed point number of the structure

KGIG2G3S

where

K

G1G2G3

S = coordinate system.

data class,

[}

data group,

The class reference numbers correspond to those of the ENDF/B format,
the group reference numbers, in the case of equal data types, are taken
from the ENDF/B format; in the case of different data types they are
chosen in accordance with the ENDF/B-rules for the assignment of group
reference numbers (see BNL - 50066 (T - 467), ENDF 102, 1967).

K class

1 general information

2 resonance parameters

3 cross sections and other nuclear data
4 secondary angular distributions
5

secondary energy distributions

coordinate system

for the classes 1,2,3 and 5

1 laboratory system i}
i
2 center-of-mass system n class 4

Further names

If for the full characterization of a data type energy or other
specifications are necessary these are contained in the further
names as floating point numbers.
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Contents of the argument field

The argument field contains the arguments for the description of the
values of the respective nuclear data type as floating point numbers.

Contents of the functional value field

The functional value field contains the values belonging to the
respective arguments as floating point numbers.

Units of the data

All energies and data with the unit of an energy contained in the
nuclear data file are stored in eV, all cross sections in barn, all
differential cross sections in barn/sterad or barn/eV.

Structure of the information on tape

Records

"

The Karlsruhe nuclear data file KEDAK in "card-image" format contains

information in records of 80 characters.

Subdivision of the records

The information part of the records, i.e. the columns 1-72 contain the
data, the identification part, i.e. the columns 73-80, contains an
identification.

Structure of the information part

The information part contains a maximum of 6 words with respectively
max. 12 characters. The representation of the words corresponds to the
FORTRAN-field descriptors I 12 resp. E 12.6. An exception to these
format codes is the comment type AASTATUS which is written in format
(18A4).

Structure of the identification part

The identification part contains in the columns

73 - 74 the position at which the material appears in the description
of the material contents
or
0 in the description of the material contents

75 - 76 the position at which the data type appears in the material
dependent description of the data type contents
or
0 in the description of the data type contents

77 - 30 the record count for the subgroup starting with O.
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Contents of the records

Description of material contents

The description of the material contents contains in the
l. record tape number,

date,

number of the materials on the tape

2. and following material names
records

Description of data type contents

For each material the description of the data type contents contains
in the

1. record material name,
number of data types

2. and following data type names
records

Records for one group

Name records

For each data type and each material the name records contain

material name,
data type name,
number of further names,
number of arguments,
number of functional values
in the case of further names:
number of combinations of the further names
otherwise
0

Records with further names

If there are further names, the combination of the further names for
the respective subgroup is contained in one record.

Records with number of data sets

On this record the number of data sets of the respective subgroup
is given.
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Data records

The data records contain arguments and functional values of the
data sets. If several data sets fit into one record, arguments and
functional values are repeated as long as they fit completely into
one record, otherwise, if one data set needs continuation records,
each data set begins with a new record.

Be ND the number of arguments and functional values per data set.
Then the following numbers of data sets per record result:

ND = 2 3 data sets per record
ND = 3 2 data sets per record
4 < ND < 6 | data set per record
6 < ND < 12 2 records per data set

12 < ND < 18 3 records per data set
The data sets are ordered according to increasing arguments.

Order of the information on tape

The order of the information on tape is governed by the following
scheme:
Description of the material contents

for each material in the order of its appearance in the
description of the material contents

description of the data type contents

for each data type of the material
name record
in the case of further names

for each subgroup a record with the further names
record with the number of data sets

data records of the subgroups

otherwise

record with the number of data sets

data records of the group

Subdivision of the file into several tapes

When more than one tape is needed for storing the file, each tape
contains complete information for one or more materials with the
pertinent description of the material contents.
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2.6.2 Conversion of the sets of data of selected isotopes from
direct access form into card image format

Program: 01721

Input: a) KEDAK library in direct access form (organization see 1)
on the external storage unit 17

b) Card input with the following contents:
(NNM, (TMAT(I),I=1,NNM))

NNM : Number of isotopes the sets of data of which
should be converted into card image format

TMAT: Names of these isotopes in alphanumerical form
in the order given in 2.3.1.2.

Output: The sets of data of the isotopes specified in the input are
written in card image form on the external storage unit 16.
The output of program 01721 corresponds to the output of
program 01720 described in 2.6.1.
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2.6.3 Conversion of the KEDAK library from card image
format into direct access form

Program: 01722

Input: a) The KEDAK library in card image format (organization see 2.6.1)
on the external storage unit 21. If the card image library is
distributed on more than one magnetic tape, for each of these
tapes a separate DD-card is necessary on which the unit
numbers are continuously incremented by one starting with 21.

If for example the nuclear data are distributed on 3 magnetic
tapes:

//G.FT21FOO01 DD UNIT=TAPEY, WOL=SER=TAPE], ...
//G.FT22FO01 DD UNIT=AFF=FT21F0Q01, VOL=SER=TAPE2,...
//G.FT23FO01 DD UNIT=AFF=FT21FOO0O1, VOL=SER=TAPE3S,...

b) The card input consists of one record with the following contents:

'KEDA' 'BIBL' 'I¢TH' Constants which appear as word 1,2, 3 in

the declaration part of the direct access KEDAK
library (see 1)

NMAT

Number of isotopes available in the card image
library

IBND Number of magnetic tapes on which the card
image library is described

Output:

KEDAK library in direct access form as discussed in 1 on the ex-
ternal storage unit 1
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2.7 Input example

The direct access KEDAK library shall be modified and the new library shall
be converted into card image format

I/.INR017KEb JOB, (0017, 101, P6M1A), KRIEG, CLASS=A, REGION=270 K,
//.bTIME=15
//bEXEC FHG, LIB=NUSYS, NAME=KEMA

//G. FTO8FOO1 DD UNIT=SYSDA, SPACE=TRK, 10)

/{ G.FTO1FOO1 DD UNIT=2314, VOL=SER=NUSYSO, DSN=KNDF, DISP=SHR
// G. FT12FOO1 DD UNIT=SYSDA, SPACE=TRK, 300, RLSE),

" bDCB#RECFM=VBS, BLKSIZE=7168)

/lG. FTO9FOO1 DD UNIT=SYSDA, SPACE=(TRK, 20)

/1G. FTIOFOO1 DD UNIT=SYSDA, SPACE=TRK, 20)
//G.FT11FOO1 DD UNIT=SYSDA, SPACE=TRK, 20)

{/G. FTO2FOO1 DD UNIT=SYSDA, SPACE=TRK, 300, RLSE),
//bDCB=(RECFM=VBS, BLKSIZE=7168)

{/G. FT14FOO1 DD UNIT=2314, VOL=SER=NUSYSO, DSN=KEDAK,
//, DISPYNEW, KEEP), SPACE=(TRK, 300)

//G.FT17FOO1 DD UNIT=2314, VOL=REF=», FT14FOO1,
i bDSN= * . FT14F0O0O1, DISP=OLD

JIG.FT16FO0O1 DD UNIT=TAPEY, VOL=SER=901701, DSN=KERND,
/1, DISP=(, PASS), LABEL=(, SL),

{l bDCB=(RECFM=FB, LRECL=80, BLKSIZE=7200)

/% SETUP DEVICE=TAPEY9, ID=901701
// G.SYSIN DD~
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YDOZLENLY 2154031 15A TNLY O (314COC vIR ENLY O 04026009
YEY EALY DA34D00 1w ENLY 3744020 TROICEN4GY S4010
o TITNAT S4A01L 0 SNGY 204000 101 ATEN4Y 294043
UL OESENGY 294345 INT 9 ' 2B1156

73 FISrCT12

14587 F1SOT24 14867 ALSIT33 14600 APLNLTY  1457)

FRES R 21520 257 32183 9STNH 3 21840 3ISTCF 7 21557
ASCN 7 300923 254 133370 2S5I Y 3CN4s 3SA172 2 30059
FSC3N 50 3)17)  ASOGF 1 3169 3ISGIA 2 AT227 RSA[2AT 0 30210
TEGINAR 20253 3SHA 1 33270 FSGIP 3 30240 ASGANT D 35290
SCP R 31333 9SGD ¢ 31040 SS3H3 3 31053 ASGREID 21960
TSO2HES 31030 ASGT2 3 32215 3CTA Y 32040 RALORAT 32070
ANUF & 34520 INUFD ) 34550 ACHIF 3 34410 ACHITET 34420
PSGNC & 47022 ASGIL 0 43041 SHTIC 3 49042 2S6ILZ4 42051
ASONTIL A 47291 ASGNIC Y 43252 RUEGNLT 44631 ALFCACY 44637
TLFCICR 445642 TLESTILLY 44651  TLEGTCLZY 44652 HLGANTLY 444841
ACHIFTZR 544610 PCHIENZY 54625 3CHTT 3 80740 ACHIZNG 50160
PAASTATUS T 14510 'RAMGRESY 14511 'SGIZC ' 33251 ACHI3ND
ASENFE 4 54523 ASEDFOT 854613 ISFLRFNZ 54623 SFLINT 521812
FSEOING 85173 ASENICA  S3983  fCHITZIC ' 50310

1 Y

2PU23%) SGIZa) 2

81 JADDo 2 oNI o ‘'AASTATUS' 1 1
"DATA RE-EVALUATION IN COMPARISON WITH KFK 120 (1966)
'1970 :  SGG 1 MEV - 15 MEV,
! SGALP, SGP, SG2N  THRESHOLD - 15 MEV,
! SGT, SGN, SGI, MUEL 10 MEV - 15 MEV.

13 &ADDa) 2 NI o oJISOTIa) O 3 'ARG ' 58.69 28. O.

13 DADDo) 2 ONI @ oSGE & 1 1 4.266E6 0.0016
4,366E6 0.0015

11 2DROPSa) 2 &FE & o)SGT & 1 1.35E6 2.72E6 3.807E6

18 @ADD @ 3 &PU239& 2SCIZ & 57000. 1 1 2,9ES5

0.145 4.E5 0.175 5.E5 0.191
16 QADD o) 3 &PU2390) oSGIZ o
1.8E5 0.002 2.E5 0.004

5.5E5 0.197
164000, 1 1

5 ADROPAw) 1 'CL UNC'
2 4 ENDE o)
'KEDA' 'BIBL' 'IOTH' 72

1.7E5 0.001

20130832
aCT2000
0240020
0240054
€260057
02840240
04200093
D42 0096
920235
C340241

ACHIARA
SGT
ASCZN
#SGE2NA
AS GG
ASCALP
ML
PSGANL
SGICTY
2LECTL
ALOGNIC

-y
et

50179

35

B ) D) Wy L8

)

-
T
2

14567
30313
3C1A0
AT240
214629
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2.8 Literature Reference

/1/ D. Woll, KFK 880 (EANDC(E)-112"U") Dec. 1968
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2.9 Data types forseen on KEDAK




Name of data Name as Name of data

type in (1) type on in- Further Arguments Functional values
K G S ENDF/B? ternal KEDAK names
1 451 0 ¥y AASTATUS - 1 1 (4) bibliographic information giving data types
and energy regions of recent evaluations.
1 451 1 n RANGRES - - 1. EL -~ lower energy boundary of the region in
} which resolved resonance parameters
2. EU - upper are valid under data type " RES "

number of resolved resonances given by " RES "

flag which indicates whether resolved resonance
parameters should preferable be taken for group
constant calculations or pointwise given cross
section values. It may have the following values.

2. - cross section values should be
1. — resclved resonance parameters ~taken
0. - no preference can be recommended
1 Ls8 o n ISPT1 - - 1. Atomic (isotopic) weight (A) -
2. Atomic number (%7) I
3. Nuclear spin of ground state (I) P
— Atnm
1 459 o n IS¢T 2 - - 1. * VE =h/ v2m_ . T37P reduced neutron
wave length ,_[:eV 1/2b1§§ ]
2. R = nuclear radius ['b j
3. E_= binding energy of the last neutron in com-
pound nucleus
1 Lbo o n ISPT 3 - Isotopic weight - Isotopic abundance (%)
1 457 o n PLNUE - - 1. Vo
2 3
+
2. v, where Yo le+v2E +v3E
3. vy average total number of
b, v

3 fission neutrons



Name of data Name as Name of data

type in (1) type on in- i;;z:er Arguments Functional values
K G 8 ENDF/B? ternal KEDAK
1 k56 o n CHICR - I.Neutron inci- 1. ¢ Parameters of the Watt-Cranberg fission spectrum
dent energy 2 x(E) = c.exp(—aE)sinh(vbE)
’ / . -
3.p © Zav-;s exp(~b/4a)
The mean energy of fission neutrons is given by
2 152 o n RES - 1. Resonance energy 1. gJ=(2J+l)/(2(21+1))¥abundance E = 1 %+%~E) eV
a a
2. Neutron orbital 2. total half width T
angular momentum ; = o.tron half width T
(&) n
3. Compound nucleus 4. capture width I‘Y
spin (J) 5. fission width Ff
6. (n,p)-width Pp
7. (n,a)-width Fa ?
8. (n,n")-width Pn, &
2 15 30 n ST - 1. 2 1. average capture width T
2. J 2. average level spacing D
. pt 2
3. average reduced neutron w1ith r
- < 7>
4. strenght function S/ -——nJ
<p >
©a)g5Pg
5. number of exit channels in fission Ve
6. number of exit channels in neutron elastic
scattering (vn)lj
2 15k o n STD - - 1. average observed level spacing

2. a level density parameter

3. 2 02 spin cut-off parameter



Name of data Name as Name of data Further
type in (1) type on in- names Arguments Functional values
K G S ENDF/B? ternal KEDAK
2 155 o n STGF - 1. neutron in- 1. number of exit channels in fission Ve
cident energy —
2.1 2. average fission width T; for the number
of exit channels Ve
3.3 3. average capture width I;;
4, average neutron width r;
5. S
6. 8 statistical fluctuation
7. Rf factors(3)
8. R
v
3 ool ¥y SGT - neutron incident energy total cross section
3 o2 N SGN - " elastic scattering cross section H
. . i
3 003 v SGX - " non-elastic cross section “
3 ook v SGI - " total inelastic cross section
3 005 n SGIZ E. " inelastic cross section for excitation of rest
nucleus level Ei
3 005 n SGIZC - " inelastic scattering cross section to the continuum
3 016 v SG2N - " cross section for the (n,2n)-process
3 017 v SG3N - " cross section for the (n,3n)-process
3 019 v SGF - " fission cross section
3 o22 y SGIA - " cross section for the (n,n'a)-process
3 023 o y_ SGI3A - " 1" 1 " 1" (n’n|3u’)_ 1"
3 02)4 y SGENA - n 1" " " " (njgna)_ 1"
3 025 y SG3NA - " 1" " " " (n,3na)_ "




Name of data Name as Name of data

. . Further .
type in (1) type on 1n- names Arguments Functional values

K G S ENDF/B? ternal KEDAK

3 027 o v SGA - neutron incident energy absorption cross section

3 028 o N SGIP - " ¢éross section for the (n,n'p)-process

3 029 o v sGI2A _ n " " 1" " (n,n'Qct)— "

3 102 o v sae - " " 1" " n (n:Y) . "

3 103 o y_ SGP _ " 1" " 1" " <n,p) — n

3 1011. o y SGD — " 1 1" n " (n,d) —- "

3 ‘105 Ie) y SGH3 — " 1" 1" n 1" (n,H3) - "

3 106 o y_ SGHE3 — " . 1" " " 1" (n,He3)_ "

3 107 o y SGALP _ 1" " 1 " 1" (n,a) — n

3 108 o y SGQHE _ " 1" 1" n " (nﬂza) — 1" N

3 201 o n SGTR - " transport cross section z

3 206 o n ETA ‘ - " average number of fission neutrons per neutron
absorption

3 207 o n ALPHA - " ratio of capture to fission cross section

3 251 o v MUEL - " average cosine of the elastic scattering angle
the laboratory system
cos 6L= 159

3 452 o y NUE - " average number of fission neutrons

3 455 o n NUEP - " average number of prompt fission neutrons

3 461 o n CHIF neutron outgoing energy energy spectrum of prompt fission neutrons
(thermal fission)

3 62 o n CHIFD - " energy spectrum of delayed fission neutrons

(thermal fission)




Name of data-

Name as

Name of data

A S

. . . Further .
type n -y type on in- names Arguments Funetional values
K G 85 ENDF/B? ternal KEDAK
4 co2 1 n SGNL EO(2) cosine of scattering differential elastic scattering cross section at
angle the neutron incident energy EO in the laboratory
system
4 co2 2 n SGNC Eo(z) " differential elastic scattering cross section at
the neutron incident energy Eo in the center—-of-
mass system
L ool 1 n SGIL Eo " differential inelastic scattering cross section at
the neutron incident energy Eoin the laboratory
system
4 ook 2 n SGIC E " differential inelastic scattering cross section at
the neutron incident energy Eo in the center—-of-
mass system
4 005 1 n SGILZ 1.E, " differential inelastic scattering cross section for
2.EO excitation of the rest nucleus level E. at the neu-
tron incident energy'Eoin the laboratory system
L 005 2 n SGICY 1.Ei " differential inelasic cross section for excitation
5 of the rest nucleus level Ei at the neutron inciden
o energy EO in the center-of-mass system
4 029 1 n SGNIL 1.E, " differential cross section for elastic and inelastic
2.EO scattering at the neutron incident energy Eoto neu-
tron outgoing energles between EO and E2 in the la-
boratory system
b 029 2 n SGNIC 1.E2 " differential cross section for elastic and inelastic
2.Eo scattering at the neutron incident energy E to neu-
tron outgoing energies between EO and E2 in the
center-of-mass system
4 L63 1 n 1.E L coefficient f. in the Legendre-polynomial expansion

LEGNL

2.order L
m

of the differential elastic scattering cross section



Name of data Name as Name of data

type in (1) type on in- Furzzer Arguments Functional values
K G 8 ENDF/?" ternal KEDAK nat
o Lm
_n I (2L+1) £ (E) P (cos8)
°a®) 1= LD
in the laboratory system
L 463 2 n LEGNC 1. Eg L coefficent f. in the legendre-polynomial expansion of
2. order Lm the differen%ial elastic scattering cross section
L
o, m
on(e)=ﬁ;- T (2L+1) fL(E) PL(cose)
I=o
in the center~of-mass system
L ouelh 1 n LEGIL 1. Ej L coefficient £ in the Legendre-polynomial expansion
2. order L. of the differential inelastic scattering cross sec-
tion
i
g L in
) w
On,(e)— I T (2L+1) fL (E) PL(COSG) h
L=o
in the laboratory system
4 oLekh 2 n LEGIC 1. By L coefficient f’ in the Legendre-polynomial expansion
2. order Lm of the differential inelastic scattering cross sec-—
tion
L
Gl’l’ m 1
9,5(8)=Tr I (2L+1) £ (E) P (cos®)
L=0
in the center-of-mass system
I Les 1 n . LEGILZ 1. E; L coefficient f- in the Legendre-polynomial expansion
2. E of the differential inelastic cross section for ex-—

3. o%der Lm citation of the rest nucleus level Ei



Name of data Name as

Name of data

type in(1> type of in- Further Arguments Functional values
K G s ENDF/? ternal KEDAK names
5 Ei (6 ) = o) R Lm .
n’ —2— 3 (2L+1) £ (E) P. (cosd)
o Leo L L
in the laboratory system
L Les 2 n LEGICZ 1. B, L coefficient f'_ in the Legendre-polynomial expan-—
2. EO sion of the di%ferential inelastic cross section
3. order L for excitation of the rest nucleus level Ei
m
E. o} L .
g1 (8) = n’ m i
" o L (2L+1 ) £ (E) Py ( cos6)
L=o
in the center-of-mass system
L Lé6 1 n LGNIL 1. E2 L coefficient f;zin the Legendre-polynomial expan-—
2 Eo sion of the differential cross section for elas- o
3. order L. tic and inelastic scattering at the neutron in- A
cident energy EO to neutron cutgoing energies bet- o
ween E  and E
e} 2
02 L
o2 n+n’? m o2
O in (8) =41~E“;~*— T (2L+1) fL (E) PL (cos8)
I=o
in the laboratory system
L 466 2 n LGNIC 1. B, L coefficient £°2 in the Legendre-polynomial expan-
2. EO sion of the differential cross section for elas-

3. order L
m

tic and inelastic scattering at the neutron in-—
cident energy Eo and E2

02 _ o2 , L
On+n’ (6) = o _n+n’ g (2L+1) f](zg (E) P

(cos6)
boq L=o

L

in the center-of-mass system



Name of dats Name as Name of data Further
type in (1) type of in- names Arguments Functional values
K G S ENDF/ % ternal KEDAK
5 L6171 o n CHIFZ EO neutron outgoing energy spectrum of prompt fission neutrons at the
energy neutron incident energy Eo
5 462 o n CHIFDZ EO " energy spectrum of delayed fission neutrons at the
neutron incident energy Eo
5> 091 o y CHIIZC EO " energy spectrum of inelastically scattered neutrons
at the neutron incident energy Eo
5 vl6 o y CHI2N EO " 1.)2.) energy spectrum of the two neutrons emitted
in the (n,2n) process at the neutron incident
B
energy E_
5 017 o y CHI3N E_ " 1.)2.)3.) energy spectrum of the three neutrons

G6-11

emitted in the (n,3n) process at the neutron in-—
cident energy Eo




Name of data Name as Name of data
type in type of in- Further Arguments Functional values

K G 8 ENDF/?<1) ternal KEDAK names

parametric representation of energy spectra
at incident neutron energy EO

5 005 3 n SEDIC B of neutrons inelastically scattered to a conti-
nuum of levels

5 016 3 v SED2N " K-identification number of the two neutrons emitted by the {(n,2n)

for the model used for process
5 017 3 y SED3N " Gescription: of the three neutrons emitted by the (n,3n)
rocess
5 452 3 n SEDF " gf fission neutrons
5 461 3 n SEDFP " of prompt fission neutrons —
—
]
w
5 Le2 3 n SEDFD " of delayed fission neutrons o

3 functional values

K=1 Evaporation spectrum .
E'sexp(E'/9) 1. p — fraction of the spectrum of typeK

Xx(E') = — . to the total energy distribution
@2*Ll—exp(-E5u)!(l+ESulJ
2. 8 (nuclear temperature) - for K = 1,2
K=2 Maxwellian spectrum . a (spectrum parameter) - for K = 3
Y(E') = VE "sexp(-E/3) EC (le;el excitation - for K = Lk
: . p - ener
63/2* Pzr-'erf (»JE‘(’_)U - J-—f’f*exp(-%%] &y
- 3. U - upper limit for the - for K = 1,2
K=3 Watt-Cranberg spectrum final neutron energy
See formula for CHICR 05E’S By U

K=4 Excitation of discrete levels or b (spectrum parameter) - for K = 3
~, A2+] A _ or A& (atomic weight) - for K= 14

: = iE Y- d f

X(E) = 8[E™=032 Bo * e T EY




(1)

(2)
(3)

K always corresponds to the ENDF/B format. If also G corresponds to the ENDF/B format, then the second column

contains "yes", otherwise "no".

Eo for this and all pertinent further data types in the laboratory system. This is also true for E2.

a) Definition

For the calculation of average cross sections and related quantities in the energy region of unresolved
resonances one needs width fluctuation factors (Dresner factors). The following four Dresner factors are

stored on KEDAK
<T > Fnrf
Sp = Y , (1)
<rn><rf> v T
<T" > T
s = —% =), (2)
Y <T > T
n
<T_ > T er
Rf = Y n ’ (3)
<T >2«<T > T
n f
<T > T 2
R = Y L ()4)
Y <T >2 T
n

They should be understood as defined for a given level sequence (level spin J, parity ﬂ=(—1)2)but for
simplicity we omit the indices &, J. The average brackets denote averages over all resonances of the

(2, J) level sequence. This is equivalent to averaging over the partial-width distributions. Now the
statistical theory of resonance reactions tells us that the partial widths are distributed according

to x? distributions. Thus the probability that a randomly selected resonance has a partial width for the
(n,c) reaction between Pc and Fc+ch is given by

LS-1I1




pchC = F(vc/2) e X, dxc (5)
v T
with 0<x =% — ¢= (6)
¢ 2 <Fc>

(¢c=n,f,v,... for elastic scattering, fission, capture, ...).

Here T'(v _/2)is the gamma function and v_ the number of contributing R-matrix reaction channels (v =1:
Porter- “Thomas distribution, v =2: expgnential distribution etc.). For the radiation width T_ oné takes
vY=w, i.e. a §-distribution, TYC= <TY>. Y

b) Calculation

Egs. (1)-(4) show that one must calculate multi-dimensional integrals of the type

1]
rcm rc,’“ o ™ o I m r,"
=/f4ar,p, / 4T p, ... [ dT,p. ———— (7)
11 22 ¢ e
r o o o r

with é
r= 1] r, (8)

c=1

Inserting (5), (6) and defining

2 c
a T — (9)
¢ v T

c Y

(i.e. ax =T /T, a x = 1) one obtains
ce ey Yy

86-11



m m v1/2~1 X, v2/2—1 —X,
Fc Fc' mm— 1 © dx1x1 e L dx2x2 e
= FY s 7 . e .
r 0 (v, /2) o r(v,/2)
1 2
v,./2-1 -x, m m'
é
@ dx,.Xx, e (a. x ) (a ,x ,)
R ce c'"e
o r(v./2) a 4 X
é Z' c ” fo "

C

(10)

Following Dresner (Ref. 1) one can reduce this multi-dimensional integral to a one-dimensional integral

by using the identity.

! = ! = [ ds exp [}(1+ z a x )é]
za x 1+Z a x o c#y ¢c
ce c’e
c c#y

Interchanging the order of integrations one finds

1
<I'_> rr ™
Y c ¢ -
: =
<T >m<r '>m r
c c
\Y)

A% 1
I(—==+m) I(—— +m') .
= 2 2 fds e 2(1+a s) ™(1+a_,s) " m (1+a_, s)
v By v m’ v ° © ¢ c''#y ©
c c c! c!
(j;) F(Z?) (—5-) Pﬂ“g“)

! -m -m'
= " " / du (T—acln u) (1—ac,ln u) M(u)
)

(11)

Vo on /2
¢ (12)
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where —vc/2
M(u) = 1 (1-a In u)
c
c#Y

depends on u and on the a_ (for c#y). The form (13), obtained from (12) by substitution of s =
finite integration limits and is thus more convenient for numeric integration.

Ref. 1 L.Dresner, Report TID-7547T (1957), p. T1
cf. also J. E. Lynn, Neutron Resonance Reactions, Oxford 1968, p. 230

The data items of AASTATUS are only formally divided into argument and functional value. They
contain the indicated text in successive order.

-In u, has

09-11
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2.10 Overlay structure

NOVERLAY KNDF
INSERT DRUFF, ALDHA, ALPHAT, ACTEST, NNNRY, FREETN
NVERLAY KNDF

TNSERYT PIYILT717,0RNTYP
DVERLAY KNNDF

INSERT POITHDyKIIAT g KEDAK ZPRINT
OVEFRLAY KNDOF

INSERT P217C7
CVERLAY KMDF

INSFRT FO1T701
NIVERL AY KNDF

INSERT P1T72D
OVERLAY KANDF

INSERT PO17C4
OVERLAY KND

INSERT PO170S
CVERLAY KNDF

INSERPT PO1709
CVFRLAY KNDF

TNSERT P2V 721
OVERLAY KNDF

INSERT PD1722
NVER|I AY KNDF

INSFRT PD1751
OVERLAY KNOF

INSERT PALT723,FLIM
ENTRY MAIN
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2.11 List of KEMA




L%

19

11

12

13

14

o= e

REAL®S MATNA(2DD3}, VYPN(100)

DIMENSION NFOLG(20),4(2001),NUNA(200),MUTY(100])

Ly MAT(40D),TYP(20D)

COMMON MATMA, TYPN,NIUNAGNUTY ¢NIM, NZIT, NOUT ¢NF
EQUIVALENCE (MAT (1) MATNA{L) ), (TYP{1),TYPN(L})

NINP =5
NOUT =6
NF=3

CALL FREFFDI (NINP,NF,NCUT,A,A,A)
CALL PRJEF (NFOLGyMATNAZNUNA,TYPN,NUTY NF,NMOUT)

RFAD (NF) T,INFNDLGLJ) ,Jd=1,1)

READ (NF) NIZIMy {MATNALJI )}y NUNALS I, J=1,NIM)
READ (NF) NIT,(TYPN{J) ,NUTY(J),J=1,NLT)

CALL FSPIE

ne 1 Js=t,I
IFINFILGLI) EDQ.OLTLT)
IF(NFILG(J).EQ.0L750)
IFINFOLS (). EQ.01703)
IFINFOLG{J).EQ.0LT01)
IFINFALG(J ). EQ.OLT2)
IFINFOLGLY) A ER.OLTO4)
TF(NFOLG{J) . EQ,01705)
[F(NFOLS (J).EQ.01703)
IF(NFOLG{1).F2.01721)
TF{NFOL3 (J).FR.01722)
TFINFOLG(J).EQ.01751)
IFINFOLG{J) . EQ.O1723)
TF(NFOLG(J).NF. D) GO
6o TN 7

CALL POLTLY

GO TN 1

CALL 01750

G0 T01

CALL PO1793

GO TN 1

CALL PD1731 (MAT,TYP)
GO-TO 1

CALL PQOL720 (MAT,TYP)
GN TO L

CALL POL 7D%

GO T 1

CALL PO1705

60 10 1

CALL PO1708

GO TO 1

CALL PO1T721(MATNAY}

GO TO 1

CALL POLT22

GC TR 1

CALL PA1751

G0 1O 1

CALL PD1723
CONTINUE

Gn

GO

GO

GO

GO
T0 6

WRITE (NDUYT,8) NFILG(JS)
FORMAT{* DAS PROGRAMM® ,I10,°

T0
T
TO
i)
0
TO

IST NICHT VORGESEHENT'}

10

29

30

40

50

60

79

80

90
100
110
120
130
140
150
160
170
180
190
200
210
229
230
240
250
260
270
280
290
300
310
329
330
340
350
360
373
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550

OO0

[aNeRalal

T STAP
END

SURROUTINE FSPIE
FSPIF IS A SPECTAL FRROR-DETECTING SUBKDUT INE 4WHICH IN CASE
OF AN ABNIRMAL FND DETERMINS THE PSW  AND PRINTS THIS PSW +
A TRACE-BACK + THE REGISTER CONTENYS + THE SYSTFM COMPLETION

CIDE.. FJ?  FSPIE IS INSTALATINN DEPENDENT ITS CODF IS NOT
DISTRIRUTED HERE

RETURN

END

SUBRNUTINE ZETTINDTUM)

LOGICAL*1 FF,FD

INTEGERR? VIL0D}/'D " 401 ",12 7,83 ¥, 04 v,15 V,06 1,17 1,13 1,19 1/

1,vv/' '/

REAL®3 DAT,TIME

DIMENSTON FD(8}

EQUIVALENCE (DAT,FD{1)),(VV,FF)

CALL DATUM{DAT,TIME)

NDTUM=0

Dg 1002 J=1,8

IF(JeFQ.3.0R,.J.FQ.6) GO TO 1002

FF=FN{J)

pC 1003 I=1,19

IF{VV.EQ VT
1000 CONTINUE
1001 NDTUM=NDTUM%]10+I-1
1002 CONT INUE

RETURN

END

GO TO 1001

ROUYTINE FOR PRONUCING AN UNFORMATTED INPUT-FILE

SURRNUTINE FREEFD ( INPyNFI4NFD,LFF,yNF)

DIMENSTION LE(L) yFLL)oNFIL),J2(2)

REAL*8 NB8y,NVB/5HNUFIN/, VC

LOGICAL¥1 JF({B),JX(2})

INTEGER*2 NFE{B0),LVI18),JY(4) LLyIJKFF,STERN/2H* /

EQUIVALENCE (JZ{1},JF(1),JY(1},N8),{LL,IX(1))

DATA LVIL)/IH /4yLVI2)/LHO/yLVI3) /1HL/ yLVU4 )}/ 1H2/4,LV(5)/1H3/,
LLVIG)/ ITHA/ G LVIT)I/LIHS/ LV 8B)Y /1467 5 LVI9) /IHT/ 4 LVI10}/1H3/,
ZLVILLYZLHI/ s LVIL12)/ 1H/ yLVI13)/1H+/ 3 LV(14)/1H=/LVI15)/1H./y
3LVOIA)/IHE /4 LVI LTI/ IH/ 4LV L8) /LH' /o LE/4HHEXA/ o LFO/4HFORM/

560
573

10
20
30
40
50
60
10
80

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
160
170
180
190

10
20
30
40
50
60
70
80
90
100
110
120
130
140

£9-1X



OO (e NeNe!

O

911l

OO0

33

200

201

[aRe]

44 LSPE/AHSPEC /3 LND /4 HNORM/

1Y=80
GOTO 9111

ENTRY FRFFE72 (INP,NFI,NFO,LF,F,NF)
1Y=72

v=l.
Mv=1

LPP=0
NF(1)=)

L Su=0

LS=0

LP=0

NS=0

LO=0

N=0

LL=LV(1) /254
KSPNO=0
KOUT=0

TFINF(1) 4EQ.LFE} GNT 2
TFINFIL1).EQ.LFD) GOTO 2
60TN 201

KOUT =1

GOTO 12

JZIL¥=NF(L)

JI(2)=NF(2)

TFENB.FR.NVE) GOTI 200

READ (INP,14END=229,ERR=3) (NFE{I},I=1,89)
FORMAT(80AL)

GC 11 4

IF(NFI)203,203,202

ENNFILE NFI

REWIND NFI

RETURN

WRITE (NF3,5)

FORMAT(1H2/48H FRROR-CONDITION IN DATA TRANSFFR OR INPUT-ERROR)
STOP

IF (IY.EQ.8D) GOTOD 6667

JKFE=NFF{T73)

NFF{T73)}=STERN

WRITE (NF0,6) (NFE(I1),1=1,80}

FORMAT (1X,830A1)

IF (TY.EQ.80) GOTY 6663

NFE{T3)=JKFE

150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690

C

o

[z EeXgl

6668

590

501

12
144

111
145

13

15

11

10
16

97

20

21
30
31

32
40

47

TF(NF{1).EQ,LNO) GOTO 509
TEINFUL) LEQ.LSPE) 5070 501

GOTO 502

KSPND=0

GOTN 11

KSPNO=1

GOTO 11
TFINFRE(L).EQ.LVIL))
IF(N}11,11,12
TFINFI)L3,13, 144
TF(KSPNM)145,14%5,14

5370 10

WRITE (NFI) Ny (NFLI),I=1,N)

IFIKOUT)ILL,1142

WRITE {NFI} (NF(I},I=1,N)

GOTN 111
NS=NS+1
LF(NS)=N

N1 =NS +1
N2=MS+N

N=0

DG 15 T=Nl,N2
N=N+1
LF{T)I=NF(N)
NS=N2

GOTN 111
N=0

J=0

GO TO 16
J=1

J=J+1

nNo 20 K=1,18
TFINFE(J).EQLVIK))
CCNTINUE

GO TN 3

ITF(K=-1132,30,422
IF{LS)31,31,32
TF(J=-1Y)16,33,33

IF(LPP)40,40,41
N=N+1

NFE(N) =LS1J*MY
LSuU=0

LS=0

LO=0

My=1

V=l.

G 10 21

700
710
720
730
740
750
760
770
780
790
800
810
820
830
340
350
860
370
880
890
200
910
920
930
340
950
960
370
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
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faNalel

[aReXel

leBaEel

OO

41
43
44

46
45

22
50

52
511
883

51

23
60
61

63
&2
64

65

24
70
71

73
72

G0TD 31

M=LP-LS

IF{t $S-9)42,43,43
LSU=LSUR

TF{M) 44,454 46
1F{TB+M) 3, 3, 45
IF(T5-413,3,45

N=N+1

vVe=V
FIN}=DFLOATLLSUYRVE %10, %%M
LP=0 ’
LPP="1

G0 T 47

[F{K-11)50,50423
LS=LS+1
LSU=10*LSU+K-2
IF{LS-9)51L,52,511
LSUR=LSU
IF{LPP}S1,51,883
LC=-1

J=J+1
TF(J-1Y)884,884,32
IF()-1Y}16,32,32

[FIK-14)60,60,24
TF(LO)6L46143

LO=1

IF{K~14)62463,63

V=-1.

My =-1

TF(J-TY)64,3,3

J=J+1

DG 65 K=2,11
TFINFELJ).EQ.LVIK)) G TO 59
CUNT INUE
IFINFE(J).EQ.LVIIS) Y GO TO 70O
Go T 3

IF(K=15)T77,70,25
IF(LP)TI,71,3
LP=LS

LpPP=1
IFGJ-1Y)72,73,73
1F(LS)3,3,41
J=J+1

1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1170
1780
1790

74

884

Iz EnNel

25

81

82

832

84
83
86
85

387

B9
88

90

[aEeXe]

26

300

301

117
116

100
110

DO T4 K=2,11
TF(NFE(J}.EQ.LVIK)) GI TO 50
CONTINUE

IFINFE(J).FQaLVIL)) GO TO 73
IFINFE{J)I.EQ.LVI16)) 6N T2 81
LC=0

LA=0

Lvli=1

LP1=0

IF(J~1Y1882,882,3

IF(K-16)83,80,26
IF(LPP}3,3,81

LA=0

LC=1

Lvi=1

tP1=0

IF(J-1Y182,3,3

J=Jd+1

IFINFE(J}.EQ.LVI1)) GO TO 83
IFINFE(J).EQ.LV(12)) GO TO 83
IF(NFE(J).FQ.LV(13)) GO TO 83
TFINFE(J).EQ.LV{14}) GO TO 34
IF({LC)I97 43,85

Lvi==-1

IF(J-1Y)186,3,3

J=J+1

DN 87 K=2,11

IFINFE(J).EQ. LVIK}) GO TGO B8
CONT INUE

TFINFE(J).EQ.LVIL)) GO TO 89
GD TO 3

IF(LA)3,3,90

LAa=1

LP1=10#LP1+K-2
IF(J-1Y186,90,90
LP=LP+LPI%LV]

GO TO 41

IF(K-17)300,300,30L
M=5

K7=17

G0 T0 117

M=4

K7=18

LC=0

LA=0

DO 100 L=1,4
JY(L)=LV (1}

J=J+1
TF{J-1¥}101,102,102

1300
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1959
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
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e KRl

132

120
121
191

106
107

434

105

TFINFF{J).EQ. LVIKT) )
LC=0

GCTD 121

J=J-1

IF(LC)33,3,112
IFINFE(J)FQ.LVIKT))
G0 10 107
IF{LC)I105,3,102
tA=LA+ 1

L.C=1

LL=NFF (4}
JF(LAY=JX(1)
TE(LA-M)110,112,112
N=N+ 1

NF (N)=JZ(1)
TFIK-17)433,433,434
N=N+1

NF (N)=J2(2)

LC=-1
TFINFE(LJ+1)EQ.LVIKT))
GOTO 116
IFINFE(J+1)EQ.LVIL))
G0 70 3

END

GOTN 120

GN Y0 176

GOTH 110

GOTQ 16

PRUFFING NER GESAMTEN EINGABE FUER DAS PROGRAMMSYSTEM KFEMA
SUBRNUTINE PRUFF (NFOLGyMATNA,NINA,TYPN, NUTY, NF,NOUT}
REAL® 8 NNLT( 2}/ FTOLFOOL* 4 *FT12F00L*/,
nnD50{6)/*FTO9F301°, "FTI0F00LY, 'FTL1FOOL*,"FTO2FOO0L ",
'FT12FQOL® ,*FT13FOO0L1*/,
DNO3(1YV/TFTO2FO0L/,
DDIL{2)/*FTI2FIOLY,*FT14F001Y/,
D200 2} /*FT1TFOOL, *FTL6FO0L"/,
DN04(1)/FFT18F001%/,
NN0S{3) /*FTO3F00L? ,*FTO4FOOLY, *FTL5F00L"/,
DNOB( 3} /TFTO4FI01, "FTLI9FO00L*, *FT20FQ01"/,
NN22(2)/*FTILFX0LY, *FT21F001"/
NOSL1(2)/*FTOLFOOL", "FT13FQ0L"/,
NN23(2)/*FTO2F001'y *FT12F0O0L"*/
REAL*8 MAT(4T7) /*NI PLYNT B8, YNT 60F, NI 61T, TNT 52, 'NT 647,
1'0 16%, 'y 235°%,°AL 27*','C 12','CD "4 ICR "oICR 50%,'CR 52',
2YCR 53, 1CR 54°,FE YW UFFE S54%,7FE S56°,'FE S5T','FE 53", 'H 2%,
3tH O HIY, 'H 01, *HE 3, 'HE 4','MO TLTMN 927, MN 94, " MO 357,
GUMD 6%, VMO 9T, TMOD 981, 'MOLND Y, IN Yy "NA 237,'PU239','U 238',
5'H 1','CL YLTCL 35°%,%CL 37%,'U 238INL*','U 238IN2*,
61PII24D%, TPU242%, "PU241 /4 MS
60230} yMTS(L00),MAD({200) ,MTD{L0D},MAA(20D),MTAL100)
REAL*3 MATNA({200),TYPN{100),IK0(20), [LAD/*ALD t/,IDS/*NROPS'/,
LRA(2),ITD(20) ALL/" ALY */
DIMENSION NFOLG(20) yNUNA(202),NUTY(100),1ZKO{20),FELD(2000),IFELD
12000), EN{LO) s ARGA(LO),RI(4) , TEXTI3),UE(B,14,10),0E(Bs4,10)

D> OO NDINH N

2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
25790
2580

10
20
ED)
40
50
60
70
80
90
160
110
120
130
140
150
140
170
180
190
200
210
220
230
240
250
260
270

[ NeNe)

[sEalal

33

2

1

4

3

5

84

2yKOALT(20)
3, ARGAD(IO}, ARGAS(1D),EA(10),ES(10)
44 SAL2)

DATA NM/ 4T/ TEXT/'KEDAY 4 *3IBLY,"IOTH/
1,SA/TAASTY P ATYS/

EQUIVALENCE (FFID(L1),IKO(1)}, [(FELDI(BL) ,TZKO(L)), (FELD(L),TFELD(
11311, (RACLINRE(LD) W {FELD(L)yUE(Ly 1y 1) ), (FELD{S500),0E(1,1,1))

Ly (FELD(4L) o ITO(LY) » (FELD(L) 4KOBALT(L))

WRITF(NJUT,83)

FORMAT(1HL/" EINGABEPRUEFUNG?!)

LESEN NDER EINGABE DES STEUFRPROGRAMMS

READINF) I,(NFOLG(J),J=1,1)

TF{T.LE.22) GO TO 1

WRITE (NDUT,2) I

FORMAT {(* ES IST NUR DER AUFRUF VON 20 ARBEITSPROGRAMMEN ERLAUBT HI
1ER WURDEN',I5," VERSHCHTY)

STOPS

READ {NF) NZM, (MATNALJ) JNUNALI ), I=1,NZM)

IFIN7M.LE.200) GO TO 3

WRITE (NOUT,4) NZM

FORMAT (' DIF ANZAHL DER MATERTALNAMEN IN DER JUCRDMNUNGSTABELLE I5T
1 AUF 200 BEGRFENIT , HIER WURDF EIN VERSUCH MIT?,I[5,°% MATERIALIESN G
2EMACHTY)

STOPS

READ (NF) NZIT,(TYPN(J)4NUTY{S),d=1,NZT)

IF(NZT.LF.100) GO TO 5

WRITE {NDUT,6) NIT

FORMAT (' DIE ANZAHL DER TYPNAMEN
1100 BEGRENZYT , HIFR WURDE EIN VERSUCH MIT®,15,°
STAOPS

WRITE (NOUT,63)

FORMAT (' DIF EINGABE FUER DAS STEUERPRNGRAMM WURDE GEPRUEFT')
I=1-1

DO T Jd=1,1

IF(NFOLG(J).FQ.OL71T) GO TO 8

TFINFOLG(J).EQ.OL750) GO TN 9

TR{NFOLG(J).EQ.01703) GO TO 10

IFINFOLG(J).FQ.OLTIY) GO TD 11

TFINFOLG(J)4ER.OLT720) GO TO 12

IF(NFOLG(J).EQ.D1704) GO TD 13

[FINFOLG(J).EQ.O01705) GO TO 14

IF{NFOLG(J).EQ.01708) GO T2 15

IN DER ZUORDNUNGSTABELLE IST AUF
TYPEN GEMACHT ')

IFINFOLG(J).EQ.0L1T21) GD TO 130
TFINFOLG{J).FQ.0L722) GO TN 132
TF(NFOLG(J).EQ.01751) GO TO 141
IFINFOLG(J}.EQ.01723) GO 7O 200

WRITE {NOUT,84) NFILG(J}
FORMAT{' DIF FOLGENUMMER' ,18,°
1RGESEHENT)

STOPS

IST IM PROGRAMMSYSTEM KEMA NICHT VO

PRUEFUNG DFR EINGABE FUER DAS PROGRAMM 01717

280
290
300
310
320
330
340
350
360
370
380
391
400
410
420
430
440
450
460
472
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
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[aXaNe!

17

16

19

18

21

20

22

159
25

151
152

24

46

244

N=2

ICON=1

CALL DDTEST (N,DDLT7,ICON,NST)

WRITF {NOUT,62)

FORMATI® DIE EINGABE FUER DAS PROGRAMM (01717 WURDE GEPRUFFT')
GC YO 7

PRUEFING NDER EINGABE FUER DAS PROGRAMM 21750

READ (INF) TAU,IBA,NNKO

LN=5

117=1

IF((TAU.EN.0) o DR {TAULEQeL)) GN TN 16

WRITE (NOUT,17) .

FCRMAT (' PRNGRAMM 31753 : TAU IST NICHT O NODER 1 GESETZT')
STOPS

TF({IBALEG.O)«DRLITIBALEQLL)) 50 TO 18

WRITE (NDOUT,19)

FARMAT (* PRIGRAMM 01750 : IBA IST NICHT O NDOFR 1 GFSFTITY)
STAPS

TEINNKDLLE.20) GO YO 20

WRITE (NOUT,21) NNKDO

FORMAT (' PRNGRAMM 21750 : NNKN=',15," MAXIMAL ZULAFSSIG IST 20%)
STOPS

IFINNKOLEQ.D) GO T3 22

READ (NF) (IKOU{L),ITOUL),IZKO(L) yL=1,NNKD)

CALL ALPHA (NNKD, IKOyNMyMAT,NOUT}

IF(TAU.EQ.O) NF=13

LMTA=0

LMTD=9

LMTS=0

KS=0

Kii=9

READ (NF) NLl{FELDIL)yL=1yN)

TF{N.FQ.2) GO TN 54

IFIN.LE.2000) 6O TO 24

GC YO (150,151),117

WRITE {NOUT,25) N, {FELDI{L),L=1,7)

FORMAT(* PROGRAMM 01753 : N GROESSER 2000 IN DEM SATZ',]6,A5,4A1,
113,A5,41,A5,A1)

STOPS

WRITE(NOUT, 1521 No(FELDIL)sL=1:7)

FCRMAT (' PRDGRAMM 11751 : N GROESSER 2700 IN DEM SATZI',16,A5,A1,
113,A5,A1,A5,A1)

STOPS

NN=TFELD (3)

DO 46 L=1,4

RE(L)=FELDI(L+3)

TFIRI(3).EQJLSALL)ANDLRI(4).ENLSA(2)) GO T 47
IF(NN.LE.2) GO 7D 26

1F{KS.EQ.0) GO 70 590

[FOCIKDTL)Y  EQ.IAD)}LANDJ(LMTA.GT,.O0)) GO TN 51

IFILIKO(L) o FQaINS)ANDL (LMTS.GTLO)) GO TN 52
TF(IKO(1)}.EQ.IDR.AND.LMTD.GT.0) GO TO 244

GO0 YO 50

TF{RA{1) NS, MAA{LMTD)) GO TO 50

330
240
850
B6Q
370
880
890
3090
910
920
930
940
950
960
970
980
990
1000
1010
1920
1030
1040
1050
1060
1270
1080
1090
1100
1110
1120
1130
1140
1150
1160
1179
1180
1190
1200
1210
1220
1230
1240
1250
1260
1279
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380

243

51

136

52

137
53

153
49

1

IF{RA(2) NELMTA(LMT))
DO 243 L=3,NN
EN(L-2)=EDA{L~-2)

GO TO 53

TFIRALL) NELMAD(LMTAY)
TFARA{2) JNE.MTD(LMTA))
DO 136 L=3,NN
ENIL-2)=EA(L-2)

GQ TO 53

TF{RA(L} LNELMSILMTS))
TF(RA(2) NE.MTS{LMTS))
DO 137 L=3,NN
EN{L=-2)=ES(L-2)

N0 48 L=3,NN

IFCFELDIL45).6TLEN(L-2)) GO T2 S0
IF(FELD(L+5).EQ.EN(L-2}) GO T3 48

GO TO (153,154),117

WRITE (NOUT,49) N, {FELD(K),K=1,7)
FORMAT(* PROGRAMM D1750 : FUER DEN SATZ'y169A5,A1,13,A5,A1,A5,A1,
SIND JIE WEITEREN NAMEN NICHT IN AUFSTEIGENDER REIMENFOLGE ANGEN

2REONETY)

STOP S

GO T3 50

GO TO 237
GO YO 237

GO 7O 238
GO Tn 233

154 WRITE(NJUT,155INy(FFELD(K),X=1,7)

155

FORMAT(* PROGRAMM 01751 : FUFR DEN SATZ',16,A5,41,13,A5,A1,A5,A1,
1' SIND DIE WEITEREN NAMEN NICHT IN AUFSTEIGENNER REIHENFOLGE ANGEOD

2RDNET? )

48
50

242
239

2317
240

238
241
26

28

126

37

128

127

STOPS

CONT INUE
IF{IKO(1).EQ.TIAD) GO
IF{IKO(1).EQ.IDS) 6D
DO 239 L=3,NN
EDA(L-2)=FELD{L+5)

GO Y0 26

DC 240 L=3,NN
EA(L-2)=FELD(L +5)

GO TO 26

DO 241 L=3,NN
ES(L-2)=FELD(L+5)
NWERT=0

TO 237
T0 238

TF{IKO(1} LEQ.IAD) GO TO 28
IF(IKO(1) .EQ.IDS) GO TO 37

GO TO 33
NWERT=IFELD(NN+T)

TF{NWERT.GE, 1. AND . NWERT.LE.20)

WRITE (NOUT, 126) N, {FELD(L)sL=1,T7)
FORMAT(' DIE ANZAHL DER WERTE LIEGT NICHT ZWISCHEN 1 UND 20 IN DEM
1 SATZ',16485,A1,13,A5,A1,A5,A1)

STOPS
NARG=IFELD{NN+6)

IF(NARG.GE.O0.AND.NARG.LE.10) GD TO 127

WRITE (NOUT,128) NG (FELDIL),L=1,T)

FORMAT{* DIE ANZAHL DER ARGUMENTE LIEGT NICHT ZWISCHEN O UND 17 IN
1 DEM SATI',164A54A1,13,A5,A1,A5,A1)

STOPS
IF{NARG.EQ.D) NARG=1

IF{IKO(1).EQ.IDS} NN=NN-1

1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
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156
30

NW={N-NN-T)}/{NARG+NWERT}

TEINWE {NARGHENWERT I #NN+T-N.FQ.2} 63 T3 29
GD TN (1564,E57),117

WRITE (NOUT»30) No(FELD(L)sL=1,T)

FORMAT(®* PROGRAMM 01750 : IN NEM SATZ®,16,A5,A1,13,A5,AL,A5,41,

I* IST EIN ARGUMENTZ - WERTE - PAAR NICHT VOLLSTAENDIG®)

STOPS

157 WRITE(NDUT,LS8IN(FELDLL) sL=1,7)

158

29
32

113

139
106

125

236
116
140
108

36

138
107
159

34

FORMAT (* PROGRAMM 01751

IN DEM SATZ 4 I16,A5,A1,13,A5,A1,A5,41,

1°* IST FIN ARGUMENTE — WERTFE = PAAR NICHT VOLLSTAENDIGY)

SToPs
NGO 32 L=1,NARG
ARGA(L )=FELD(NN+L+7)

IFCIKO(11.ED-TANDLANDLLMTA.GT.0) GO TO 105
IF(IKDI1) . EQ. IDSANDLMTS.GT.0) GO TO 111

GO TO 36

ITF{RA{L) .NE.MS(LMTS})
ITFI{RAL2) SNE.MTSILMTS)H)
NX=NN+1

IFINX.LE.2) GO TO 112
DD 113 L=3,NX
TFLEN{L-2) . NELES(L-2))
CONTINUE

GO TO 112

DO 106 L=1,NARG
IFTARGADIL YL TLARGA(L })
IF(ARGAD{L} « EQ. ARGAIL )
tJd=1

GC TO 127

CONT INUE

GO T4g 139
TF{RAU1L) o« NEo MAD(LMTA) )
TFIRALZ) NEMTDILMTA})
[F{NN.LF 2} GO TN 116
DO 117 L=3,NN
IF{EN(L-2} . ME.EA(L-2})
CONTINUE

GO 70 116

IFINN.LEL.2) GO T 36
DO 108 L=1,NARG
IF(ARGASIL) «LTARGA(L})
IF{ARGASILY . EQ. ARGA (L)}
LJ=2

G0 79 1237

CONTINUE

GO TO 140

IF(NW.EQ.1} GO TO 31
NN=NN+NARS +¥WERT

DO 33 L=1,NARG

GO TO 36

G0 TO 36

GO TO 36

GO TN 36

GO T0 106

G0 TO 36
GO T0 36

Gl T0 36

GO T2 36

GO TO 108

TFIARGALL) ,LTLFELDINN+L4T}} GO TO 90
IF{ARGA{L}.EQ.FFLDINN+L+7}) G2 TO 33

LJ=3
GO TO (159,160}),117

WRITE (NOUT¢»34) Ny (FELD{M)sM=1,7}

FORMAT({* PROGRAMM 01750
1* SIND DIE ARGUMENTES)

IN DEM SATZ®,16,A5,41,13,A5,A1,A5,41,

1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500

oo

(e Xea)

GO TO {129,121,122),LJ

160 WRITE(NIUT, LOLING(FELD(M) yM=1,7)

161

120

121

122

35

123

39

33

90
40

31

109

42

41
110

44

38

45

43

FORMAT (* PROGRAMM J1751 :
1t SIND DIE ARGUMENTE?)

IN DFY SATZ%,16,85,A1,1%,A5,81,A5541,

GO ¥0 (120,121,122)+LJ

WRITE (NOUT,35) (ARGAD{M),M=1,NARG)
WRITE (NDUT,35) (ARGA {M),M=1,NARG)
GO TD 123

WRITE (NOUT,35) (ARGAS{M) ,M=1,NARG)
WRITE (NDJT,35) (ARGA (M),M=1,NARG)
GO 70 123

WRITE (N2UT,35) (ARGA(M) M=1,NARG]}
FORMAT{BEL6.8)

WRITE (NDUT,35) (FELD{NN&+M+T) ,M=1y NARG)
WRITE (NOUT,39)

FORMAT (' NICHT IN AUFSTEIGENDER REIHMENFOLGE
KLI=1

GO TO 93

CONTINUE

GO 70 138

DO 40 L=1,NARG

ARGA(L J=FELO(NN+L+T)

IF{N.GT. NN¢+NARG+T+NWERT} GO TO 36
IF{IKDIL) EQ.TAD} GO T7 41

NG 109 L=1.NARG

ARGAD{L) =AGAIL}

AUESTELLEN NDER NAMENLISTE FUER DROPS
IF{LMTS.EQ.D) 6N TD 42
TFIMS{LMTS) . NE.RA(L}) GO TN 42
JF{MTSILMTS).EQ.RALR2)} GO TO 43
LMTS=LMTS+1

MS{LMTSI=RA(L)

MTS{LMTS 1=RA(2)

GO IO 43

AUFSTELLEN DER NAMENLISTE FUFR ADD
DO 110 L=1,NARG

ARGAS (L) =ARGA(L)

IF{LMTALEQ.D) GO TU 44
TFIMAD{LMTA).NE.RA(L)) GO TO 44
IF(MTDILMTA).EQ.RA(Z)) GO T 43
LMTA=LMTA+]

MAD{LMTA)=RA{1}

MTD{LMTA) =RAL 2]

GO TN 43

AUFSTELLEN DER NAMENLISTE FUER DROPA
IF(LMTD.EQ.D) GO T3 45
TF(MAA(LMTD) . NE.RA(L1)) GO TO 45
IF{MTA{LMTD).EQ.RA(2)) GO TO 43
LMTD=LMT D+l

MAA{LMTD)=RA{ 1]

MTA(LMTND}=RA(2])

KS=1

ANGEORDNET ¢}

2510
2520
2530
2540
2550
2560
2570
2580
2590
2500
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
276v
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
28710
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3010
3020
3030
3040
3050
3060
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<y

97

98
G

156

167
162
ol

163
165

0Ty 57

IFINFLEYL8) 53 77 124
2F W ND NF

NF=%

GO TN 125

TRLI3Y.7 4. 33 2L RO I A
NF=13

GO T 47

TRILYTS. 00,733 M~ T3 5%

CALL ALBHALLMTS MG MM MAT N
N=2

K=l

NO 91 L=N, LTS

TE{MS{LY JNEMSIL-1) Y GO Iy 92
CONTINIF

CALL ALPHAT (L -Me1,MTS(K )N IITY
NTi#]

Kol

{EINL T MTS ) Gy TR
(FLLMTA, 70, ) G0 TD 8s

CAll ALPHATUMTALMAD 1M AT NOUT)
N=2

K=1

N0 95 =M LMTA
[FOMAD (LT MR MADTL-1) ) G0 T 94
CONT TNUE

CALL ALPHATLL-N#L,MTO{K ) NOUT)
N=l o+l

Kzt

TF{NL T, LATA) 60 TH 94

[FILMIDL. 3.2} GO T 23

CALL ALPHA [LMTNGHAAAZNM, MAT (MOUT )
N=2

K=1

N0 98 L=n,LH4TD
TREMAATL Y NT MAALL-1)) 5 TN g9
CONT INUE

CALL ALOHATIL-N+#L,MTACK) yNOHTY
N=iL+1

W=t

TFINLLT.LHTYY  GD 70 97

ICN=1

IF(I17.52 1) GO TO 166
IF(I84A.FY. LY L\N=2

CALL DOTESTILN,NNST ,ICONNSTY

6N TN 167

IF{18A,EQ. 1)  LN=a

CALL DOTESTILN,DNSO, ICON,NST)

GO TO {162,163}, 117

WRITE {NNIUYT,61)

FORMAT(!' NDIE EINGABE FUER DAS PROGRAMM J1750 WURDF GFPARUFFT!)
G TD 154

WRITEANIUT,1565)

FORMAT{Y DIFR FINGABT FUFR 45 PROGRAMM 21751 WURDE GFPRUEFT!}

ERN ]
3330
3350
3100
3110
3122
2139
3140
3150
3160
3110
3150
3190
3200
3210
3270
3230
3240
32510
32610
3270
323G
3290
3304
3310
3327
3353
13490
3359
3360
3379
3330
3390
3400
3410
3420
3430
3449
3450
3460
347D
15480
3430
3500
3510
3520
2530
540
3550
3560
3570
3580
1590
3600
3510
3620

1

L4 TFIKLT.FQal) STI95
G T7

PRUEFUNG DTR ZINGART FURR DAY PENGRAMY 11703

T PEAD TNSE N, IMATHATL Yy TV PR L T, L7 s N
TF(MaLEL 13D} 52 T oat

WRI1E {MOUT,63) o
43 FORMATIT PROSIANM D173 1 M=, 05,7 010 ANSAYL NER NAMENSKOMBTINATIN
TNEN DARE NICHT GRIPSSER 1206 SFINTY
STOPS
STOCALL ALPHA [N MATNA G NA, PAT 00T
Tens=2
K=1

Log D0 1310 L=TCIN,N

- oy

i

tal

o

—

TF{MATNA (L} aNF 4ATNALL-1)) 6o T0 1952

CONT INUE

CALL ALPHAT L ~{CoN+ L, TYPMN{L ), 00T}

TCON=Le1

K=t

TRIICONGLTaNMY 50 T3 10

.\j;l

1CoN=1L

CALL IDTESTINGDINA; TCINpNST

HRITE {NAUT, 69}

A1 FORMAT (T 017 EINGAS S RSk a5 PROGRAMM LTI wURDFE GEPRUYRFT)
6y TN 7

N o

PRUEFMS NTR EINGAB T FUER DAS PROGRAMM 31791

F1OREAD IMFY (FELDIL) sL=1,4}
TFITEXTL LY RN LFELD UL LAMD TRXTI2 L Qo FRLDT2 o ANDLTEXT {3} L FQ.FELDED
13y a7 57

ARITE {(NOUT.58) (FELD(L),L=1,%)

S3OFORMAT (* PRIGRAMM OL7IL & FEHLED TN DER FINGAREKARTE' ,345,110)
STOPS

57 N=2
TCON=Y

CALL DOTESTINGDDIL, TCHN,NST)

WRITE {NIT,59)
56 ECRMAT (1 DIE ETNSARE FUER NAS DROGRAMM Y1731 WURDE GEPRUFFTY )
cnoTn v
PRUSFUNS DER FINGABT FIER NDAS PROGRAMM 1172y
12 N=2
eov=i

CALL DDTEST {N,0OD20, ICON, MSTY)
WARTTF (NIWIT, 5%4)

AL VORMAT (' DIF FINGABE FUE2 DAS PRAGRAUM OLT720 WURNDE GEPRUFEFT?)
GG T 7

PRUFFUNG NEYT FINGAZFE FUER DAS PROGRAMM 31704

13 N=1
TCON=1

3630
3654C
3650
3460
31570
3689
3690
3757
3710
37120
3730
2740
37540
3760
3770
3780
3790
15090
3810
3320
$A39
3340
3850
31360
3RTO
31980
31890
3300
3910
3920
3930
3940

31950
3960
3970
3980
399Q
4000
4010
4020
49330
4940
4950
4060
4970
4180
4090
4100
4110
4120
4130
4140
4150
4160
4170
4180



[N eNe]

CALL DOTEST (N,OD04,ICON,NST}

WRITE {NJUT,65)

65 FORMAT({® DIE FINGABE FUER DAS PROGRAMM )1704 WURDE GFPRUEFTT})

GO TN 7

PRUEFUNS DER EINGABF FUER NDAS PROGRAMM 31705

14 READ (NF} MATNA{L},MATNA(Z2]} NN

TFINN.LEL.10) GO TO 59
WRITE (NOUT, 70} NN
TO FORMAT{® PROGRAMM 01705

MM =1, 15," DIF ANZAHL DFR AYFZYFUELL ENDE

IN TYPEN DARF NICHT GROESSER 10 SEIN')

STOPS
59 NO 66 L=1,NN

READ {NF) TYPNILIoNyKy (CUEINKyNSToL )y NK=T 4K}y {OEINKyNSTyL} yNK=1,K}

1sNST=14N)
IF{K.LE.8}) GO T2 103
HWRITE (NOUT,104} K
104 FORMAT{® PRIGRAMM 01705

K= 24157 IM SESAMTFN KEMA-PROGRAMM SIND

1 NUR 8 ARGUMENTE ZULAESSIG*®}

STOP S
103 IF(N.LE.4) 6O TN 71
WRITE [NOUT, 720N
72 FORMAT{' PRIGRA4M 01705

N= ¥,15,° DTE ANZAHL DER AUFZUFUELLFNDEN

1 LUECKEN DARF NICHT GROESSER 4 SEIN')

s$ToPS
71 DO 74 NST=14N
DO 73 NK=1,K

TF(UEINCoNST o L) oL ToNE(NKyNST oL })

GO TO 74

TFIUE{NK NST L. EQ. DE(NK,NST,L}} GO TO 73
WRITE (NOUT, 751 UEINKNST,L) +DE{NKNST,L},TYPNIL)

75 FORMAT {* PROGRAMM Q1705

DIE UNTERE LUECKENBEGRENZUNG *4E16.8,°IS5T

1 GROESSER ALS DIE OBERE LUECKENBEGRENZUNG? yE16.8,7 BEI DEM TYP#,

2A8}
STOPS
73 CONTINUE
T4 CONTINUE
66 CONTINUE

CALL ALPHAT{NN, TYPN,NIJUT}

N=3
ICON=1

CALL DOTEST (N,DDO5, ICON,NST}

WRITE (NQUT, 76}

76 FORMAT(® DIE FINGABF FUER DAS PROGRAMM 01705 WURDF GEPRUEFT')

GoD 10 7

PRUEFUNG DER EINGABE FUER DAS PROGRAMM 01708

15 READ {NF) YATNA{LIL,MATNA{Z2) sNSTe N {TYPNILY L=1 N} (KOALT (L} sL=1,N}

CALL ALPHA(2, MAT NAp NMy MAT, NOUT }
IFINST.EQ. 1. 0R.NST.EQ.2}) GO TO 77

WRITE (NOUT, T8} NST

78 FORMAT{' PROGRAMM 01708
12 ANNFHMENT)
STOPS

TT IF(N.LE.20) 60 TO 79

IST=7,15."

IST DARF NUR DNEN WERT 1 0ODFR

4190
4200
4210
4220
4230
4240
4250
4260
4270
4280
4290
4300
4310
4320
4330
4340
4350
4360
4370
4380
4390

4400
4410

4420
4430
4440
4450
4460
4470
4480
4490
4500
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4620
4630
4640
4650
4660
4670
4680
4690
4700
4710
4720
4730
4740

sNeXel

e ExNe]l

HRITE (NOUT,80) N
80 FORMAT(' PROGRAMM Q01703 : N=',15,' DIE ANZAHL DER TYPEN DARF NICHT
1 GROESSFR 20 SFINT)
STOPS
7S CALL ALPHAT (N, TYPN,NOUT)
N=3
ICON=1
CALL DOTEST{N,DNO8, ICOANGNST)
WRITE (NNUT,81)
81 FCORMATI(* DTE EINGABE FUER DAS PROGRAMM 11778 WURDE GEPRUEFT®)
GO 10 7

PRUEEING DER FINGABE FUER DAS PROGRAMM 11721

130 READINFINNM, (MATNATL),L=1,NNM)
CALL ALPHA ([NNM,MATNA, NM, MAT,NOUT)
N=2
ICCN=1
CALL DDTEST{N,DD20, ICON,NST}
WRITE{NDUT, 131}
131 FORMAT(' NI& FINGABE FUER DAS PROGRAMM 01721 WURDE GEPRUEFT®}
GO TO 7

PRUFFUNSG DER EINGABE FUER DAS PROGRAMM 31722

132 READ (NF) (FELD{L),L=1,5)
TFITEXTU1) oEQ.FELDU L) c ANDLTEXT(2) o EQeFELD{2) o AND.TEXT(3}.FQ.
1FFLD(3)) GO TO 133
WRITE (NOUT,134) (FELDIL),L=1,5})
134 FORMAT{' PROGRAMM 01722 : FEHLER IN DEP FINGABEKARTE® ,345,2110)
STOPS
133 N=2
ICON=]
CALL NDTEST{N,DD22, ICON,NST)
WRITE{NOUT,135}
135 FORMAT(® DIE EINGABE FUER NAS PROGRAMM 11722 WURDFE GEPRUEFT®)
GO 10 7

PRUEFUNS NFR EINGABE FUER DAS PROGRAMM 01751

141 READ{NF)IAL, IBA
LN=1
IF{TAUEQ.0.0R.TAU. EQ.L}) GO TO 142
WRITE(NOUT,143)
143 FORMAT{' PROGRAMM 01751 : IAY IST NICHY 0 ONDER 1 GFSETZIT')
sSTOePS
142 IF{IBA.EQ.0.0R.IBA.EQ.1} G0N TO 144
WRITE(NOUT,145)
145 FORMAT(' PROGRAMM 01751 : IBA IST NICHT O ODER 1 GESETZT?)
STOPS
144 117=2
GO TO 22

PRUEFUNG DER ETNGABE FUER DAS PROGRAMM 01723

4750
4760
4770
4780
4790
4800
4810
4820
4830
4840
4850
4860
4870
4880
4890
4900
4910
4920
4930
4940
4950
4960
4970
4980
4990
5000
5010
5020
5030
5040
5050
5060
5070
5080
5090
5100
5110
5120
5130
5140
5150
5160
5170
5180
5190
5200
5210
5220
5230
5240
5250
5260
5270
5280
5290
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200 READ {NF) [, {MATNALJ) ,J=1,1)
IF(I.LE.20) GO T3 202
WRITE (NOUT,203) 1
203 FORMAT(® PRNOGRAMM 01723 : ES SOLLFN®*,I5," MATERTIAI IEN UEBERPRUEFT
1WERDEN, ES NUERFEN JEDOCH NUR 20 SEIN®)
STOPS
202 IF{1.EQ.T.AND.MATNATL) ,EQ.ALLY GO TO 204
CALL ALPHA {I+MATNA,NM,MAT, NOUT)
204 N=2
TCON=1
CALL DDTESTIN,DN23, ICON,NST)
WRITF{NOUT, 201)
201 FORMAT(* DIE EINGABE FUER DAS PROGRAMM 71723 WURDE GEPRUEFT!)

7 CONTINUE
WRITE (NDUT,82)
82 FORMAT(' ENDE DFR GFSAMTEN EINGABEPRUEFUNG?)
REWIND NF
RETURN
END

SUBROUTINE ALPHA (1,A,NM,MAT,NOUT)
REAL%8 A{1),MAT{1)
IF({1.EQ.1) RETURN
t=1
DO 1 J=1,I1
DO 2 K=14NM
IF(ALJ ) EQ.MATIK)) GO TO 3
2 CONTINUE
GO TO 4
3 IF{K.GE.L) GO TO 6
WRITE (NNUT,5) (A{L),L=1,1}
5 FORMAT(* DIE MATERIALNAMEN SIND NICHT IV NDER VORGESCHRIEBENEN REIH
1ENFOLGE ANGEORDNET® /{10A91})
sTap
6 L=K
1 CONTINUE
4 RETURN
END

SUBROUTINE ALPHAT (T1,A,NOUT)

REAL%8 A(1)

IF({T.EQ.1) RETURN

DC 1 J=2,I

IF(A(J=-1).GT.ALJYY GO TO 1

WRITE (NOUT,2) (A{L),L=1,1)

2 FCRMAT(®' NIE FOLGFNDEN TYPEN LIEGEN NICHT IN ALPHABET ISCHER RETHEN

1FOLGE VOR*/ (10A9))

sTap

5300
5310
5320
5330
5340
5350
5360
5370
5380
5390
5400
5410
5420
5430
5440
5450
5460
5470
5480
5490

10
20
30
40
50
60
70
890
90
100
110
120
130
140
150
160
170
189

10
20
30
40
50
60
70
80
90

GO0

2000

1000

CONT INUE
RETURN
END

SUBROUTINE POL1T17
PROGRAMM ZUR ERZEUGUNG EINES SEQUENTIELLEN KERNDATENFILES

REAL*3 2(300)

DIMFNSION FELD(880) ,IFELD(B8B0O),DAT(40000),INAT (40000),MAT{4,100),
LITYP(T,100),NWN{9+400), XWN(9,400)
COMMON Z,27(302),NOUT

EQUIVALENCE (FELD(1),IFELD(L)),(DAT{L),IDATIL))
Ly (INWNTLy1) s XWN{L,1))

CALL FSPIE

IS=1

WRITE (NOUT,2003)

FORMAT(1HL/* PROGRAMM 01717'//)
ITTTT=40000

NSZ=889

LBN=1

IMA=12

DEFINE FILE 1{(3953,880,U,K8]

READ (LBN*'L) (FELD{TI)},1=1,NS2)
IDAT(1)=1

IDAT{2)=IFELD(4)
ICAT(3)=IFFELD(11)

WRITE (IMA) (IDAT{I),I=1,3)

WRITE (NOUT,10090) (IDAT(I),1=1,3}
FORMAT(10T112)

IS=IFELD(L12)

ITW=IFELD(13)

IF(IS-1) 1,2, 1

1 READ {LBN*IS) (FELD(I)},I=1,NSZ}
2 L=IDAT(3)
DO 5 K=1,L
1D=TW
MAT(1,K)=IFELND(IN)
IF(IN+1-NSZ)9,9,10
10 1S=1S5¢+¢1
READ (LBN'IS) (FELD(I},I=1,NSZ)
ID=0
9 ID=1D+1
MAT{2,K)=IFELD(ID}
IFLID+1-NSZ}I11,11,12
12 I5=1S+1
READ (LBN'IS) (FELD(I),I=1,NSZ}
10=0
11 1D=ID+1
MAT{ 3,K} =IFELDUID)
IF{IN+1-NSZ)15,15,16
16 I5=1S+1

100
110
120

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
150
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
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[aEaRe]

[aEaXe)

e RaNel

15

14

17

18

26

25

22

23

28

27

30

RFAD (1.3N'IS) (FELDILTI),»I=14NSZ}
10=0

ID=1D+1

MAT(4,K)=T1FELD(ID)
TF(IN+1-NSZI13,13,414

IS=1S+1

READ (LBN'IS) (FELD(1),I=1,NS7)
In=0

Tw=10D+1

CUNTINUE

WRITE (1MA) {MAT(L1,1},1=1,8)
WRITE (NOUT,1003) (MAT{Ll,1),I=1,L)

SCHLEIFS JEBFR OIE MATERTALZAHL

DO 101 I=1,L

WRITE (IMA) MAT(1,L),MAT(2,1)
WRITE {6,100C) MAT(L1,I),MAT(2,1)
J=MAT (2, 1)
TF(MAT(3,1)-1S}17,18,17
IS=MAT(3,1)

READ(LANTYIS) (FFLDIK)K=1,N52)

I W=MAT(4,1)

[0=1wW

DO 21 K=1,4J

ITYP(1,X)=TFELDCINY}

JK=1

JK=JK+ 1

IF(ID+1-NSZ)22422+25

1S=1S+1

REAND(L3NT'IS) (FFLD(KK) ;KK=1,NS7}
In=0

ID=IN+1

[F{JK=T7)23, 23,21
ITYP{IK,K)=TFELDLID)

GC TO 24

CCONTINUF

CALL NRDTYP(ITYP,})

WRITE (IMA)} (ITYPIl+K},K=1,J)

WRITE (NOUT,1200) (ITYP(14K) K=14J)

SCHLEIFE UEBER DIE TYPENZAML

00 101 K=1,J

TARFU=ITYP( 3,K}+ITYP(4,K)
IFLITYP(2,K))2T428, 27

TwP=ITYP(5,K)}

ITYP({5,K)=0

WRITE (IMA} MAT(L,1), (ITYP(KK,K),KK=1y5)
IFCITYP(2,K)) 30,31, 30

ES SIND WEITERF NAMEN VCRHANDEN

IN=1TYP{6,K}
IF(ID~15)34,35,34

490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
540
650
560
670
680
690
720
710
720
730
740
750
760
770
780
790
300
810
820
330

B840
850
860
870
380
890
900
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030

OO

o On

34

35

36

40

39

37

102

42

57

58

47

53

52

103

31

64

65

1s=1D

RFAD (LBNTIS) (FELD(KK) KK=1,NSZ)
IW=1ITYP{7,K)

NK=ITYP(5, k

Ne 102IK=1,NK

NwN(Ly IK)=TFELD(IW)

JK=1

JK=JK +1

[F{IW+1-NSZ)39,39,4)

1S=1S+1

READLLIN?YIS) {FELD(KK) s KK=14NSTZ)
Tw=0

TW=1W+1
TFOJK=TITYPI2,K}=-3}37,37,102
NWN{JKy IK)=TFELD(TW)

GG TOD 36

CCNTINUE

IN=ITYP{2,K)}

SCHLEIFFE HFAFR DIZ NAMENSKAMBINATIONEN

DO 103 TK=L,NK

WRITE (IMA) (XWN(KKIK}KK=1,IN)
WRITE {IMA) NWN{IN+1,IK)
ID=NWN{IN+2, [K)

TW=NWN(IN+3, IK)

IF(ID-TS5)41,42,41

IS=1D

READ (LBN'IS) (FELD(KK) KK=14NSZ}
IP=NWNIIN+1, IK}Y*TARFU
TR(IP-TITTTIT 4T, 47,57

WRITE (NOUT,58) MAT(L,1},MATI(2,1}

FNRMAT(? ZAHL DER ARGUMENTF ¢ WERTE GROESSER 40C00D FUER? ,2110])

STOPS

Nt 54 N=1,IP

DAT(N)=FELD(IW)
[F{IW+r1=-NSZ}52,52,53

IS=1S+1

REAN (LBN'TS) (FELD{KK) 4KK=1,NS7)
IwW=0

TW=TW+l

CONT INUE

WRITE (IMA) (DAT{KK)},KK=1,1P)
CCNTINUE

GO TO 101

ES SIND KEINF WEITEREN NAMEN VORHANDEN

WRITE (IMA) 1wp

IN=1TYP(6,K)

TW=1ITYP{T7,K)

IF(IN-1S)64,65,64

1s=1D

REFAD (LBN'IS) (FELD(KK) KK=1,NSZ)
IP=TWP*TARFU

1040
1050
1060
137¢
1080
1190
1100
1110
1120
1130
1140
1150
1160
1170
1180
1192
1200
1210
1220
1230
1240
1250
1260
1279
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1399
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1549
1550
1560
1570
1580
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[aNaXe]

67

66
16
75

68

101

602

N

12
601

14

20

22

TF{IP-ITTIT} K6,656567

WRITE (NYWT,58) MAT{L,1),MAY(2,])
STOPS

DC 68 N=1,1P

DAT(N}=FELN(IW]
TFTWHL~NSZ}T75,75,76

1S=18+1
READILBNTIS)IUFELD(KK)},KK=1,NSZ)
1W=0

Tw=IW+1l

CCNT INUE

WRITE (IMvA) (DAT(KK), KK=1,IP)
CONT INUE

REWIND TMA

RETURN

END

SUBROUTINE JIRNDTYP(ITY?,J)

DIMENSION ITYPU7 L) yNTYP(T, 100}, JTYPL102),XTYP(2,1)
REAL*8 ATYP{100},TYP(100),STYP

EGUIVALENCE (XTYP{1,1),7YP{1})

SORT TYPE-ADRESSTABLE IN ALPHABETIC ORDER.

TF{J.FQ. 1) RETURN

READ(LYL) (IDUM, I=1,7)4NT,IRTYC, IWTYC
TF(NT.LE.123) 6070 2

WRITE{6,602) NT .

FCRMAT (/10X * TYPECONVERSION-TABLE EXCEEDS TNCORE STNRAGE,'/)

STNP
K=IWTYC~1

READ(TYIRTYC) {(IDUMI=1,K) o (XTYP(L 1) o XTYP(2,T1) 4JdTYP{I),I=1,4NT)

DO 10 K=1,T7

NTYP{K,1)=ITYP(K,1)

DO 12 K=1,NT
IF(ITYPIK)LNELITYP{1,1)) GOTO 12
ATYP(1)}=TYP{K)

GOTNO 14

CONTINUE

WRITE{(6,601) ITYP(l,1)

FCRMAT(/13X,*' TYPE ' ,I10,"* NOT FOUND IN TYPECONVERSTONTABLE.'/)

sTap

N=1

DO 100 I=2,4

NG 20 K=14NT
IFCITYP{L1,1) «NELJTYP{K))} GDOTO 20
STYP=TYP(X)

GOTO 22

CONTINUE

WRITE(6,601) ITYP(1,1)
STOP

DO 30 K=14N

1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1650
1700
1710
1720
1730
1740

10
20
30
40
50

79
80
90
100
110
120

130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350

OO

32

36

34

40
42

100

200

127

81

83

82

TF(STYP.LT.ATYP (K)) GITO 32
L=K

GOTO 32

CCMTINUE

L=N+1

GCTO 40

K=N+1

DG 34 M=L,N

DD 36 M1 =1,7
NTYP(M1, K}I=NTYP(M1,K~-1)
ATYP{K)=ATYP(K~-1)
K=K-1

DO 42 M=1,7

NTYP (M, L)=ITYP{M,])
ATYP(L })=5STyP

N=N+1

CONTINUE

J=N

DO 200 I=1,J

DO 200 K=1,7
ITYPIK T })=NTYP(K, 1}
RETURN

END

SUBROUTINE 201750

KERNDATE NVERWALTUNG SPROGRAMM

REAL*3 FFEST(4)/5HADD

y SHDROP Ay SHDROPSy SHENDE /,

1 MATNA{200) y TYPN(100) ,F,IFE,IFEL

2y IKD(2,20)

DIMENSTION ARG(10),WFRRT(20)NAM(10O},
INUTY(100),NKO(2,20),1ZKO(20)

2,FELD(2000), IFELD(2900)

NUNA{200),

COMMON MATNA, TYPN,NUNA s NUTY y NZMy NZT s NOUT 4 NF
EQUIVALENCE (FELD(1)}, IFELD(1))
23 (ARG (1) yF), {ARG(3) ,IFE), (ARG(5),IFEL)

READ (NF) TAU, IBA,NNKO
CALL ZEIT{NDTUM)
TFINNKD) 126,126,127

READ (NF)({IKO(T,d)y1=1,2)s TZKO(J) 4J=1,NNKD)}

DO 80 J=1,NNKO
DO 81 K=1,NIM

TF(IKO(Ll sJ).EQ.MATNA(IK)) GO TGO 82

CONT INUE
WRETE (NNOUT,83) IKG(1,J)

FORMAT(® DAS MATERTAL® ,ALO,*

1LE ENTHALTEN')
sTaes
NKO{ 1, §) =NUNA{K)
DC R4 K=1,NIT

IST NICHT IN DER NAMENZUORDNUNGSTABFEL

[FLIKO(2,3Y.EQ.TYPN{K}) GO 7O 85

360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580

10
20
30
40
50
60
70
80
90
109
110
120
130
140
150
160
179
180
190
200
210
220
230
240
250
260
270
280
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R4

26

AR5

126

W

509

100

12
13

11

103

196

108

107

104

109

t11

CONT INUE

WRTITE (NJJT,86) IKI2,.4)

FORMAT (* DFER TYP',413,7 IST NICHT IN DER NAMINZUCORONUNGSTABFLLE ENT
LHALTEN?®)

STOPS

NKD{2, J)=NUTY (K)

CONTINUE

TAD=0

10A=0

IDS=0

IF (1Al3) 1,1,2

TL=NF

READ (IL) NN (FELD{T),I=1,ND)
ARG{(L)=FELNI(L)

ARG(2)=FELD(2)

ARG(3)=FFLD{4)

ARGU&4)=FELD(5)

ARG{S5)=FELDIS6)

ARGI6}=FELDIT)

TFIND.LE.2000) G TO 100

WRITE (NOUT,500) ND

FORMAT (1H ,*FINGABRESATZ ENTHAFLT®, I5,% WORTE' )
STNPS

DU 4 I=1,4

IFIF «FQ.FFESTLIN) GO TO (5,657,1),1
CONT INUE

WRITE (NOUT,8) F

FORMAT (1IH ,Ah, " UNERLAUBTER BLOIKNAME')
STOPS5

IF(IAD) 9,9,10

REWIND 9

NNAM=TFELN( 3}

TE{NNAM=-10011,11,12

WRTITE(NOUT, L3) NNAM

FORMAT (1H o *ZAHL DER NAMEN =%,14)

STOPS

DO 14 I=1,NNAM

GO TN {103,104,105,105+105,105,105,1055,175,1051},1
NC 106 J=1sNIM

IF{IFE »EQ.MATNA(J)}) 60 TN 107

CCNTINUE

WRITE (NUUyT,.108) IFE

FORMAT{LH ,*DFR MAT ERITALNAME ', A8, STEHT NICHT IN NER UMRECHNUNGS
1TABELLE")

sTOPS

NAMUT §=NUNALY)

GN 10 14

DO 109 J=1sNIT

IFITFEL LFRLTYPNLSIY GO TN 11O

CONT INUE

WRITE (NOUT,111) IFFL

FORMAT (1H 4 "DER TYPNAME ' ,A8,°® STEHT NICHT IN DER UMRECHNUNGSTABFE
1LLE")

STGPS

290
300
310
320
330
340
350
360
37)
380
390
400
410
429
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
599
600
610
620
630
640
650
669
672
680
690
700
710
720
730
740
750
760
772
780
790
800
810
820
330

105
14

16

17

15

19
20

18
21

24

23
25

27

31

523
524
525
526

527
327

28

NAM{T)=NUTY (J)

GO TN 14

NAM{T)=TFELN{L+5)

CONTINYUE

NARG=IFFLDINNAMES)
TF{NARG-10)15,15,16

WRITE (NNUT,17) NARG

FORMAT (1H , *ZAHL DER ARGUMENTF =7,14)
STAPS

NWERT=IFELDINNAM+T)
TF{NWERT-20)18,18,19

WRITF {(NDUT,23) NWERT

FORMAT{1H 4 *ZAHL DER WERTF =7%,14)
STNPS
NWE=NNAM+7
NAA=NWE+]
NAF=NWE+NARS
IF(NARG,.EQ.0)
J=9

DO 22 T=NAA,NAE
J=J+1

ARG(J) =FELD(I)
NWA=NAE+1
NWE=NAE+NWERT
J=0

DO 24 I=NWA, NWE
J=J+1
WERT(JI=FFLD(T)
WRITE (9) NNAM, (NaM{ T}, I=1,NNAM) ,NARG,NAERT,{ARG{I),I=1,NARG),
L{WFRT(I) +I=]1,NWERT)

1AD=14aD+1

IF(NWF-ND) 21,3,23

WRITE (NOUT, 251 (NAM(1),I=1,2)

FORMAT{1H ,218," ZAHL DER DATEN FEHLERHAFT*)

NAE=NAE+]

SINpPS

TFUINA) 25426427
REWIND 10

NWFE=0

IA=0

GN TO 327

NHE=NAE+NNAM+1

IFELTH 3)=IFELNINWE+TA+3)
TF{IFELD{3)-2)523,524,524
TE=IFELD(3)+1

GNn T 525

TE=TFELN(3)+2

DO 526 I=1,IE
IFELDUT#3)=IFELD(NWE+IA+T+3)
no 527 I=1,4
ARG{I+2)}=FFELD(1+3)
NNAM=TFELD(3)
TFINNAM-10)28,28,12

J=0

DO 29 T=1,NNAM

840

B850

860

870

889

897

900

910

920

930

940

950

960

970

980

990
1000
1010
1020
1030
1340
1050
1060
1770
1080
1090
1100
1110
1120
1130
1140
1150
1160
1172
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
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112

i15

116

118

114

29

520
521
522
30
32
33
119

122

123

124

125
121
34

35
37

GO TN (112,113,124, 114,114, 114,1145114,114,114),1
DG 115 K=1,NIM

IFUIFE EQJMATNALK) Y GO TO 116
CONTINUE

WRITE (NOUT,108) IFE

STOPS

J=J+1

NAM{ J) =NUNA(K)

GO TO 29

DO 117 K=1,NZT

IF(TFEL +EQ.TYPN(K}) GN TO 118
CCONTINUE

WRITE(NOUT,111) IFEL

STOPS

J=J+1

NAM(J)=NUTY (K )

GC TO 29

J=J+1

NAM{J)=TFELD(1+5)

CONTINUE

WRITE(10) NNAM, (NAM(T),I=1,NNAM)
IDA=IDA+]

TFINNAM=-2})520,521,521

TA=TA+1

GC TN 522

TA=TA+2
TF(NWE+NNAM+ T A+3-ND)31,3,23

TE{IDS) 30,30,32

REWIND 11

NNAM=TFELD{( 3}

IF{NNAM-10) 33,33,12

DO 34 I=1,NNAM

GC TO (119,120,121,121,4121,121,121,121,121,121},1
D0 122 J=1,NIM

IFUIFE ~EQ.MATNALJ)) GO TO 123
CONTINUE

WRITE (NOUT,108) IFE

STOPS

NAM(T) =NUNA(J)

GO TO 34

DO 124 J=1,NIT

IF(IFEL +EQ.TYPNI{J)) GO TO 125
CONTINUE

WRITE(NOUT, 111} IFEL

STOPS

NAM{T)=NUTY (D)

GO TD 34

NAM{T)=TFELD(T45)

CONTINUE

NARG=IFELD({NNAM+6)
IFINARG-1D) 35435416
NWE=NNAM+6
NWA=NWE+]
NWE=NWE+NARG

1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1722
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930

36

38
41
40
43
42
45
44

1

J=0
N0 36 T=NWANWE
J=J+1
ARGUJY=FELD(T)

WRITE (L11) NNAM,(NAM{T) I=1,NNAM) ,NARG, (ARG(]),I=1,NARG)
INS=1DS+1

TF{NWE-NND)} 37,3,23

IF(1IBA) 38,38,39
It=13
18A=0
GC 70 3

IF{IAD)40,40,41

REWIND 3

IF(IDA)42442,43

REWIND 10

IF({IDS) 44444 445

REWIND 11

REWIND 2

REWIND 12

CALL KOMT(NDTUM)

CALL KEDAK (I AD, IDS, INDANNKO,NKD, IZKO, NDTUM)

RETURN

FND

SUBROUTINE KOMT (NDTUM)

REAL*8 Z{3090)

COMMON 7 ,22{302),NOUT

WRITE (NOUT,1) NDTUM

FORMAT(LIHL,10X,*SUMMARY OF THE KARLSRUHE NUCLEAR DATA FILE',110/)
WRITE(NOUT, 2)

2 FORMATI

COMMENT  1* r/
NEUTRON CRDSS SECTIONS AND RELATED DATA? r/

X
X
Xt
Xt
X
X
X
Xt
Xt
X
X
X?
X
X
Xt
X?
X
Xt

THE
1sT
2ND
IR0

THE
THE

THE

LAY-0UT OF DATA-RECORDS IS AS FOLLOWS'
NAME IS THE NAME OF THE ISOTOPE?®
NAME IS THE NAME OF THE CROSS SECTION'
NAME IS THE ENERGY (GIVEN IN MEV) 0OF THE RESIDUAL NUCLEUS!
LEVEL FOR INELASTIC EXCITATION (FOR TY>E SGIZ ONLY)®
ARGUMENT IS THE VALUE OF ENERGY. THIS IS GIVEN IN EV'
DATAWIRD IS THE VALUE OF THE CROSS SECTION, THIS IS GIVEN?'
IN BARN!
FOLLOWING TABLE SHOWS THE MEANING OF THE NAMES OF THE'
CROSS SECTIONS!
SGN FLASTIC SCATTERING?
SGI TOTAL INELASTIC SCATTERING!
SGIz INELASTIC SCATTERING OF LEVEL DEFINED BY 3RD NAME!
SGIZC CONTINUUM PART OF THE INELASTIC SCATTERING *

IN THE DISCRETE REGION?
S66 RADIATIVE CAPTURE?Y

~ N
—_ NN NN N NN NN NN NN NN

WRITE (NOUT,3)
3 FORMAT(

1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2970
2080
2090
2100
2110
21290
2130
2140
2150
2160
2170

10
20
30
40
50
60
70
80
90
100
110
120
120
140
150
160
170
180
190
200
210
220
230
240
250
260
270
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X* SGF FISSION® /
X SG2N  (N,2N) PROCESS?® /
X® S3ALP  {(N,ALPHA) PROCFSS® /
Xt SGP {(N,P) PROCESS?® /
X® SGT TOTAL? /
X! SGTR  TRANSPORT® 7
Xt SGA ABSORPTION SGA=SGG4+SGF+SGP +SGALP+SGN+SGH3 Y  /
X + SGHE3 +SH2HE? /
X SGX NON ELASTIC SGX=SGT - SGN* /
Xt MUEL  AVFRAGF COSINE OF FLASTIC SCATTERING ANGLE® /
X IN LABOR SYSTEM? /
X CHIF  ENERGY DISTRIBUTION OF PROMPT FISSION NEUTRANSY /
Xt NUE MEAN NUMBFR 0OF SECONDARY NEUTRANS EMITTED PER? /
X* FISSINNY )
WRITE (NOUT,4)

4 FCRMAT(
X? FTA EFFECTIVE NUMBFR OF SECONDARY NEUTRONS EMITTED® /
X? PER NFUTRON ABSNRPTION® /
X ALPHA SGG / SGF! 1/
X' WHERE APPLICABLE THF FOLLOWING RELATINNS BETWFFM CROSS*® /
X' SECTIONS HAVE BEEN CHFECKED® /
X' FRRORS FXCEEDING 1 PERCENT HAVE BEEN CORRFCTED EXCEPT FOR® /
X' SOME VALUES SHOWN IN A SEPARATE LIST! 7/
Xt SGT = SGN + SGG + SGF + SGI + SGP + SGALP + SG2N°* /
Xt + SG3N + SGH3 + S3HE3 + S32HF! 7
Xt SGT = SUM{SGIZ) + SGIZIC? /
X* SGA = SGG + SGF + SGP + SGALP + SGND + SCH3 + SGHE3® /
X® + SG2HE® /
x? S3TR = SGT - MUEL * SGN' /
X1 SGX = SGT - SGN* /
Xt ALPHA = SGG / SGF* /
X® ETA = NUE / ( Lo+ ALPHA )°f /
X' INTEGRAL OVER CHIF(E) = 1.° /7

WRITE (NOUT,5)

5 FORMATI
X* COMMENT 2° Y
X' 1-6-70" /
X* AVERAGE EVERGY INDEPENDENT STATISTICAL THEDRY PARAMETERS® 7/
X' THE LAY-0UT OF THE DATA-RECORD IS AS FOLLOWS?® /
X' 1ST NAME IS THF NAME OF THE ISOTOPE? /
X' 2ND NAME [S STD® /
X' 1ST DATAWIRD IS THE OBSERVEN AVERAGE LEVEL DISTANCE! /
X' 2ND DATAWIRD 1S THE PARAMETER A OF THE STATISTICAL THENRY® 7
)

X' 3RN DATAWORN IS THE PARAMFTER 2*SIGMA%%2 OF THE STAT. THEDRY®//
WRITE (NOUT,6)
6 FCRMAT{

X? COMMENT 3¢ /7
Xt 1-6-70" /
X* AVERAGE ENERGY DEPENDENT RESONANCE PARAMETERS?® /
X* DRESNFR FACTORS CNOMPUTED BY KARLSRUHF PROGRAM 01741° /77
X® THE LAY-0OUT OF THE NATA-RECORD IS AS FOLLOWS?® /
X' 1ST NAME IS THE NAME OF THFE [SOTOPE? /
Xt 2NN NAME TS STGF! /
Xt 15T ARGUMENT IS THE ENFRGY?® /
X' 2NN ARGUMFNT 1S THE NEUTRNN ORBITAL ANGULAR MNOMENTUM L! /

280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
570
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820

X' 3P0 ARGUMENT 1S THE TOTAL ANGULAR MUMENTUM OF THF COMPOUND?
X NUCLEUS J¢
X®* 1ST DATAWORD IS NUE , THE DFGREE NF FREEDOM FOR THE FISSINN®
X' AIDTH DTISTRIBUTION?
X* 2NN DATAWIRD IS THE AVERAGE FISSION WIDTH®
Xt 3RD DATAWORD [S THE AVERAGE RADIATION wIDTH?
Xt 4TH DATAWIRD IS THE AVFRAGE NEUTRON WIDTH?
Xt 5TH , 6TH , TTH » 3TH DATAWORDS ARE THF NRESNERFACTOHRS®
X SF v SG 4 RF 4 RGY
WRITE (NOUT,T)
T FORMAT(
X* COMMENT 4°
Xt 1-6-70°
X® CHARACTFRISTIC TSUTOPE DATA®
X% THE LAY-DUT OF THE DATA-RECIRD IS AS FOLLDWS?
X' 1ST NAME TS THE NAME OF THF ISOTNPE®
X* 2ND NAME IS 1S3T1?!
X* 1ST DATAWDRD IS THE ATOMIC WEIGHT!
X 2ND NDATAWIRND IS THE ATOMIC NUMBER®
X* 3RD DATAWIORD IS THE GROUND-STATE SPIN T!
WRITE (NOUT,8)
8 FORMAT(
X' COMMENT 5°¢
XKt 1-6-170"7
X* CHARACTYERISTIC ISOTOPE DATAY
Xt THE LAY-0OUT OF THE DATA-RFCORD [S AS FOLLOWS?
X' 1ST NAME IS THE NAMF (OF THE ISOTOPE!
X' 2ND NAME IS 1S5QT2°'
X* 1ST DATAWIRD IS THE ENERGY INDEPENDFNT REDUCEDR NEUTRON?
X?* WAVE LENGTH?®
X® 2ND DATAWORO IS THFE NUCLEAR RADIUS?
X* 3RD DATAWORD IS THE EFFECTIVE BINDING ENERGY OF THE LAST?
X NEUTRON IN COMPOUND NUCLEUS®
WRITE (NOUT,9)
9 FORMAT{
X' COMMENT 6?
X' 1-6-70"
X' AVERAGE ENERGY INDEPENDENT RESONANCE PARAMETERS®
X' TH* LAY-NUT OF THE DATA-RECORD IS5 AS FOLLOWS®
X?* 1ST NAME TS THE NAME OF THE I1SOTOPE®
Xt 2ND NAME TS5 ST°
X*' 1ST ARGUMENT 1S THE NEUTRON DRBITAL ANGULAR MOMENTUM L°®
X' 2ND ARGUMENT [S THE TOTAL ANGULAR MOMENTUM OF THE COMPOUND®
X NUCLEUS J¢?
X? 1ST DATAWORD IS THE AVFRAGE RADIATION WIDTH?®
X' 2ND DATAWIRD IS THE AVERAGE LEVEL DISTANCE?
Xt 3RD DATAWNRD IS THE AVERAGE REDUCED NEUTR(N WIDTH?
X' 4TH NATAWORD IS THE STRENGTH FUNCTION!
X® 5TH DATAWIRD IS THE NUMBER NF FTISSION CHANNELS?
X' 6TH DATAWORN IS THE NUMBER NF NEUTRON CHANNELS?
WRITE (NOUT,;10)
10 FORMAT(
Xt COMMENT T7°
X* 1-6-70°"
X' RESOLVED RESONANCE PARAMETERS®

~
~ ~
~ NN NN TN NN N

~
N

AN NN NN N NN NN N

~
~

7/

830
840
850
860
70
880
390
900
910
920
930
940
950
960
970
380
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1099
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
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X® THE LAY-0UT NF THE DATA-RECORD [S AS FOLLOWS® / 1380
X' CALL ENERGIFS ARE GIVEN IN EV)°* / 1390
X" 1ST NAME IS THE NAME OF THE [SOTOPE® / 1400
X' 2ND NAME IS RES!® / 1410
X' 1ST ARGUMENT IS THE ENERGY OF RESONANCE?! / 1420
X' 2ND ARGUMENT IS THE NRBITAL ANGULAR MOMENTUM® / 1430
X' 3RD ARGUMENT IS THE SPIN OF COMPOUND NUCLEUS? / 1440
X® 1ST NATAWIRD IS THE STATISTICAL FACTOR GJ? / 1450
X' 2ND DATAWDRN 1S THE TOTAL WIDTH® / 1460
X' 3RD DATAWORD 1S THE NEUTRON WIDTH? / 1470
X* 4TH DATAWIRD IS THE RADIATION WIDTH? / 1480
X' STH DATAWORD 1S THE FISSION WIDTH? / 1490
X' 6TH DATAWNRD IS THE PROTON WIDTH! / 1500
X' 7TH DATAWORD IS THE ALPHA WIDTH!® / 1519
X' 8TH DATAWORD IS THE INELASTIC WIDTH? /) 1520
WRITE (NOUT,11) 1530
11 FORMAT | 1540
X UNKNJWN FUNCTION-VALUES ARE SET FQUAL TO ZERO? / 1550
X* FURTHER INFORMATIONS ARE GIVEN IN KENAK-NOTIZ NO. 3¢ /71 1560
WRITE (NOUT,12) 1570
12 FORMAT( 1580
X' COMMENT §¢ 7/ 1590
X' 1-6-704 / 1600
X* PARAMETER OF THE CRANBERG~FISSION-SPEC TRUM? / 1610
X* CHI(E) =AXEXP{-B*E)*SINH(SQRT{C%E))"* /7 1620
X' THE LAY-DUT 0OF THE DATA-RECORD IS AS FOLLOWS® / 1630
X' 1ST NAME IS THE NAME OF THE ISOTOPE! / 1640
X' 2ND NAME 1S CHICR? / 15650
X' ARGUMENT 1S THE ENERGY! / 1660
X* 1ST DATAWDRD IS A" / 1670
X* 2ND DATAWORD IS B / 1680
X' 3RD DATAWDRD IS C°* //7}) 1690
WRITE (NDUT,13) 1700
13 FORMAT( 1710
X* COMMENT 9t 7/ 1720
Xt 1-6-70° / 1730
X' POLYNNMIAL COEFFICIENTS FOR CALCULATION OF THE AVERAGE NUMBER' / 1740
X' NUF OF THE PROMPT FISSION NEUTRONS AS FUNCTION OF THE ENERGY' / 1750
X' NUE=NUEQ+NUET*E+NUE2*E*%2 +NUE3*E#%3 77 1760
X' THE LAY-0OUT OF THE DATA-RECORD IS AS FOLLOWS® 7 1770
X' 1ST NAME IS THE NAME OF THE ISOTOPE®* / 1780
X* 2ND NAME IS PLNUE! / 1790
X' 1ST DATAWORD IS NUEO! / 1800
X' 2ND DATAWORND IS NUEL? / 1810
X* 3RD DATAWORD IS NUE2' / 1820
X' 4TH DATAWORD IS NUE3* /7) 1830
WRITE (NOUT,14) 1840
14 FORMAT( 1850
X' COMMENT 10°' // 1860
Xt 1-6-T701 / 1870
X ISOTOPIC ABUNDANCES? // 1880
X' THE LAY-NUT OF THE DATA-RECORD IS AS FOLLOWS? / 1890
X' 1ST NAME IS THE NAME OF THE ELEMENT® / 1900
X' 2NN NAME 1S [50T3! / 1910
X' ARGUMENT IS THE ATOMIC WEIGHT OF THE ISOTOPE® / 1920

400

51

53

52

X

X
X
X!

DATAWORD IS THE ABUNDANCE OF THE ISOTOPE?
WRITF
15 FORMAT{

COMMENT 11°

1-6~70"

ANGULAR DISTRIBUTIONS NOF ELASTICALLY SCATTEREN NEUTRONS®

{(NOUT,15)

X' THE LAY-0UT OF THE DATA-RECORD IS AS FOLLOWS?®

X* IST NAME IS THE NAME OF THE 1SOTOPE?
X* 2ND NAME IS SGNC!

X* 3RD NAME IS THE ENERGY OF THE INCIDENT NEUTRON IN THE?
X LABORATORY SYSTEM?!

X' THE ARGUMENT IS THE COSINE NF THE SCATTERING ANGLE IN THE?
X CENTER-OF-MASS SYSTEM?
X' THE DATAWORD IS THE VALUE OF THE DIFFERENTIAL ELASTIC!
Xt SCATTERING CROSS SECTION IN BARN/STERADTANY

RETURN

END

SURRNYTING KEDAK

FRIEWGUNG IFS

[TAN, TDS, TNALNNKA NG, TIKE, NNTHMY

NEUEN SEQUENTTFLLEN KENAK-FTLES

REALXIMATNA(2)D) ,TYRN(LDY), TM(]1D))

DIMENSION

NUMA(2D0D)

2NKO(2,20),TZ2KD(2D)  ITTYN(LOD) , TFELD(LDD)
3y XNAM{ 1D ), XMAT (10}, XTANAMUR) 4 XNUINA (1)
441 TYALLD)

COMMON MATNA , TYPN, NJMAZ NUTY ¢y N7 ZMGNZT, NOUT

EQUIVALRENCE

(NAM{1 )y XHAMI1))

1), INUNAL 1) o XNDNA (1))
NATA A/'ARG '/

CALL FSPIE
TDAW=40000
TTTTT=40200

READ
NIMM=NZY

READ (12)

(12) IN,TDAT,NTM

(MAK {3 )y J=1,NIM)

IFCINAYIS40L1,401,400

ne S0 I=1,1INA
REAND{1D) NNAM, [NAM(L),L=1,NNAM)
TF{NNAMONE,L1) 60 T2 53

no 51

TRINAM{L1 ) FQ.MAK(L))

L=14NZH
o0 TN R?

CONT TNUE

WRITF(NNYT, 53)
FORMAT {14 , *LOFSCHTYR Y, 18,

NAM( 1)
NICHT AUF KEDAK ENTHALTEN'Y

GC TN 422)
NZM=NT M- 1

TROL, GT.NZM)

GO T S0

DD 54 K=L,NIM
MAK{K)=MAK (K +1)

~
~

~
~

~

~
~

~
~

B T T T S N N

NOTY (T DY), NUNALLOD ), ARGILID )
Ly WFRT{2D 1 ,NAM{1D),MAT(10),W{40000),AW(40000),%AK(1D0D),TANAM(8),

y IMAT (L}, XMATOLY ) L LTANAMET) , XTANAM( T)

1930
1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090

19

20

30

40

50

50

70

20

30
120
110
128
132
140
15¢C
160
172
180
190
21
210
220
230
240
250
260
279
280
290
300
310
329
3139
340
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e Bl

bl

SO,

401

"7

3]
hN4

49
Tt

73

CONTTNT

REWINDY 1)

TRATANYGDZ2 402,407

M S8 [=1,1AN
FEADEINNNAY, (NAH(L )41 =1 ,NwAM)
O 56 L=t 4NTH™
TRIMNAMLL ) =) oMaki Y)Y 59 Ta =S
CONT N7

MZM=NT e )

MAK (NT9}=yAM ()

CUNT T 8i)F

PEWIND 7

WERTTE(2) T Iy NDT M, NTY
ARTTEL2) (BAKE) 4 I=L,07 V)

SCHYFTFET HES4Ee 577 4ATERTAL Ty

AN T L W YRS T AN
174=1

ITYALT )= 9999943
REAND(12) AT ,NT

NTA=NT

N0 ST J=1,87M
IF(MT EQ 40K ()Y 50 T4
CONT TR

=1

HNTY 59

":’)

5
o

L=1 MATE2TAL TST WTCAT 48mn

L=2 MATERTAL TST WeITERHN AIFE KEDAK
M=)

TF(INA)53,59,475

T1=

T1=11+1

REAN (1)1,5N0=67 1 NNAM, (NAM{ ), =1 ,NNAM

TRINAMT) NELHMT) 50 T 0l
TRINNAM, NEL2 ) 5 TN 5935
M=M¢ |
TRELDIM
G0 TR ANS
neoAfs 1=1,T11
RACKSPACZ10

=hAM {7}

REAN(E2Y [TTYM(K),K=1,4T)
GO TY (A3,69),L

TF(MY 70,73, 71

neo72 K=l,M

NP 73 J=1,NT

TECITYNC]) o FU. TERED(K Yy ne

CONTINYS

GNTH 72

NT=NT~1

TEC) ST NTY 6N Y 72

T

1

NER

T 74

350
163
372
LED]
3an
[aly

PR,
[0
[

-
-~
J

440
450
560
570
582
490
700
710
729

74)
%0
743
r7d
780
790
300
a1
320
230
240
350
69
372
RE-D]
390

N 75 Nz, NT
75 TIYN{H)I=TTYN{M+L)
CONT TN y™
[=9
NTI=NT

ETMEN=GEN NEYLR T/0nA% SN
ITFUTANIADA, 404,407

I1=7
Ti=T14]

REAN {9, 5NN=3 37 ) NNMAY, (MAM{S ), J=1, M)

TRE(NAM{L) JNELNT)Y 50 T 3
TFOT.FD.NAM(2)) ST L0
T=NAM(2)

00 397 TA=1,NT

TREITYN(TA) JEO, 1AM )) o

328 COMTIVUE
no 7979 M=1,NT
PRTOL =1 4NZT
TEOITYNOL) LB MUTY ()Y 5
241 CONTINUS
7o TMIN)=TYBN( )
A0 7232 J=1,NLT

TEANAME2) . EQ.00TYO D)) (O

702 CONT IMYF

V7

1

YT AT

3T 70

0

703

WRITE (NOUT,714) NAM{L) ,NAM(?)

To4 FNRMAT (' BLOICK 80D 70 DEw

A

TERIAL®, T2, 16T N1 Tvor 13,

19 HINTUZJIFUEGEN, NEX [N DRERY/Y IMRFCHNUNGSTARCL! £ NTOHT YIIRGESTHR S

2N ISTT)
GCTO 433D
TO3 NN TIN5 N=LGNT
TEATYPNIJ)LGT. TN ) G
775 CONTINUE
706 NOTIT T3=N,NT
12=NT #N+1-13
TAT TTYN(T2) =ITYNIT2-1)
TTYN(N)=NAM(2)
NT=NT+]
TF{M.FR.0) G TN 5901
NC 3003 J=1,M

TR{MAM(2).EQ. [FELDL )Y 6

3003 CONY INUFE
50 TN &)1
3004 TZA=TIA+]
TR(IZA.LT.1D) 30T 3901
WRITE (NDJYT,3302) NaM(l)
3NN FORMAT (F DAS MATEITAL ', 03
1TENy DIF ZUFRST OFLDCSCHT
6N T 4500
300 TTYA(TIZAY=MAM(?)
GN T 601
337 DO A00 J=1,T1
£°) RACKSPACE 9
406 WRITE (2) MT,NT
WRITEA(Z) (ITYN{#),K=1,NT)

™

0T

.’

INDY

TR

3304

FHTHAELT TN NER ZIACABE ¥THR ALS o Typ
DANN NFIU AJFGFA MM WEROFN SOLL FN YY)

300
911
129
30
340
ELRe]
369
A7)
IR9
990
1200
11719
132720
1330
1140
1350
1169
in7o
1389
1799
110D
1110
1129
1139
1140
1150
11690
1170
1189
1190
1200
1210
1220
1230
124)
12810
1260
1270
1280
1290
LR
1319
1320
1331
1340
1350
1360
1370
1380
1360
L1400
1410
1420
1430
1440
1450

- 8L-11 -



[aXalnl

C
C
C

1778=1 .
TIYA{IZA+1)=999739:9

SCHE ETFE UFIFR AL T TYDRFN

43 NTy=0
NP R2 JT=1,MNTA
351 READ [12) MATLL) 4 HATI2) NNy NAR, Nod Fy NK{:45
585 NTY=NTY+1
NN =NWH+2
GO TN (85,91),L
O TEINTY «GTWNT) 053 TO 92

TRIMAT(2)EQeTTYNINTY)LANNLTTYA(TZZA), ™) MAT(2 )Y 6O TN 3305

TR(MAT{ 2}, EQ.ITYNINTY)Y) GO 1) 84
92 I1TA=?
nno83 I=1,NT
TE{MAT (2).EY.ITYN{T)) 50 Tn 584
33 CONTINUFE
1TA=1
NTY=NTY~-1
3006 READ (10) NNAM,(NAM{T),T=1,NNAM)
TE(MAT {1 ) NEJNAM{L1)}) 61 TN 720
TFIMAT(2).NFLUNAM{2))Y 50 Tp 720
GN TN (85,85,3007), ITA
727 WRYTE (NOUT,721) HAT(1),MAT(2)

721 FORMAT(® BLOCK DRNPA SATI',213,' SOLL GRLORSCHTY WERDEM, ER IST ABF

1R NICHT IN OER KARRFKTEN RETHENFQOLGF [N DROPA SARTIERT V)
GO 10 4020
3005 1TA=3
177A=127A+1
GO TN 3006
2777 DO 3278 TNN=1 ,NKOMAB
TF(NWNGGTLO) RFAD (12) (MATUT),T=3,NN)}
READ (12) IDSTY
TE=TDSTH(NAR +NWE }
3008 READ (12) (W(I),I=1,1%}

FINFUEGEN ETNFS NEUEN TYPS

S84 1F(1AN) 622,622,623
622 WRITE (NOUT,624) MAT(1)

524 FORMAT(Y ES SNLL FUER DAS MATFRIAL?', I8,! FIN TYP FINGEFIEGT WERDEN

6y DER NICHT VORHANDFEN IST')
GC T7 4200

A23 READ (9) NNAM{NAM{J) ,J=1 NNAM) , NARG ,NWERT , (ARG{J) ,J=1,NARG),

1 (WERT(J) 4y J=1 ,NWERT}
TF(NAM(L) JNE.MAT(1)) GO T7O 586
TRINAM(2).EQ. ITYNINTY)}} GN TD 587
586 WRITE {NOUT,538) NAMIL),ITYNINTY ), NAM(?)
588 FORMAT(* FUER DAS MATERIAL',T18,' SOLL STATT NES TYPS!,13,
1' DER TYP',18,' CINSORTIERT WERDEN?)
GO TN 4200
587 IF({NNAM.FEN,2) N T) 583
1F(NNKD) 591,593,591
590 WRITFE (NDUT,592INAM{1),NAM(2)

1469
1470
1480
1490
1607
1510
1520
1530
1540
1559
1560
1570
1580
1590
16060
1610
1620
1630
1640
1859
1569
1670
1481
1490
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1300
1819
1820
1830
1940
1850
1360
187¢C
1380
1981
1900
1210
1920
1930
1949
1950
1969
1970
1980
1990
23090

592 FCRMAT (Y DFR NEJHINZJZUFURGENNT SATZT, 213, HAT HAMENSKIMBINATEANT
N OEREN ANZAHL TH AFRT /T ATUSSERTN FINGAST NTOHT SOFTIFI7159T w
JRDFT)

G TN 4300
591 DO 593 T=1,NNK
DO S94 J=1,2
TFINKDI, 11 NELMAM( 1)) 60 77 593
K94 CONT INUE
NKR=T7X9(1)
60 TN 595

503 CONT INUE
G0 T 590

539 NKA=0

565 NWNM=MNAM-2
WRITE (2) NAMU L) (HAME ), NWhN ARG, NWER T, NKA

TFINNAM.ENL2) 6D T 596

A7 WRTTE (2} (NAM(T),T=3,:NAM)

536 1AW=1

1INS=9

603 TFIARG(L).F).4) 57 Ta 597
DC 598 j=1,MaRG
AW(TAWI=8R7(J)

598 TAW=TAW¢]

567 NN 599 J=1,NWFRT

AW{TAN)=HERT ()
599 LAW=TAW+]

INS=INS+]

READ (9, FND=B0UINNA 4 (NUNACT Yy J= 1, 9NA ), NARAH, NEFER TO, (ARG ,

1J=1, NARS U , {WFRT(J) , J=1,NHFRTE)

DN 891 J=1,NNAM

TE(NAMUI) JNELNUNACSY] GO T 5)2
221 CONT INUE

TRINWERTE,NELNWERT) G TO 185

[F(NARGULFD. 1) 61 TN 603

TEINARGULNELNARG) 6O TO 154

G TN 633
320 1AD=0

TA=TAW-1

G0 T 624

602 TA=TAd-1
AACKSPACE 9

A4 IF(TA=-INAY)BI5, 405, 159

R05 1FINARG) 805,806,608

B06 IF(TALEQ.NWERT) 50 TO 508
WRITF (NOUT, 1861 (NAMUJS),Jd=1,4NAM)
60 TO 4700

BOR INST=TA/ {NARGHNWERT)

TR{{NARGHNWERT ) INST=14)679, 410,619

HEO WRITE (NOUT,265) [ANARG,NWERT L INAM{ I} , 0=1 N3 AN)
GM TN 4200

610 WRITF (2) TDST

TEEL=D

CALL PRINT{IDST,INEL ,INS, TEX,NNAN,NAN)
TF(IDST.GF.1) 57 Tir 2952

21119
2320
2039
2740
2153
2360
29719
2989
2399
2100
211N
2120
2139
2140
2152
2167
2170
2180
2190
2200
2219
22293
2230
2240
2250
2260
2270
2289
2290
2300
2310
2329
2330
2349
2350
2360
2370
2389
2390
2400
2410
1420
2439
2440
2450
2460
2470
2489
2490
2500
2510
2520
25319
2540
2550
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A0 OO A

Ao

2057

2382

inp2
4193

521
M9

R4

37

WK
23
20

132

374
316
313

315

WRITE (NOUT,2351)

FORMAT (' ANZAHL NER DATFNSAETZFE =7 , STATT NDRAPT MHSS NANPA VI2WEN
YTNET WERDFEN®)

GO T 4790

WRITE (2) (AW(J),1=1,14)

TE{NNAM,EQ,2) 51 T2 (5385,535,3321,30211,1TA

TECTADDI3D22, 3227,0510°
TFIITA-415R35,3321,3)121

READ(COINNAM,, (NUMATT) p =L NNAM)Y GHAGQU NWERTE, (ARSI ,0=1, NAGRY ),

TAWERT[J) 5 d=1 4 NWERTF)

NC 621 3=1,2

TEINUNATJ )L EQNAM({S)) 6N TN A2
BACKSPACF 9

GO TN (585,585,3021,3021},17TA
CONT INUE

AC 3039 T=1, NNAM

NAM{TY=NUNALT)
60 T 637
1TA=2

TTA=1 TYP IST NICHT MEHR TN TYPENLISTS FEATHA TSN
ITA=?2  TYP TST WEITFRHIM IN TYDENLISTS TNTHAL TEM
[TA=3 TYP WIRD VNLLSTAENNDIG ERSETIT

TTA=4  TY?2 WIRD ALS LETITFR HINTEN AMGREHZAT

TE{NNK} 38, 33,89

N0 86 1=1,NNKN

no 87 J=1,2
TEINKAL T, THLNELMATO D)) 60 TO 85
CONTINIE

NKB=NKOMB+T ZKO (1)

GO 1O 92

CONTINYE

NKR=NKNM 3

KN=0

IF(INAYAD3,408,407

READ (1D, FND=305) MNAM, (NAM{ ), b=1,NNAM)
TE(NNAMONELNNY 50 T 394

nn 132 31=1,2
TF(NAM(J).NELMAT(J)) 60 TN 104
CONTINUR

KE=KD+1

60 TN 499

TFIKN.FYIL0) 60 T 137

DC 313 J=1,K0D

BACKSPALE 10

GG TN 137

TEIKN,NELD) 10 T 316

1NA=0

60 TO 403

RACKSPACE 19

NKR=NK 8K 0

WRTITE(2) MAT (1] ,MAT (2) 4 NWh, NAR,NWF NK S

SCHLFTFFE JERER ALLE NAMPNSKOMARIMATINNFAN

2540
2570
258)
2590
2500
2610
25620
2630
2640
2650
2660
2670
2689
2699
2799
2710
2720
2730
2749
2759
2760
2170
2780
2790
2830
2910
2320
2330
2840
2859
2860
2370
2380
2390
2900
2910
2920
2930
72949
2950
2960
2970
2980
2999
3100
3010
31020
3130
3340
3050
3060
3079
3089
3990
3100

D oD

411
413
412

93

416
415
414

99
178
929

930

a3s
232

934
631
328

653
654
114

328

[AUS =)

N0 2462 TNN=ST , NKOM)
L.K=2

IXA=0

MIK=7

TA=0

GC TO (413,411, L
GO TO (413,412),77A
TF{NWN)ILI0,190,93
IF(NWN)3D,89,93

LESEN NDER WEITERFN HAMEN

IFCINNG.GTLL) G T 415
Ne 416 X=1,NWN
MAT(K+2)=0.

N 414 K=1,NWN
TANAM{K) =MAT (K+2)
TF=NWN+2

REANL12) (MAT(I) ,7=3,1£)
12=0

G TN (197,99),

GO TO (190,128),17A
TF(1AN)928,323,229

READ(9,ENN=934) NNAM, {NAM{ ), =1 {NNAM) NARG,NWFRT, (AR5 ()}, 0=1,N4aR5
1) CAERT )}, J=1,NWFRT)

DC 93 I=1,?

IFINAMUJ) NELMATCY) Y 50 TN 93]

CONT TNUE

NG 932 J=3,NNAM

TE( ({XNAM () =XHAT (S )/ XNAMO ) )=5.5-h) 935,535,571
TF( (CUXNAMO ) =XMAT(J)}/XNAMIJ) ) 45.F-61980,989,932
CONT TNUF

GC TN 931

MK=2

G0 TN 933

[AN=0

BACKSPACE 9

TE(TAUSL.ER.L) &N TO 3321

NK=1

IF(KNY138,138,135

REAND (10 ,ENN=328) NNAM, (NAM{J),J=1 ,NNAN)

nO 134 1=1,NN

IF(J.GT.2) G0 TN 653

TRINAM{J)JNELMAT( )Y 50 T 133

GO TO 134

1F¢( COXNAME ) =XMAT (JY)/XNAME ) ) -5, F-A1A56,554,132
TF( COXNAMOS)-XHATLA) ) /XNAMEJ) J+5,E-5)133,133,134
CONT INUF

TF{NNAM_NELNNY G} T3 133

LK=1

KD=KN~1

GC 70 120

3110
31120
3135
3140
3150
3160
3170
318n
3190
3200
3210
3220
1239
3240
3250
2260
3270
3280
32990
3300
3310
3320
3330
3340
3350
33460
1370
3380
33990
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3563
3570
3580
3590
36070
35610
3620
3630
31640
3650
3660
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[ N

im]

133 RACKSPATT 10

SUCHEY MFR HINZUYTHFGEGENDON SAFTTE
8C TA=0
138 IF(14aN)233,203,41)
41Y READ
1) {WERT( Y, J=1,NWERT)
ne 140 J=1,2?
TRIMATOL) NELNAZL )Y GO TN 329
140 CONT INGE
9713 [F(NNAM,NEL NN} 50 TD 319
IF{MNARG . NF .NAR) 61 T 145
TEINWFRTLEQ.NWE) 5N T 144
158 WRITF(NOUT,147) NWERTNWF, (NAM{J) ,J=1,NN0M)
147 FORMAT (7 BEOCK ADD ZAUL DF2 WERTF!, T4, 7 7AHL DF2
1147 FUFR DIFE NAMEN' . 2[8,6F16,.8)
GC TN 473039
145 IF(NARG.NELL) G T 154
TFIARGUT)WFDWLA) 570 T l4b
154 WRITE (NUJT,148) NARGy NAR, (MAM (]}, J=1,MNAM)
14R FORMAT(® BLICK ADD JAHL DrR ARGHIMENTFET T4, ¢
1 KEDAK ', T4/' FUER DTS NAMEMTY,278,45816.9)
60 T0 4319
210 WRITF (NOUTy 311) NNAAGNN, (MATU ) 4 )=1,NN)
311 FORMAT{Y BLOCK ADND ZAHL DER NAMENY 14, '
1y T4/t FiER DIE NAMEXN', 218,60 16.9)
GO TO 4010
379 BACKSPACSE 9
G T 203

WERTT AR KEDAKY,

TAHL OFQ

ZAHL DIR NAMTHN

146 TFRINMLFD.2) G TN 143
DC 141 J=3,NN
TF( (COXNAMUS) = XTANAM{ J=2) ) /XNAM{ ) ) -F . F-6)589,6R9,£37

AZ9 TFINNL.FD.3) 60 T 510
TE(NNGGT 3. AND L {XNAMEJ) =X TANAEI=-2) ) /XNAM ) =K. F-AL LT oD
3 SANDLEXNAMIY Y - XTANAMES=2)) /XNAML ) &R F=f (T L], )
260 TN 637
fC TO 510
A9T TFL COXMAT LS T=XNAMIS ) )/ XHMATED) 1 +5.7-6) 530,530, 6RR
6Rre TF( (UXMAT ) =XNAM(F) P/ XMAT(J) ) =5, F-5)141,141,241
141 CONTINUE
GO 7O 143
530 BACKSPACE 9

GO T 14?2
510 WRITFE (NOUT,511) J,™AMUSY, TANAM{ J=2) , INAMEKY) , KY=1,NNAM)
S11T FORMAT(* ARLOCK ADND NER T, T3, 7' —TE NAMF®,516,3,7" STRHT HINTERTY,
1F15.8/' FUFR DIF NAMEN! ,21%,A0F15.81)
60 TN 4000

FINFUESGFN RIW KARRTSIFREN NFER DATEN
241 WRITE (2)

MIK=1
TXA=1

(NAMLEY, J=3,NNAMY

(9, ZNY=53) NUA Y {NAMI) , Iml  NNAMY AT G, W 2T, (A7 T ), d=1,MA% 0

ARGUMENTE AUT

AYF KEDAK T

3679
3680
3599
1738
3719
2720
27395
3749
3751
3760
3770
2789
3790
3809
3310
3820
3330
IRGD
31850
3360
3870
3330

3390
3990
3610
3929
1930
3940
3950
3960
3970
3980
31846Q
4900
4010
4020
4330
4940
%050
49360
4379
4080
499C
4100
4110
4120
4130
4140
4150
4160
4170
4180
4190
4200

4214

lalaEa)

IA%=1

TNS=D
TE(ARGILY.FQ.AY 6
D149 J=1,NARG
AW{TAHY=ARGL )

T 151

149 TAW=TAW+]
151 PN 150 J=1,NwERT
AR(TAWY=WERT ()
150 1AW= TAW+1L
INS=INS+L
READ( I, EMN=452 )ANAM, LNURACJY g J=1 yNNAM) G NARG, NWERT, (824 (), J=), AR 0
1)y (WFRTLF) 3 d=1, 4AERT)
Nr153 J=1,NNAM
153 TEINAMEI ) GNEMUNALI Y)Y 50 Th 157
TEINNAMONELNNY 67 TO 319
TF(NWFRT NFLNWF)Y 30 T 155
TEFINARG,FQ.1) 61 T 157
TF{NARG. NELNAR) 50 TO 154
G0 10 157
452 TAD=9
152 IA=JAW-1
BACKSPACE 7
IF(TAW-TOAW) 153,158,159
159 WRITE (NOUT, 15601 TA,IDAW.{NAMI 1) 4 0=1,NNAY)
140 FORMAT(Y ZAY4L DER HINZUZUFUTGENDFN ARCHWMENTS IND WESTE =1, 15,1 71L
TAESSIG SIND NURT,T1/'  NAMEN =1,213,6F]6,83)
GC TN 4000
155 IF{NAR)LBT,187,188
137 IF(TALFOMWEY 70 TD 183
WRTITE (NOUT,296) NWE,TA, (NMAM{]),J=1,NNAY)
236 FNRMAT(1H ,* ZAHL DR ARGUMENTE=0, ZAHL NDSR JTRTC=Y,T5.1 TAHL NCR

1

183

161
265

115/7°
2FRTFEPAAR

162

2350

143

PUNKTE=? ,T5/¢
50 TO 4220
TRST=1A/ (NAR#NWT )
TFUINARENWR Y XINST-TA) 161,142,161
WRTITE(NAUT, 2651 1A, NAR yNWE, (NAM{ J) ,0=1 ,NNYM)
FORMAT (' 7AHL OFR INSGESAMYT HINZUZIFUHERENIRY
ZAHL DER ARGUM=NTF PR WERTEPAATQ =',15/¢
=1, 15/ NAMEN =',219,4516.8)

G TO 4000
WRITF (2)
IDEL="
IFX=1D

CALL PRINT{IDST, IDEL, INS, IFX,NN,NAM)
TF(IDST.GELL) GO T 2059

WRITE (NOUT,2051)

G0 TO 470)

WRITE(2) (AW{ILK),TLK=1,14A)

MIK=0
I XA=0
6N TN

FUER DTZ NAMEN',2TR, 6F1h )

ARGUMFNT S
7 AHL

¢ WERTE =1,
NF2 WERTE PRO W

InSsT

(138, 128),NK
ALLF NAMEN SIND GLETCH
TAW=1

I[XA=1
TE{NN.EQ.2) GO T2 132

4220
4230
4240
4250
4260
4273
4280
429C
4300
4310
4320
4320
4343
4350
4367
4370
41380
4390
4400
4410
4420
4430
4440
4450
A46C
4470
4480
4499
4500
4510
4520
4530
4540
4550
4560
4570
4580
4590
44600
4610
4620
46130
4640
4650
4660
4570
4680
4590
4700
4710
4720
4730
4740
4750
4760
4770
4TRN
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SO O

177
176

178

979
179

181
183

184

503
203

WRITF(2) (MAT {0 4 J=3,NN)

MIK=1

TF(ARG(L).EQ.A)

GO T3 175

DN 177 J=1,NARG
AWITIAW)=ARG(J)
TAW=TAW+ 1

NG 173 J=1,NWERT
AW{TAW) =WERT (1)
TAW=TAW+1

READ(9,END=9TF)

NNAMy (NUNATJI )¢ J= 14 NNAM ), NARG, MWFRT {4236 J)yd=1,

INARG )y (WERTUS) 4 J=1 4 NWERT)

0 189
TFINAM{J) . NELNUNACT))

J=1,NNAM
GD T3 179

CONT INUE

TF(NNAM. NELNN)
T FINWERT NE JNHWF)

50 To 31
50 TN 155

[FINARG.FD.L ) GO TN 182

IF{NARG.NFLNAR)

G TN 154

GN T 182

TAN=9

TA=TAW~1
BACKSPACE 9

TF(TA-
IFINAR)
IF(T1A.
WRITFINIUT, 186)
186 FORMAT(?

INAW) 181,181,159

183, 183,184

EQ.NWF) G0 TO 184

(MAT(J) ,J=1,NNAM)

NER SATZ SNLL VERMUTLICH ZWEIMAL FRSFTIT WFRDEN'/1X,

1218, 6F 1648}
GC T 4309
INST=TA/{NAR+NWE)

TF{(NAR+NWE) *IDST-TA)

161,203,161

DURCHSUCHEN VON DROPS

TAD=D
IL.DE=D

TF{MIK.NELD)
IFINN.EQ.2)

WRITE
MIK=1

GO 10 1004
G0 TO 1004
£2) (MAT(J)yJ=3,NN)

1064 TFOINSI1I90,1904185
185 RFAD(11,FND=490) NNAM, (NUNA{J),J=1,NNAM) {NARG, (ARG(J) s 4=1,

275
276
202

488
486

INARG)

00 202 J=1,NNAM

[F(J.6T.2)
TF(MAT(J ) NE JNUNATY))

GO 1O 275
G0 T 190

GC 7O 202

1Ft(
TE(

COXMAT ()= XNUNACINY/XMAT(D) ) =5 .F=6)2T5,275,190
(OXMAT (I I=XNUNAL D)/ XMATU 1) #5.6-6) 190, 16C,202

CONTTNUF

IFINNAM.EQ.NN)

WRITE

FORMAT(!
15/°

1ty

50 TO 485

(NDUT +486) NMAM, NN

BLACK NRNAPS ZAHL DER NAMENY,I5,!
FUER DIFE NAMEN',2183,6F16.8)

ZAHL CER NAMEN AUF KEDAK

GC TO 4309

4790
4300
4310
829
48739
4840
4850
4860
4370
4380
4890
4300
4910
4920
4930
4940
4950
4960
4970
4980
4990
5900
5010
5020
5930
5940
5050
5960
5970
5080
5090
5100
5110
5120
5130
5140
5150
5160
5170
5180
5190
5200
5210
5220
5230
5240
5250
5260
5270
5289
5290
5300
5310
5320
5330

[N eXe]

OO0

485

454
497
1

189

490
190

129
200

1g8

904
905

204
205

614
215
1
207
206

TF(NARG.NELL) 6N T 189

TF{ARSII ) .NELA) GO 7O 1839

TFU{NARG-L1)JNEJNARY G T 154

LCE=1

GC 7D 199

WRITF {(NNUT, 487) NARG,NAR, (NAM{JI),d=1,NNAM)
FORMAT(Y BLOCK DROPS ZAHL NER ARGIMENTFY, T4,
UF KFDAK ', T4/ FUFR DIE NAMENT ,278,6F146.8)

GC TO 4002
IF(NARG. NELNARY}
LUE=1

GC TO 19D

ZAHL

GO TO 454

EINSORTIEREN UNND LOFESCHEN DER DATEN

Ins=90

READ (12} NDAT

TFUINARENWE ) *NNAT+IA-JTTTT) 198,198,193
WRITE(NDUT ,200) (MAT (J ), Jd=1,NN)

FORMAT(! MEHR ALS 4D000 WERTF ENTHAELT DFR SATZ'/1X,218,6E16.8)
GO TO 4230

12=(NAR+NWE)*NDAT

READ (12) (WU J),J=1,12)

GO TO (242,904),L

G0 TO (262,905),1TA

TFILK.EQ.L.ANDNNLGTL2)  MAT(3)=0.

TF{LKaEQal AND.TNNe FQuNKOMB. ANNL NKB. GT JNKNIM3)
TF(LK.EQ.1) GD TN 242

3 TO 3MAN

W ENTHAZLY DIf NATEN DER KFRNDATENAIBLINTHEX
AW ENTHAELT DIE DATEN AUS ADD
LOE =0 DROPS ENTHAELT KEINEN
LOE =1 ES WIRD GELOJESCHT

LOES CHSATZ

I 1=NAR+NWE
TAW=1
TDEL=)
TF(LOE) 204,303,204
LCESCHEN DER DROOS—DATEN

CCNTINUE

IF {NAR) 205, 206,205

DC 207 J=1,NAR

TFIW({J+T AW-1) %0, 999995-ARG( J))I6144614,215
TF(W(J+TAN-1)*1.000005-ARG(J))213,4 207,207
TRF{ABS{{ABS{W(J+IAW-1) ) ~ABS (ARGULJ) })/ABS(W(J+TAW-1})})~5.E-6)207,
207, 255

CCNTINUE

13=12-11

TF(13-1AW)208,208,214%

214 DO 209 J=TAW,I13
209 W(J)=W{1+I1)

208

12=13

NODAT=NDAT-1

255

TCEL=1DEL +1
TAW=TAW-11

NFR ARGUMENTE

5340
535D
5360
5370
5380
5390
5400
5410
5420
5430
5440
5450
5460
5470
5480
5490
5500
5510
5520
5530
5540
5550
5560
5570
5580
5590
5600
5610
5620
5630
5640
5650
5660
5670
5680
5690
5700
5710
5720
57301
5740
5STS0!
5760!
57113
5780
5790
5800t
58101
58201
5830
5840
5850Q)
58601
58701
5880}
5890)
59004
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DTOO

217
278
211

212
213

206

201

229

763

REAN{LL, END=903) MNAM, [NUMA L) s =1 ,MNAMY (NARS (ARG () , J=1 NARG)
Nno 211 J=1,NNA&M

IF(J.6T.2) 60 17 277

TE(MAT LS ) LNE JLNUMALD Y)Y 6O TN 303

6D TH 211

17¢ (OXMAT CII=XNUNAL J)) /XMATLJ)) ~5.F-4) 278,278,392

TF( (OXMAT (JY=XNUNATI) Y/ XMAT (D)) 45,5-6)303, 301,71

CONTINUF

TFINNAMNELNND GO T 488

TF{NARG.NE.1) 6D T0O 212

TFARG(L).NELA) G0 TO 212

TFLINARG-1 ). NEJNARY GD TN 454

60 1O 213

TF{NARG.NFE,NAR) GO TO 454

TAW=TAWe 1

TFITAN=TZ) 204,204,303

105=0

ETINFUFGEN DER ADD-DATFN

IF(INS.GT.0)  BACKSPACE 11
1EX=0

INS=0

IF(IXA)305,226,306

IAW=)

J=1-11

J=J+11

IF(J-12) 228,226,229
TF(IAW.E0.TA) GO TO 224
1K=0
J1=J+IA-TAW-1
1E=0

NC 239 13=),J1
IK=IK +]
IF=TF+1
TF(IFLNF,IL)
INS=TINS+1

1F=0
W{I3)=AW (TAW +1IK )

12=J+1A-1AW-1

NDAT=NDAT+{TA-IAW)/ 11

Gr TN 224

1K=0

IFINAR)?216,217,216

DO 218 T3=1,NAR

IFIW{I413~1) %D,999995-AW{TAWH+T 3) ) 761 4761,762
TR{W(J+T3~1)%1.000005-AW(TAW+13)1201,220,22)
TFIW{J+TI3~-1).FQ.0) GO TN 7564

GO Ta 230

TF(ABS{(ABS{W{J+1I3~1))1-ABS{AWITAWHTI3) ) ) /ARSTIW(J+TA-1) ) }-5.E-6)1220,
1220,763
764 TE(ABS{IARS(AWITANHI3))=A8SIW(HT3-1) 1)/ ABS(AN(TAWHTR Y} )=-5.F-6)
1220,220,763

[2=12+1
DO 221 1F=J,12
12=1Z-1

5919
59210
593¢
5940
5950
5960
5679
5380
5990
5000
6010
60240
6030
6040
6050
6060
6070
£280
6090
6100
6110
61273
65130
6140
£150
5160
61730
6180
6190
6200
6210
6220
6230
6240
6250
4260
6270
6280
6290
6300
6310
6321
6330
6340
6350
6360
6370
6380
4390
6400
6410
6420
54130
6440
6450

220
218

217
223

224
238
239

226

2082

3002

WITI+TZ)=W(12Z)

CONTINDE

17=9

TL=T1+4~1

NG 222 TeE=J, IL

12=17+1

WITE ) =AW (TAR+TZ)

INS=TNS+1

12=12+11

NDAT =NDAT +#1

TAR=TAW+r1I1

TRITAW.ZQ.TA) G TD 224

G0 TO 20

IK=1K+1

CONT TNUFE

TRUIKWGNEWNAR) 67 TR 201

e 227 13=1,T11

WJ+T3-1) =AW (1 AW+]3)

TEX=T1FEX+1

TAW=TAW+T]

IFUTAR .ZDL.IA) GO T 224

G TD 201

Dt 223 J=1,\NWE

W{J)Y=AW{J)

TEX=TEX¢]

TF(NDAT) 225,238,226
WRITFINOUT,239) (MAT (J),J=1,NNAM)

FORMAT(Y TN DER KERNDATFNBIRLTNTHEK IST NER SATZ NICHT
1DFENT/213,6F16.8)

GO T0 4370

WRITF(2) NDAT

CALL PRYNT(NDAT, INDEL, INSy IEX 4NN, MAT)
TF(NDAT.GE.1} 50 Tn 2053
WRITFE {NDUT,2051)

GO TN 47))

I13=11%NDAT

WPITE(2) (W{Jd),d=1,73)
TFINN.EQ.2) GO TN 3021
TE(INNLFEQ.NKOMAB, AND JNKB . GT JNKOMA )
GO TN 242
NKOMB=NKNMB+1

TAUS=1

XMAT(3)=1.E70

G0 T 123

50 T3 3000

BEREITS VARHANDFNE NATEN KNPTIEREMN

WRITFE (2) {MAT(J),J=3,NNAM)

MIK=1

I1XA=0

GO 70O 223

CONT INUE

ENDE DER NAMENSKOMBINATIONSSCHLF IFF

TRF{JT.LTW.NTA)Y GO TH 82

MEHR VAORNHAN

65460
6470
6480
A490
6503
6510
6520
6520
5540
6550
6560
6570
6580
£590
6500
6610
66219
66320
6640
6650
6660
6ETD
£680
~690
6700
5710
6720
5730
5740
6750
6760
6770
6780
AT790
£800
6810
6829
£830
5840
£850
65860
6870
63980
68919
6900
6910
6920
6930
5940
6950
5360
6970
6980
6990
7000
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el

Y

laleleNel

300

3188

385

386

384

302
383
287

34
212

391

340

TRUOTLEQNTALANNDNTLEQNTY)Y 50 TN ”?
NTY=NTY+1

1TA=4

GO TN 584

CONTINUE

ENDE NER TYPENSCHLETFE
CONTINUE

ENDF DER MATERTALSCHLFIFE

HINZUFUEGEN NFEUER MATERTA{NAMEN
TF{IADEQ. D) 50 T 391

READ (9, FND=301) NNAM, (NAM( J 1, J= 1, NNAY) ,NARG ,NWIR T, (ARGL D),
14=1,NARG ), (WERT{J}, J=1,NWFRT}

N=1

TFELDU L) =NAM( 2)

RFAN{I yEND=302) NNy (NUNA(J), J=1, NN}, NARJNWE, LARGIJ), J=1,NAR),
L{WERT{ ) yJ=1 4 NWF)

p=M+]

TF{NAM{1 ) NEJNUNA(LY)Y 6D TD 383

TFINAM{ 2 ) NF.NUNAL2)) GN TN 384

IF(NN,FQNNAM) 5D TO 335

WRITF (NNUT,386) (NAM(J),J=1,2)

FORMAT (* 8LOCK ADD FUER NIF NAMEN®,218,' IST NTR ANZAHL DER NAMEN

LUNTERSCHIEDLICH! )

GO TN 4000

N=N+1

IFFLN(N) =NUNA{(2)

NAMU 2)=NUNA(2)

NRAM=NN

GO0 TO 385

M=M+]

NO 387 J=1,M

BACKSPACF 9

WRITE (2) NAM(1),N

WRITE (2} (TFELD(IY ,I=1,N)

DC 315 [=1,N

REAN (9) NNAM, (NAM{.J) ¢ J=1,NNAM), NARGyNWERT , (ARG(J) yJ=14NARG),
1(WERT(J)y =1y NWFRT)

NWN=NNAM=-2

NNK=0

TE(NWNL.EQLO)Y 6N TO 390
TFINNKOLNELD) GO TO 391

WRITE {NNUT, 312) NAM{1),NAM{2)

FORMAT (' FUER DIF NAMEN® 278, 1 WFROFN NAMFNSKOMIINATIONEN HINZUGEF
LUFGT , NHNE DASS SIF IN NER ASUSSEREN FYNGABE SPEZTFTZIERT WURNEN?
2)

GC T 437

DN 340 J=1,NNKD

TFINKO{1,J) NEJNAM(LY) GO TO 340
TF{NKN(2,J).EQ.NAME2)) G0 TR 393
CONT INUE

GC TN 314

7710
7320
7030
7540
7150
70460
7170
7089
7090
7100
7110
7120
7130
T140
7150
7160
7170
7180
7193
7200
7210
7229
7230
7240
7250
7260
7270
7280
7299
7300
7310
7320
7330
1340
7350
7360
73790
7380
7390
7400
7410
1420
7430
7440
7450
7460
7470
7480
T490
7500
7510
7520
7530
7540
7550

393 NNK=TZKO{J)
190 WRITE (2) NAMIL1) oNAM(2) g NWhy NART yNWFRT 5 NK
TFINNK.EQ.D)  NANK=]
D 315 4=1,NNK
IF{IaD.E2.03) 63 Y0 321
IF{NNAM,FQ.2) 6N TD 294
WRITE (2) (NAM(K),K=3,NNAM)
396 IAW=1 °
372 THIARGIL).EQ.A) 50 T 317
N0 318 K=1,MARG
AW{I AW )}=ARG{K)
218 TAW=TAW+]
317 DN 319 K=1,NWFRT
AW (T AW)=WERT {K}
319 TAW=TAW+1
REAN{I,END=323) NN,y INUNA{K)}yK=1y NN}, NAR,NWF, (ARG(K]},K=1,NAR]),
T{WFRT(K) ,K=1,NWE)
00 320 K=1,y2
TFINAMIK)MEJNUNA(KDYY GN TO 32)
320 CONTINUE
TF(NMNLFQL2) GO Tn 378
DO 330 K=3,NN
IF( COXNAMAIX )= XNIUMALK ) )/ XNAM(K Y ) =-5,.F-6) 385,355,329
265 TF{ COXNAM{K) - XNUNACK) )/ XNAMIK) Y +5,.5-41323, 329,339
220 CONTINUE
GC TN 378
326 TM=2
GO T 331
TR IFINWERT JNFLNWEY 67 TN 155
IF(NARG.EQ.1) 50 T 322
IF{NARG.NELNARY GO TN 154
Ge TN 322
323 1AD=0
321 IFIJ.EQ.NNKY GO TO 333
WRITE (NOUT,334) (NAM{K) ,K=1,NNAM)
334 FORMAT (' IN DFR BLNCKEINGARE SIND MEHR NAMENSKOMBYNATTIONEN FNTHALT
1EN , 4LS IN NNKO ANGEGESEN WURNDE' /' FUFR NDIE NAMEN',218,6F16.8)
GO TN 4320
3133 BACKSPACE 9
TM=1
331 IA=TAW-1
IF{TA-TDAW) 324,324,159
324 TF(MARG) 325,325,326
325 1F(TA.FQ.NWERT) 660 TO 326
WRITF (NOUT, 186) (NAM{K) ,K=1,NNAM)
GC TN 4000
326 IDST=1A/(NARG+NWERT)
TF({NARGHNWERT ) =[NST-1A)161,327, 1561
327 WRITE (2} 1IDSTY
WRITFE (2} (AW{K),K=1,1A)
INFL=D
CALL PRINT{INST,INFL,INST,TNFL,NNAM,NAM)
GD TN (315,360), IM
A60 DO 332 K=1,NN
332 NAM{K)=NUNA(K)

7560
7570
7580
7560
7600
7610
7620
7430
7640
7A50
7660
1670
7680
7690
7700
7710
7720
7730
1740
7750
7760
7770
7780
7792
7300
7310
73820
7830
7840
7850
78610
7870
7380
78390
7900
7910
7920
7930
7940
7950
7960
7970
7980
7990
8200
8010
3020
8030
8040
83050
3360
3070
3080
8090
8100
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aNelel

315 CrMTINUS 3119 [1=2 150

Gn TN 339 8120 REWIND 11 160

371 RETUEN 3130 IFILE=14 170

4000 STNPS 3140 DEFINE FILE 14(3950,880,U,K8) 180

END 8150 KLZ=0 190

JJd=1 200

IS=1 210

DO 701 1=1,NSZ 220

701 SATZ(1)=0. 230

DO 750 1=1,3950 249

SUBROUTINE PRINT(IDST,IDEL INS,TEXsNNAM,NAM) 10 K=1 250

REAL#*8 MATNA(200),TYPN{100},A/"XY123%/ 20 750 WRITE(IFILE'K) (SATZ(J)sJ=1,NSZ) 260

DIMENSION NAM(10) ,NUMA{200) 4NUTY (100) 30 c 270

COMMON MATNA , TYPN,NUMA JNUTY  NZZM,NZT,NOUT 40 C EINLESEN DER ERKLAERUNGSSAETZF 280

DO 2040 I=1,NZZM 50 C 290

IF(NAM(1).EQ.NUMALL)) GO TO 2041 60 READ (NF6) (ISATZ(I),I=1,3),NMAT 300

2040 CONTINUE 70 CALL ZEIT(ISATZ(4)) 310

2041 DO 2042 J=1,4NZT 80 ISATZ(5)=NZM 320

IFINAM{2).FR.NUTY(J)} G0 TO 2013 90 ISATZ{8)=NZT 330

2042 CONTINUE 100 ISATZ(6)=1 340

2013 IF(MATNA(I).EQ.A) GO TO 1 110 ISATZ(T) =14 350

WRITE (NJUT,2) MATNALI) 120 ISATZ(LL)=NMAT 360

2 FORMAT(LHL/' NUMBER OF RECORDS?', 22X, 'FOR MATERIAL',A9/!? AVAILABL 130 N=ISATZ{5)%3 370

LE  DELETED INSERTED EXCHANGED® /) 140 M=ISATZ(8)*3 380

1 IF(NNAM.GT.2) GO TO 3 150 M=N+M+13 399

WRITE (NOUT,4) IDST,IDEL,INS,IEX,MATNA(I),TYPN(J} 160 J=M/NSZ 400

4 FORMAT(219,111,110,2X,2A10, 4E16, 8} 170 ISATZ(12)=J+1 410

GO 10 5 180 ISATZ(13 )=M-J%NSZ+1 420

3 IF(NNAM.GT.6) GO TD 6 190 I=N+#13 430

WRITE (NOJT44) IDST,IDEL, INS,TEX,MATNACT),TYPN{J), (NAMIILK) ILK=3, 200 J=1/NSZ 440

INNAM) 210 ISATZI9) =J+1 450

GO TO 5 220 ISATZ(10)=1-J*NSZ+1 460

6 WRITE (NOUT,7) IDST,IDEL, INS,IEX,MATNAUI),TYPN{J)y (NAM(ILK),ILK=3, 230 K=14 470

1NNAM) 240 L=1 480

7 FORMAT(219,111,110,2X,2A10,4E16.8/61X,4E16.8) 250 LL=1 490

5 A=MATNA{ 1) 260 MM=1 500

RETURN 270 NN=1 510

END 280 DO 200 J=K,I 520

GO TO (201,202,203),LL 530

201 ISATZ(J)=MATE(MM) 540

MM=MM4 1 550

=2 560

60 TO 2970 570

SUBROUTINE PO1TO1 (MATE,NYP) 10 202 ISATZIUJ)=MATE(MM) 580

20 MM=MM+1 590

PROGRAMM ZUR ERSTELLUNG DER KERNDATENBIBLIOTHEK 30 LL=3 . 600

40 GO TN 200 610

REAL*8 MATNA(200), TYPN(100) 50 203 ISATZ(J)=NUNA(NN) 620

DIMENSTON SAT Z(40090), ISATZ(42000),MAT(B80),NOTYP{88D}, 60 NN=NN+1 630

IXNAM(10) ,X{40000),15UMI880) ,MATE (400),NYP(200) 70 LL=1 640

COMMON MATNA,TYPN,NUNA{200),NUTY(100) 4NZM,NZT,NCUTP NF6 80 200 CONTINUE 650

EQUIVALENCE (SATZ(1),ISATZ{1)) 90 GO TO 204 660

ITTTT=40000 100 28 L=l 250

NSZ=880 110 MM=1 680

NUM=NSZ+ 1 120 NR=1 690
WRITE (NOUTP, 1} 130

1 FORMAT(1HL/* PROGRAMM 01701°%) 140
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207

208

205

204
27

/00

25

404

495

iaNeNal

DO 205 J=K,!

GO YO (206,207,208),LL
ISATZ{J)=NYP (MM)
MM=MM+ ]

LL=2

G0 TO 235
ISATZ{J)=NYP (MM}
MM=MM4 |

LL=3

GO T0D 205
ISATZ () =NUTY{NN)
NN=NN+1

Li=1

CONTINUE

ND=0

TF{I-NSZ15,6,7

N=1

GO 10 8

N=2

WRITE {NOUTP,3001}IS
WRITE(IFILE*IS) (ISATZ(J),J=1sNSZ)
FORMAT(318)

ND=ND+1

1S=15+1

K=1

GC T (9,251 4N

DO 26 J=NUM,I
Kw=J=NSZ

TSATZ(KW) =ISATZ ()
I=1-NS2Z

GC TO 27

K=T+1

L=L+}

1=M-ND%NSZ
IF{t-3)28y404,404
IBR=K~1

MIK=K
IF{1BR)4,4,405

J=1

WRITE (NDOUTP, 800} IS,J,IBR
WRITE (IFILE'IS) (ISATZ(J),J=1,18BR)

LESEN DER BAENDER KNDT

IBR=0

IPS=0

IRS=0

READ (II, ERR=300) KSI,KSI,KK
KLZ=KLZ+1
READ(TI,FRR=300}(MAT{L),L=1,KK)
KLZ=KLZ+1

DO 10 KMAT=1 KK

READ (1@, ERR=300) MATN,NTYP
KLZ=KLZ+1
READ{TI+ERR=300)}{NDTYP{]),1=1,NTYP)

700
710
729
730
749
150
760
770
780
790
800
810
820
8390
840
850
860
870
880
390
900
310
920
930
340
950
960
971
980
990
1000
1010
1320
1030
19340
1950
1960
10792
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1290
1210
1220
1230
1240

[aReNaNel

12

13
14

17

16

991

900

302

69
38

31

30

KLZ=KLZ+1
DO 15 ITYP=1,NTYP

READ (IT, FER=300) MATNyNTYPA,NWN,NA,NW,NNK

KLZ=KLZ+1

ND=NA+NW

TF(NWNIL2,12,13

NNK1=1

GO TO 14

NNK] =NNK

DO 15 INK=1,NNK1
[F{NWNIL6, 16,17
READIII,ERR=300) (XNAM{I),I=1,NWN)
KLZ=KLZ+1

READ (11, FRR=300}) NOAT
KLZ=KLZ+1

I12=NDAT%ND

IFITI2.LELITTTT)Y GO T9 900
WRITE (NQUTP,901) 12,ITTTT

FORMAT(' DIF ANZAHL DER ARGUMENTE + WERTE 1ST GLEICH',I7,' UND SOM

LIT GROESSER',IT7)

sSTOP

READ{II+FRR=300) {X{1},I=1,12)
KLZ=KLZ+1

EINSPEICHERN DER KNDT-DATEN

SCHREIBEN DES BLOCKFS DER TSOTOPENNAMEN

Kv=1

WRITE (NOUTP,302) KV, INK, ITYP,KMAT ,JJ
FORMAT (1M ,4HKV =13,2X,5HINK =13,2X,6HITYP =13,2X,6HKMAT =13,

12X y4HJJ =13}
IFIINK-1)69,69,73
IFLITYP~1)38,138,4]1
K=MIK
ISATZ{K)=MATN
ISATZ(K+1)=NTYP
IF{KMAT*jJ-1)30,30,31
IR=ITR

IK=1TK

GO 1D 115

J =NMAT %4

I=K+J

J=T/NSL

IR=IS+J

ITS=IR

IK=1-J*NSZ
ISATZ{K+2)=IR
ISATZ(K+3)=1IK
NR=0

LR=IR

M=K

K=K+4

MIK=K

L=K~-1
IFIL-NSZ134,435,36

12590
1260
1270
1280
1290
1300
1310
1320
1339
1340
1359
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
15630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
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35
36

37
121

120

122

39

40

34
116

118

119

117
123

141

124

125

41

303

42

43
44

N=1

GC TN 37

N=2

IF(KMAT*JJ=-1)120,120,121
READ(TFILE*IS) (ISUMII),I=1,NSZ)
JA=M~1

WRITE(IFILETIS) (ISUM{TI),I=14JA),(ISAT7{I),I=M,NSZ)
I=NSZ

WRITE INNUTP,B00)ISsM, I

M=1

GO T 122

WRITE(IFILETIS) (ISATZ(I),T=1,NSZ}
WRITE (NOUTP,B00}IS

1§5=1S+1

K=K-NSZ

GO TO (141,39),N

DO 40 J=NUM, L

KW=J-NSZ

ISATZIKW)I=ISATZI(J)

L=L-NSZ

IF(IS-1YS)116,1164117
READ(IFILEYIS) (ISUMITI),T=1,NSZ})
IF{M-1)118,118,119

WRITE(IFILE®IS) (ISATZ(IV,I=1,0L),(ISUM(T),TI=K,NSZ)
I=1

WRITE (NOUTP,B800)1S,1,L

GO 7O 141

N=M-1

WRITE(CIFILEYIS) (ISUMCT),I=1,N),(ISATZ(T},T=M,01),(TSUMIT),TI=K,NSZ

WRITE (NOUTP,8003ISM,L

GG 70 141

TF(M-1)123,123,116
WRITE(IFILE*IS) (ISATZI(I),I=1,1)
I=1

WRITE (NOUTP,800)11S,1,L
IF(KMAT*JJ-1) 12441244125

IRA=TS

GO TO 41

TRA=ITR

SCHREIBEN DES BLOCKES DER TYPNAMEN

KV=2

WRITE {(NOUTP,303) KV
FORMAT (1H ,4HKV =13)
ISATZ(IK }=NTYPN
ISATZ(IK+1) =NWN
ISATZUIK+2)=NA
ISATZ(IK+3)=NW
TFINWN}&2,42,43
ISATZ{IK +4)=NDAT

GO TO 44
ISATZ( IK +4)=NNK
IF{ITYP-1}45,45,46

1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1950
1960
1970
1980
1990
2000
2019
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340

[aXale]

45

46

99
98
48
49

50
173

T4

76

52

11

47
95
78

32

33

96

51

J=NTYPxT

1=1K+J

J=1/NSZ

ITR=IR+J

ITK=1-J%NSZ

ITN=TTR

ISATZ(IK+5})=1ITR

ISATZ{IK46)=1TK

J=1K

IK=1K+7

L=1K~-1

IF{IR-IRA)Y8,99,38

NR=IR

IF(L=NSZ)47,48,49

N=1

GG TO 50

N=2

IF{IR=-NR)T4,173,74
READ(CIFILE' TR) (ISUM{I),I=1,NSZ)
K=J-1

WRITE(IFTILE'IR) (ISUMII),I=14K)y (ISATZ{I), I=J,NSZ)
I=NS 2

WRITE (NOUTP,BOD)}IR,J,1

GO TO 76

WRITECIFILE'IR) (ISATZ(I),1=1,NS2Z)
WRTITE (NOUTP,800)IR

IR=IR+1

IK=IK-NSZ

GD TO (51,452),N

DO 11 N=NUM,L

KW=N-NSZ

ISATZIKWI=ISATZ(N)

L=L-NSZ

J=1

IF(IR~NR )95, 78,95
IF(IR-ITN)96,78,96
READITIFILE'IR) (ISUM(T),I=1,NSZ)
K=J3-1

M=L+1

IF(K)}32y 32,33

WRITE (IFILE*TR) (ISATZ(1),1=J,L ), (ISUM(T),I=M,NSZ)
WRITE (NOUTP,B800)IRsJ4L

NR=IR

GC 7O 51

WRITE(TFILE* IRI(ISUMIL) yI=1oK)o{TISATZ(I) yI=dy0L )y (ISUM(I),1=M,NSZ)

WRITE (NOUTP,+800)IR,J»L

GO 70 51

WRITE(IFILE' IRM{ISATZ(I),I=1,4L)
I=1

WRETE {NOUTP,800)IR,1I,L

NR=1R

IF(NWN)82,82,53

SCHREIBEN DES BLOCKES DER WEITEREN NAMEN

2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
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53 IWNK=[TK
IWNR= TR
73 ITH=IWNK
DO 54 J=1,NWN
SATZ{IWNK)=XNAM{J)
54 [ WNK=TWNK+1
ISATZ{IWNK)=NDAT
IF(INK=1)55455,56
55 J={NWN+ 3} *NNK
T=J+1TW
J=I/NSZ
ITK= I-J*NSZ
ITR=TWNR+J
56 ISATZ(IWNK+1)=ITR
ISATZ{ IWNK+2)=1TK
T WNK=] WNK+3
L=TWNK~1
ITF{IWNR-NR)}85,86,85
86 IRS=T1WNR
85 ITF{L-NSZ)384y58,59
58 N=1
GO TO 60
59 N=2
60 IF {ITW-1)80,79,80
80 READUIFILE* IWNR) (ISUMII),I=1,NSZ)
J=1THW-1
WRITE(TFILE! IWNR)(I SUMII) yT=14J) ,(ISATZ(I)4I=1ITW,NSZ)
GC TO 81
79 WRITE (IFILE* IWNR) (ISATI(I),I=1,NSZ}
81 TWNR=TWNR+1
TWNK=TWNK~NS Z
ITH=1
GC TO {82,62)4N
62 DO 63 N=NUM, L
KW=N~NSZ
63 ISATZIKWI=ISATI(N)
L=L=-NSZ
84 IF(IWNR-IRS)57,33,57
57T IF{IWNR-IBR)397,83,397
397 IF{IWNR-IPS)97,83,97
83 READITFILE® IWNR) (ISUMIT),I=1,NSZ)
J=1TW-1
K=l +1
IF{J)102,102,101
101 WRITE(IFILE* IWNR)Y [ISUMUT) I=15J),(TISATZ(T),I=1ITW 4L}, (ISUMII]),
LI=K,NSZ)
GO 10182
102 WRITE(IFILE*IWNR) (ISATZ(I)sI=ITW 4L ), (ISUMII),I=K,NSZ)
GO TNl182
97 WRITE{IFILEY TWNR) (ISATZ{I}4I=1,1)
182 TRS=TWNR

SCHREIBEN DES BLOCKES DER DATEN

82 J=NDATEND

2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3010
3920
3030
3040
3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440

61

64

65

87
88
287
67
68
70
S0
126

127

91

71

72

66
93

103
104
114

92

112

111
113

15
10

TF{INK-1)61,61,64

IBR=ITR

IMK=0

IB=1TK

Do 65 I=1,J

SATZ(ITK}=X(T)

ITK=1TK+1

L=1TK~-1

IF(ITR-IPS)B7,88,87

IF (ITR-1RS) 287,88, 287

IMK=TTR

IF{L-NSZ166,67,68

N=1

GC 70 70

N=2

IF(ITR-IMK)126,90,126
IFUIB=1)1264126,127
WRITE(IFILEYITR) {SATZ(I)yI=1,NSZ)
GO 70 91

READ (IFTLE*ITR) (ISUM(I),I=1,NSZ)
J=18-1

WRITE (IFILE*TTR) (ISUMIT) I=1,J)y(SATZ(I),I=1R,NSZ)
ITR=ITR+1

ITK=TTK-NSZ

IB=1

GO TO (15471) 4N

DD 72 N=NUM, L

KW=N-NSZ

SATZ (KW =SATZ(N)

L=L~NSZ

GO T0287

IF(ITR-IMK)}92,93,92

READ (IFILE*ITRI(ISUM(I),TI=1,NSZ}
J=1B-1

K=l +1

IF(J)123,103,104

WRITECIFELE'ITR) ( SATZUI),I=IB,L){ISUM{I),1=K,NSZ)
GO T0 114

WRITE{IFILE*ITR) (ISUMCI)1=14J)(SATZ(T)},I=1R,L), LISUM(]),I=K,

INSZ)

IPS=ITR

GO TO 15

J=18-1

READ (IFILE*ITR) (ISUMII),I=1,NSZ}
IF(JI11L,y 111,112

WRITE(IFILE* ITRILISUM(I)oI=1,J), {SATZ{D),I=IB,L}
GO TO 113
WRITE(IFILE*ITRI(SATZ(TI),I=1,L)
IMK=TTR

1PS=1TR

CCNTINUE

CONTINUE

KV=5

3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3590
3600
3610
3629
3630
3640
3650
3660
3670
3680
3690
3700
3710
3720
3730
3740
3750
3760
37170
3780
3790
3800
3810
3820
3830
3840
3850
3860
3370
3880
3890
3900
3910
3920
3930
3940
3950
3960
3970
3980
3990
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300

301
305

11
12
14

13

109

WRITE (NOUTP,303) KV
GN TO 305

KLZ=KLZ+1

WRITE (NOUTP,301} KLZ
FORMAT (1HO,S5HKLZ =16,16H
RETURN

END

ERROR IN 01701)

SUBROUTINE PO1T751

DIRFKTE AENDERUNGEN AN DER KERNDATENBIBLIOTHEK IN DIRECT ACCESS
SCHREIBWEISE

REAL*8 F,IFE, IFEL,MATNA(200),TYPN(100},FFEST{4)/5HADD ,SHDROPS,
15HDROPA, SHENDE /

DIMFNSION FELD{880),IFELD({880),3(880),ARG(10) ,NUNA(200)NUTY{100),
LIDENT(3),A{2000),1A(2500)

DATA IDENT/*KEDA','BIBL*,"IOTH'/

COMMON MATNA,TYPN,NUNA,NUTY 4 NIM, NZ Ty NOUT 4 NF

EQUIVALENCE (FELN(L1),IFELD(L)), (ARG(L),F), (ARGI(3),1FE}, (ARG(5),IFE
1), (a1, TA{1))

CALL FSPIE

KE=1

NSZ=880

DEFINE FILE 1 (3950,880,U,K8)
READ (MF) TAU,IBA

CALL ZEIT(NDTUM)

1s=1

READ (KE'1) (FELD{(I),I=1,NSZ)

DO 11 I=1,3
IF(IFELD(T)LNELIDENT(I)) 60 TO 12
CONTINUE

GO 70 13

WRITE (NOUT,14)

FORMAT(' DIE DD-KARTE FUER FEINHEIT 1 BEZEICHNET KEINE GUELTIGE KER

LNDATENBIBLIDTHEK ')

STOPS

IFELD{4)}=NDTUM

WRITE (KE'1) (FELD(I},1=1,NSZ)
IF(IAUIL, 1,2

IL=NF

READ (IL) ND,t(A(I),1=1,ND}
TF{ND.LE.2000) GO TO 3

WRITE (NOUT,4) ND

FORMAT{1IH ,* EINGABESATZ ENTHAELT',I5,'
STops

ARG(1) =A{1)
ARG(2)=A(2)
IF(F.EQ.FFEST(4))
IFALL=0
NNAM=TA(TFALL +3)

WORTE')

G0 TO 1

4000
4010
4020
4030
4040
4050
4060
4070

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
210
280
290
300
319
320
330
340
350
360
370
380
390
400
410
420
430

[aBsNeXeRnl

99

i0

150

15

17

16

18

20

19

100

21

22

24

ARG(3) =A{IFALL+4)
ARG{A4)=A(TIFALL#*5)
IF(F.EQ.FFEST (3} ANN.NNAM.EQ,1)
ARGIS5)=ALIFALL+6)
ARG(6)=A{TFALL+T)
IF(F.EQ.FFEST(3)}) GO TO 99
NARG=TA( IFALL+NNAM+6)
IF{F.NEL.FFESTI(1)) GO TO 99
NWERT=IA(IFALL+NNAM+T)

DO 5 I=1,3

IF(F.EQ.FFEST(I)) GO TO 6

CONT INYE

WRTTE (NOUT,10) F

FORMAT(1H ,49,' UNERLAUBTER BLOCKNAME®)
STOPS

GO TO 99

AUFSUCHEN DER GEWUENSCHTEN DATEN IN DER KERNDATENBIBLIDTHEK
AUFSUCHEN DES MATERIALNAMENS

IF(IS.EQ.1)
15=1
READ(KE' IS} (FELD(T ), I=14NSZ)
DO 15 I=1,NIM
TF{IFFL.EQ.MATNALI))
CONTINUE

WRITE (NNUT,17) IFF
FORMAT {1H ,* DAS MATERIAL', A9, ' IST NICHT IN DER NAMENZUORDNUNGSTA
1BELLE DER KERNDATENRIBLIOTHEK ENTHALTEN')

STOPS

MAT=NUNA(T)

IF{F.EQ.FFEST(3) . AND.NNAM.EQ,1) GO TO 100

DC 18 I=1,NZIT
IFCIFELLEQ. TYPNI(IT))
CONT INUE

WRITE (NOUT,20) IFEL
FORMAT(1IH ,* DER TYP',A9," TST NICHT IN DER NAMENZUORNNUNGSTABELLE
INDER KERNDATENBIBLIOTHEK ENTHALTEN')

sSTOPS
ITY=NUTY (1)
IN=IFELD(11)
IS=TIFELD(12)
IN=IFELD(13)
IF(IS.EQ.1)
READ(KE' IS)
DC 224J=1,IN
IFCIFELD(IW) EQ.MAT)
IW=IW+4
IF(IW.LELNSZ)
IS=1IS+1

READ (KE'IS)
TW=IW-NSZ
CONT INUE
WRITE (NOUT,24) IFE

FORMAT(1H ,* DAS MATERIAL',AQ,"

GO T3 159

GO YO 16

GN To 19

GO 1O 21
(FELD(I Y, [=1,NSZ)

GO 70 23
GO Tg9 22

(FELD(I),I=1,NS2Z)

IST NICHT IN DER KERNDATENBIBLIOTH

440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
160
770
780
790
800
810
820
830
B840
850
860
870
380
890
900
910
920
930
940
950
960
970
980
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C

23

25
27

28

131
132

133
130

30

21

32

33

1EK ENTHALTEN')
STOPS
TF(F.FEQ.FFEST (3 ) AND.NNAMLEQLT)

AUFSUCHEN DFS TYPNAMENS

J=1

IW=TuW+l

IFIIW.LFJNSZ) GO TO 25
1S=1S+1

READ (KE'IS) (FFLDII),I=1,NS2Z)
IN=1W-NSZ

GO TO (274284291},
NT=TFELD(IW}

NTW=1IW

NTS=IS

J=2

G0 TO 25

IK=TFELD(IW)

J=3

GG 10O 25

IX=TFELD{IW)

TF{JJ.LTLIN) GO TO 129
NAS=1001

NAW=1

GO TJ 139

TW=TwW+3

J=1

IF(IW.LELNSZ) GO TO 131
IS=1S+1

READ(KE' IS) (FELD{I),I=1sNSZ)
Tw=IW-NSZ

GO TN {(132,133),4
NAS=IFELD(IW)

J=2

TW=IW+1

GN TO 134

NAW=TFELD(IW)

IF(IK.EQ.IS) GO T3 30

15=1K

READ(KE! IS) (FELD(I},I=1,NS2Z)
Tw=1X

DO 31JJ=1.NT

TRUIFEIN(IW) LEQLITY ) GO TO 33
IW=IW+7

IFIIWLLELNSZ) GO TO 31
[S=TS+1

READ (KE*IS) (FELD(I),1=1,NSZ)
Tw=IW=-NSZ

CONTINUE

WRITE (NOUT,32) 1FEL,IFE
FCRMAT(1H ,* DER TYPNAME® ,AG,'

60 1O 101

IST NICHT IN DER KERNDATENBIBL INTHE

1K FUER NAS MATERIAL *,AG,' FNTHALTEN')

sToprs
IF(F.EQ.FFEST(3).AND.NNAM,EQ.2)

GO T2 110

990
1000
1010
1020
1030
1040
1050
10690
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
13560
13790
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530

J=1
42 IW=TH+1
IFIIW.LELNSZY GO TD 34
1S=15+1
READ (KET'IS) (FELD(I),1=1,NSZ}
TW=IW-NS Z
34 GO TO (35,36437,38,3%,40),J
35 NWN=IFELD(IW}
IF (NWN.FQ.NNAM=-2) GO TO 51
I=MNWN+2
WRITE(NOUT ,52) TFE, IFEL,NNAM,T
52 FORMAT(1H ,* DER SATZI®,2A9,"' ENTHAELT AUF KEDAK', IS5,
1R EINGABE JENNCHY, I5)
STNPS
51 J=2
GO TO 42
36 NA=IFELD{IW)
IF(FLEQ.FFEST(3)) 6N TO 53
IFINALEQL,NARG) GO TO 53
WRITE(NIUT, 54) IFE, IFEL,NARG,NA
54 FORMAT(1H ,* DER SATI',2A9,' ENTHAELT AUF KEDAK?,15,'
1IN NER EINGABE JEDOCH',I5)
STNPS
53 J=3
GO TD 42
37 NW=IFELD(IW)
IF(F.NE,FFEST(1}} GO TO 55
IF(NW.EQ.NWERT) GO TN 55
WRITE (NOUT,56) IFE,IFEL,NWERT {NW
56 FORMAT{1IH ,' NER SATI',2A9,* ENTHAELT AUF KEDAK',I5,'
1TE, IN DER EINGABE JEDOCH', I5)
STOPS
55 NWERT=NdA
J=4
GO TO 42
38 IF{NWN.ERQ.2) GO TO 43
NNAS=IS
NKR=IFELD(TW)
NNAW=IW
GC TN 44
43 NWP=TFELND(IW)
NWPP=NWP
NWPS=1S
NWPW=1W
44 J=5
GO TO 42
39 IFINWN.EQ.0) GO TO 45
NAKS=IFELD{IW)
GO TO 46
45 NCATS=IFELD{IW])
46 J=6
GO TO 42
40 TF(NWN.EQ.D) 6O TD 47
NAKW=TFELD(IW)
GO TO 43

NAMEN, IN DE

ARGUMENTE,

FUNKT IDONSWER

1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1310
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1959
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
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47
48

139

136
137

138

135

59

230
231
61
62
63

59

60

58

67

NOATW=TFELD( TW}
IF{JJLEQ.NT)GOTO 135
Tu=IWt6

J=1

TF{IW.LELNSZY GD T 136
IS=1S+1

READ(KE' IS){FELD(TI},I=1,NSZ)
IW=]W-NSZ

GO TO (137,138),J
NAS=IFELD(IW)

J=2

TW=IW+l

GO TN 139

NAW=IFELD(IW) .
ITF{NWN.EQ.O) GO TO 163

AUFSUCHEN DER WEITEREN NAMEN

IF{NAKS.EQ.IS) GO T4 50

IS=NAKS

READ (KE'IS) (FELD{I),I=1,NSZ)

TW=NAKW

DO 57 K=1,NKB

DO 58 J=1,NWN

IFCO(FELD(IW ) -ACTFALL+S+T) I /FELD(IW))-5,E~-6)230,230,231
TF(((FELD{IW)—A(IFALL+J+T) ) /FELDI{IW) ) +5.E-6159459,60
WRITE(NOUT,61)IFE, TFEL

FORMAT(1H ,* FUFR DEN SATZ',2A9,' SIND DIE WEITEREN NAMEN')
WRITE (NDUT,62) (ALIFALL+T+T7),I=1,NWN)

FCRMAT (3E16.8)

WRITE (NOUT,63)

FORMAT (' NICHY AUF KEDAK ENTHALTEN')

ST0OPS

IW=TW+(NWN—-J ) +4

IF(IW.LE.NSZ) 6O 7O 57

I1S=1S5+1

READ {(KEYIS)(FELO(I)I=14NSZ)

IW=IW-NSZ

GO 1O 57

IW=IW+]1

IF(IWLLELNSZ) GO TO 58

IS=1S+1

READIKE*IS) (FELD(T),I=14NS2Z)

IW=TW-NS Z

CONTINUE

[FIF.EQ.FFEST{3) . AND.NNAM,GT.2) GO TN 118
NWpPS=1S
NWPW=IW
NWPP=TFELD{IW}
NWP=1FELD{IW)
J=1

Tei=IW+l
IF{IW.LELNSZ)
1S=1S+1

REAN (KE'IS) (FELDII),1=1,N5Z)

GO TO 64

2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490

2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630

eRalel

64
65

66

143

140
141

142

57

168

167

68
83

190
180

181
191

74

75

76

1 FNTSPRECHENDER PLATZ FREI IST;
2ST DIESES ARGUMENT NICHT VORHANDEN')

TW=1W-NS?Z

GO TO (65466)4d
NDATS=IFELN(IW)

J=2

GO TO 67

NDATW=IFELD( IW)
IF{K.EN.NKB)} GO TO 168
ITW=1 W+NWN+2

J=1

IF(IWLLE.NSZ) GO TO 149
IS=1S+1

READU(KE® ISHIFELD(T},I=1,NS2)
IW=TW-NSZ

GO TO (141,142),J
NAS=TFELD(IW)

IW=TW+1

J=2

GO TO 143

NAW=IFELD({ IW)

GC 10 168

CONT INUE

WRITE (NDUT,61) IFE,IFEL
WRITE {NOUT,62) (ACIFALL#I+T7),I=1,NWN)}
WRITE (NOUT,63)

STOPS

SUCHEN NDES ARGUMENTE — WERTEPAARES

JENNAM+T

IF(F.EQ.FFEST(2)) J=J-1
TF{NDATS,EQ. IS} GO TO 68

IS=NDATS

READ (KE*IS) (FELD(I),[=1,NSZ)
IW=NDATHW

DC 69 K=1,NWP

DO 71 L=1,NARG

IFINARG.EQ.D) GO TO 79
IF(FELD(IW)*0.999995~-A(J+L))190,190,180C
IF(FELD( IW)*1.000005~A(J+L))VT0,72,72
IF{FELO(IW).FQR.0) GO TO 181

IF(ABS({ABSUFELDI{IW) )-ABS{A(J+L)}) /ABS(FELD(IW)}))~5.E~-6)72,T72,191
IF(ABS ((ABS(A{J+L})~ABS{FELD(IW) ))/ABSIALI+L) ) )-5.E-6)T72,724191

IF(NWPH( NARG+NWERT) .LT. INAS—NDATS) ANSZ+NAW-NDATW)} GO TO 73
WRITE (NOUT, 74)

FORMAT(LH o' TM FALLE EINES ADD-SATZES KANN DAS ARGUMENT BZW.
IMENTENPAAR )

WRITE (NOUT,75) (A(J+I
FORMAT{8E16.8)
WRITE (NOUT,76) IFE,IFEL

)y I=1,NARG)

FORMAT(* FUER DEN SATZ',2A9,* NICHT EINGESCHOBEN WERDEN, WEIL KEIN
ODER IM FALLE EINES DROPS-SATZES 1

J=J+NARG+NWERT
IF{J.LT.ND-1}) GO TO 69
IF(NWP.EQ.NWPP} GO TO 77

2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3910
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
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IF(IS.EQ.NWPS) GO TO 78
READ (KE'NWPS) (FELD(I),I=1,NSZ)
78 IFFLDINWPW)=NWP
WRITE(KE'NWPS) (FELO(I) o I=1,NSZ)
GO TO 77
70 TW=TW+{NARG=L +1) +NW ERT
IF{IW.LF.NSZ) GO TN 69
[S=1S+1
READ (KE'IS) (FELD(I)},I=1,NSZ)
IW=IW-NSZ
GO T0O 693
72 Iw=IW+1
TF{IW.LE.NSZ) GO TO 71
IS=1S+1
READ {(KE®IS) (FELD({I),I=1,NST)
TW=TW~NS Z
71 CCNTINUE
Go TN 79
69 CONTINUE

TFINWPX(NARGH+NWERT) « LT (NAS—-NDATS) %NS Z+NAW-NDATW)

WRITE (NOUT, 741}

WRITE (NDUT,75) (A(J+1 },1=1,NARG)
WRITE (NOUT,76) IFE,IFEL

WRITE (NOUT,81)

81 FORMAT{' EVENTUELL FOLGENDE ARGUMENTE — WERTEPAARE IN DEMSELBEN AD
10 - SATZ WERDEN NICHT BERUECKSICHTIGT')

GO TO 85
79 IF(F.EQ.FFEST(1))} GO TO 179

LOESCHEN EINES DATENPAARES

M= (NWP-K)* (NARG+NWERT)
IF(M.EQ.0) GO TO 214
Tw=THW+NJERT
KK=0
DO 170 K=1,M
IF(KK.EQel) GO 70 171
IF(IW.LE.NSZ) GO TO 172
KK=1
IS=IS+1
READIKE*IS) (B(T)},I=1,NSZ}
Iw=1W-NS 7

171 FELDINSZ+IW—NARG-NWFERT)=8(1IW)
Th=IW+l
IF(IW.EQ.NARGHNWERT+1) GO TO 173

- G0 YO 170

173 1S=1S5-1
WRITE(KEfIS) (FELD(T),I=1,NSZ)
DO 174 I=1,NSZ

174 FELD(I)=BI(I)
KK=0
IS=IS+1
GO 10 179

172 FELD(IW-NARG-NWERT) =FELDI{IW)
IW=IW+1

3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3590
3600
3610
3620
3630
3640
3650
3660
3670
3680
3690
3700
3710
3720
3730

OO

80

82

215

216
85

84

o0

CONTINUE

WRITE(KE®IS) {FELD{T1)},1=1,NST)
TFINNAM,GT. 2} GO TO 213
WRITE(NQUT,200) IFE,IFEL
FORMAT{1H),2A10)
WRITE{NAOUT,212)

FORMAT{" ONE RECORD DELETVED?')
GO TO 169

K=NNAM+5

WRITE(NDUT,203) IFE,IFEL,{A(]),1=8,K)
FORMAT{1H0,2A10,8E13.5)
WRITEI(NOUT,212)

NWP=NWP-1

J=J +NARG

IFLJ.LE.ND-1) 6O TCQ 167

GO TO 85

ANFUEGEN NEUER ARGUMENTE — WERTEPAARE

K=NARGHNWERT

J=J+1

DO 82 L=1,4K

FELD{I W) =A{J)

J=J+l

TW=TW+1

IF{IW.LE.NSZ) GO TO 82
WRITE(KE*IS) (FELD{T),I=1,NSZ)
I1S=1S+1

READ (KE'IS) (FELDUI),I=1,NS2)
IW=TW-NSZ

CONTINUE

WRITE(KE'IS) (FELD(I),I=1,NS5Z)
NWP=NWP+]1

IF{NNAM.GT.2} GO TOQ 215
WRITE(NOUT,200) IFE,IFEL
WRITE(NOUT,206)

GO TN 216

L=NNAM+S

WRITE(NDOUT,203) IFELIFEL,(A(T),[=8,4L)
WRITE(NOUT,206)

IF{J.LT.ND) GO TO 167
TF(NWP.EQ.NWPP) GO YO 77
TFI{IS.EQ.NWPS) GO TO 84
READ(KE'NWPSHIFELN(T) ,I=14NSZ)
IFFLDINWPW ) =NWP

WRITE(KE'NWPS) (FELDI(TI),I=1,NS2)
Go T0 77

ERSETZEN DER ALTEN WERTE DURCH NEUE WFRTE

DO 86 K=1,NWERT
N=NARG

IFIN.EQ.O) N=1
FELDUTW)=A( J+N+K)
TW=IW+1

3740
3750
3760
3770
3780
3790
3800
3810
3820
3830
3840
3850
3860
3870
3880
3890
3900
3910
35920
3930
3940
3950
3960
3970
3980
3990
4000
4010

4020’
4030

4040
4050
4060
4070
4080
4090
4100
4110
4120
4130
4140
4150
4160
4170
4180
4190
4200
4210
4220
4230
4240
4250
4260
4270
4280
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86

201

204
202

73

a8

87

89

94

96

30

93
92
91

IF{IW.LE.NSZ) GO TO 86
WRITE(KEPTIS J{FELDLT ), I=1sNSZ)
[S=1S5+1

REAND(KE® IS} (FELD(I),yI=14NSZ)
IW=TW-NSZ

CONTINUE
WRITE(KFIIS)(FFLDIT ), I=1,NSZ)
IF(NNAM.GT,2} GO TO 201
WRITE(NOUT,200) IFE,IFEL
WRITE(NOUT,204)

GO T0 202

K=NNAM+5

WRITE(NOUT 203) IFESIFEL,{A(1),1=8,K)
WRITE(NOUT, 204) ’

FORMAT (' ONE RECORD EXCHANGEDN')
J=JENENWERT

IF(J.LTND-1) GO TO 167

GC TO 35

EINSCHIEBEN EINES ARGUMENTE - WERTEPAARES
QOEFFNEN DER ENTSPRECHENDEN LUECKE

LL=(NWP-K+1)*(NARG+NWERT)}

N=0

M=NDATW INWP+ 1) * (NARGHNWFRT ) -1
MM=M

IF(M.LELNSZ) GO TO 87

N=N+1

M=M~NS Z

GC 7O 88

NOATS=NDATS+N

IF{NDATS .EQ.IS) GO TN 89

READ (KE'NDATS) (FELDIT),I=1,NSZ)
NDATS=NDATS-1

NS=0

KK=0

IF(M=NARG-NWERT.GT.D} GO TO 9D
IF(NS.EQ.L) GO TO 96

READ (KET'NDATS) (BUI),I=1,NSZ)
NOATS=NDATS-1

NS=1
FRLO(M)=BINS Z+M~NARG-NWERT)
GO 1O 91

TFINS.EQ.0) GO T3 92
NDA=NNATS+2

WRITE(KE'NDA) (FELD(I),I=1,NSZ)
NS=0

00 93 I=1,NSZ

FELD(I)=8{1)}

FELD (M) =FELD (M=NARG-NWERT)
M=M~1

KK=KK+#+1

IF{KK.GT.LL) GO TO 95
IF{M.EQ.Q) M=NSZ

4299
4300
4310
4320
4330
4340
4350
4360
4370
4380
4390
4400
4410
4420
4430
4440
4450
4460
4470
4480
4490
4500
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4620
4630
4640
4650
4660
4670
4680
4690
4700
4710
4720
4730
4740
4750
4760
4770
4780
4750
4800
4810
4820
4830

[eReXel

GO T 94
ETNSPETICHERN DES NEUFN NDATENPAARES

95 Tw=lW-L+1
IF(IW.6T.0) GO T 97
IS=1S~1
READ (KE*TS) (FELD(I},I=1,NS7}
IW=NSZ-1W
97 N=NARG#+NWERT
DO 98 L=1,N
FELN(IW) =ALJ+L)
Th=TwW+1
IFUIWLLELNSZY GO TN 98
TFIL.EQ.N) 50 T0 98
WRITE (KE'YIS) (FELD(I)},I=1,NSZ}
IS=1S+1
READ (KE'IS) (FELD(I},I=1,NSZ}
IN=1W-NS2Z
98 CONTTNUF
NWP=NWP+1
WRITE (KE*IS) (FELD(I), I=1,NSZ)
TF{NNAM.5T.2) GO TO 205
WRITE(NJUT,200) IFE,IFEL
WRITF(NOUT,206)
2C6 FORMAT{' ON[E RECORD INSFRTED')
GC T 207
205 L=NNAM+S5
WRITE(NOUTY, 203) IFELIFEL,(A(]),1=8,L)
WRITE(NIUT,206)
207 J=J#N
IF(J.LTLND=-1) GO TN 167
GO TO 85

LOESCHEN EINES MATERIALNAMENS

101 M=(IN=-JJ) %4
TF{M.E£Q. D) GO T3 1907
IW=1W+4
KK=0
NC 102 K=1,M
IF(KK.EQ.1l) 6O TO 105
IFIIW.LELNSZ)Y GO TO 193
KK=1
1S=1S+1
REAN (KE'ISY (B(I),1=1,NS2)
IW=1W-NSZ

105 FELDINSZ+IW-4)1=B{1W)
IW=IW+1
IF{IW,.EQ.5) GO TO 104
GO 70 192

104 IS=1S-1
WRITE [KE'IS) (FELD(I1),I=1,NSZ)
N0 106 I=1,NSZ

106 FELD(I)=R(I)

4840
4850
4860
4870
4880
4890
4900
4910
4920
4930
4940
4950
4960
4970
4980
4990
5000
5010
5020
5030
5040
5050
5060
5070
5080
5090
5100
5110
5120
5130
5140
5150
5160
5170
5180
5190
5200
5210
5220
5230
5240
5250
5260
5270
5280
5290
5300
5310
5320
5330
5340
5350
5360
5370
5380
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103

102

117

110

113

115

111

117

KK=0

IS=1S+1

GC TO 132

FELDUIW-4)}=FELD( 4}

IW=TW+1

CONTINUE

WRITE (KE*IS) (FELD(I},I=1,NSZ)
TF{1S.EQ.1) GO TO 108

[S=1

READ (KE*IS) (FELD(I),I=1,NSZ)
TFELD(LL)=IFELD(11)~1

WRITE (KETIS) (FELDI(I), I=1,NSZ)
WRITF{NOUT,208) IFE
FORMAT{ 1HO, A 10}

WRITE(NUT,209)

FORMAT{' ALL DATA DELETED')
IFALL=IFALL+3

IF(IFALL+3.LT.ND) GO TG 109
GO TD 77

LCFSCHEN FINES TYPNAMENS

M={NT-JJ)*7

IF{M.FQ. 0} GO TO 111

IW=IW+7

KK=0

00 112 K=1,M

TF(KK.EQ.1) GO TO 113

IF{IW. LE.NSZ) GO TO 114

KK=1

1§=15+1

READ (KE*IS) (R{I),I=1,NSZ}
TW=TW-NSZ

FELO{NSZ+IW-T)=B{IW)

TW=lWel

IF{IW.EQ.8) GO TD 115

GO TO 112

1S=1S-1

WRITE (KE'IS) {FELDUI) I=14NST)
DO 116 I=1,NSZ

FELD{T)=8B(1)

KK=0

IS=1S+1

G0 TO 112

FELD(IW-7)=FELD{IW)

IW=IW+1

CONTINUE

WRITE (KE'IS} (FELD{I),I=1,NSZ)
TFINTSL,EQ.IS}) GO TO 117

READ {KE'NTS) (FELD(I},I=1sNSZ)
IS=NTS

IFELO(NTH) =IFELNDINTH} -1

WRITE (KE*TS) (FELD(I},I=1,NSZ)
WRITE(NOUT,200} IFELIFEL
WRITE(NOUT, 209)

5390
5400
5410
5420
5430
5440
5450
5460
5470
5480
5490
5500
5510
5520
5530
5540
5550
5560
5570
5580
5590
5600
5610
5620
5630
5640
5650
5660
5670
5680
56990
5700
5710
5720
5730
5740
5750
5760
5170
5780
5790
5800
5810
5820
5830
5840
5850
5860
5870

5880

5890
5900
5910
5920
5930

118

144

122

121

120

126

128

IFALL =TFALL+NNAM+3
IFCIFALL#3.LT.ND) 50 TO 109
6o TN 77

LOESCHEN DE DATEN FINES WEITEREN NAMENS

I W=TW-NWN

KK=0

IF{IW.5(T.0) GO TO 119

IS=15-1

DO 144 T=1,NSZ

B{I)=FELD(I}

READIKE® IS) (FELDUI),I=1,NSZ)
KK=1

M={NKB-K }*{NWN+3)

IF{M.EQ.0} GO 7O 120
TW=1 W+ NWN+3

DO 121 K=1,M

TF{KK.EQ.1) GO T2 122
TF{IW.LE.NSZ) 6O TO 123

KK=1

IS=1S+1

READ (KE'IS) (B{I),sI=1,N5Z)
TW=1W-NSZ

FELD{NSZ +IW~NWN=3)=B(IW)
IW=TH+1

IFLIN.EQ.NHN+ 4} GO TO 125

GO TO 121

15=15-1

WRITE (KE'IS) (FELDI(T),I=1,NSZ)
DO 124 I=1,4NSZ

FELD{I)=BL{I)

KK=0

IS=1S+1

G0 70 121

FELD({ TW-NWN-3)=FELD{IN)

TH=I W+l

CONT INUE

WRITE (KE*I1S) (FELD{TI),I=1,NSZ)
IFINNAS.EJ.IS) GO TO 126
READ (KEINNAS) {FELD(I)},I=1,NS2)
I S=NNAS
IFELD{NNAW)=IFELD(NNAW) -1

WRITE (KE?IS) (FELD(I),I=1,NSZ)
K=NNAM +5

WRITEINOUT,203) IFEIFEL, (ALT),1=8,K)
WRITE(NOUT, 209)

IFALL=TFALL+5+NWN

IF(IFALL+3,LT.ND) GO 7O 109

GO TO 77

IF(IRA)127,127,128
ILt=13

1BA=0

GO 10O 77

59490
5950
5960
5970
5980
5990
6000
6010
6020
6030
6040
6050
6060
6070
6080
6090
6100
6110
6120
6130
6140
6150
6160
6170
6180
6190
6200
6210
6220
6230
6240
6250
6260
6270
6280
6290
6300
6310
6320
6330
6340
6350
6360

6370
6380
6390
6400
6410
6420
6430
6440
6450
6460
6470
6480
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127

23

RETURN
END

SUBRDUTINE POL1723
REAL*3 MATNA{200),TYPN(100),NAMEL20),ALL/*ALL v/

DTMENSION DAT(40000) ,ARG(20000) ,WERT{20000),150T(200),1ITYP(100),
IWNAME(10),NUNA{200) ,NUTY{100),EN(20000),HQ{200C0) yNNAME{20)

COMMON MATNA,TYPN,NUNA,NUTY ¢ NZMy NZTy NT,NF
EQUIVALENCE(DAT(1),ARG( 1)}, (DAT{20001) (WERT(1))
WRITE{NT,23) :

FORMAT{IHL/* PROGRAMM 01723%/)

READ (NF) NV, (NAME(I),1=1,N")

EPS=0.001

NINP=12

NOUT =2

N2X=20000

N1=1

MM=1

IFINM.EQ.L.AND.NAME (1) . EQ.ALL) GO TO 28
DC 24 I=1,NM

DO 25 Jd=14NIM

IF{NAME[ I).EQ.MATNA(J}) GO TO 26
CONTINUE

WRITE (NT,27) NAME(T)

FCRMAT (* NDAS MATERIAL',Al0,' EXISTIERT NICHT AUF KEDAK')
STOPS

NNAME( I )=NUNA(J)

CONTINUE

READ(NINP) C, IDAT,NISO

WRITE(NOUT) C,IDAT,NISO

READ(NINP)Y (ISOT(I),I=1,NISQ)
WRITE(NOUTI(ISOT(T1),I=1,NIS0)

NC 29J4=1,NISO

NA=0

READ (NINP) MAT,NTYP

WRITF(NOUT) MAT,NTYP

READ (NINP) (ITYP(I),I=1,NTYP}

WRITE (NOUT) (ITYP{I),I=1,NTYP)

NG 2 K=1,NTYP

READ (NINP) MAT,KTYP,NFN,NARG, NWERT,NKOMB
WRITE (NOUT)MAT,KTYP,NFN,NARG,NWERT,NKOMB
IF(NKOMB.EQ.O)} GO TO 3

DO 4 L=1,NKOMAR

READ (NINP) (WNAME(T),I=1,NFN}

WRITE (NOUT) (WNAME(T),I=1,NFN)

READ (NINP) NNT

TF(NAME( L) NEJALL.ANDSMAT NE .NNAME(MM)) GO TO 22
NA=1

IF(KTYP.EQ.40021) 6O TO 22
IF(KTYP.EQ.40022) GO TQ 22
IF(KTYP.EQ.40041) 0O TO 22
TF{KTYP.EQ.40042) GO TD 22

6490
6500

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490

22

13
14

15
16
17
12

21

IF(KTYP,EQ.40051) GO TO 22
IF{KTYP.EQ.40052) 6D TO 22
TFIKTYP.EQ. 40291} GO 10 22
IF{KTYP,EQ.40292) GO T0O 22
TFINARG.EQe]l s ANDLNWFRTLEQ.1} GO TO 5
WRITE {NOUT) NDI

N=(NARGH+NAERT ) *¥NDI

READ {NINP) (DAT{I),I=1,N)

WRITE (NOUT)I(DAT(I) I=1,N}

GC T0 4

READ (NINP) (ARGI(I)},WERT(I),1=14NDI)
XL=ARG(1)

XH=ARG{NNT)

N2=NDI

DC 9 I=1,NDI

EN{I}=ARG(I)

WO{I)=WERTI(I)

CALL ELIM {XLoXHyEPSyN2ZyN2ZX,ENsWQy $30)
IFIN2.EQ.NDI) GO TO 12

DC 13 I=1,NIM

IF{MAT.EQ.NUNA(I)) GO TO 14

CONT INUE

DO 15 M=14NZT

TF{KTYP.EQ.NUTY{M)) GO TO 16
CONTINUE

WRITE (NT 417) MATNACI),TYPNIM} ,NDI N2, (WNAME{N),N=1,NFN}
FORMAT (2A12,42112,4E16.8/(8E16.8))
WRITE INOUT) N2

WRITE (NOUT) (EN(I),WO(I),I=1,N2}
CONTINUE

G0 T0 2

READ (NINP) NDI

IF(NAME( 1) NEALL.AND.MAT.NEJNNAME(MM)) GO TO 21
NA=1

IF{KTYP.EQ.14510) GO TO 21
TF{NARG.EQ.1 ANDNWERT,.EQ.1) GO TO 6
WRITE (NOUT) NDI

N=(NARG#+NWERT )} *NDI

READ {NINP) (DAT(I},I=1,N)

WRITE (NOUT) (DAT(IL) ,I=1,4N)

GO 7o 2

READ (NINP) (ARG(I) ¢ WERT(I),I=1,NDI)
XL=ARGI[1}

XH=ARG (NDI)

N2=NDI

DO 8 I=1,NDI1

EN{I)=ARG(TI)

WQ(I)=WERT(I)

CALL ELTM {XLyXHyEPSyN2yN2X+ENyWQ, 430)
IF(N2.,EQ.NDI} GO TO 7

DO 1 I=1,NIM

IF (MAT.EQ.NUNA(I})} 6O TO 18

CONT INUE

BC 19 M=1,NIT

500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
110
720
730
740
750
160
770
180
790
800
810
820
830
840
850
860
870
880
890
300
310
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
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IF (KTYP ,RFQ.NUTY(M}) GO TN 20

19 CCNTINUE

20 WRITE (NT G L1LIMATNALL) 4TYPN{M),NDI N2
11 FORMAT(2412,2T12)

7 WRITE (NOUT) N2
WRITE (NOJT) (ENCT) W (T)aT=1sN2)

2 CONTINUE
IF{NA.FQ.0)
MM=MM+]
IF(MMGT JNM)

29 CONTINUF
RETURN
30 WRITF {NT,31) MAT,KTYP
31 FORMAT{/® AUF KEDAK SIND 3 GLEICHE ENFRGIFPUNKTF ENTHALTEN BEIf,
12110}
STOPS
END

50 70 29

MMz MM -]

SUBRNHTINE FLIMOXL, XHeEPSsN2sN2X e XsYy*)
DIMENSION X(1},Y(1)

————— BETWFEN CAN BE OBTAINED BY INTERPOLATTION WITH AN ERROR LESS EPS.
400 IF(N2.LE.2) GO T3 800
K1=1
401 K2=K1+2
LETZTES INTERVALL ERREICHT?
IF{K2.6T.N2) GOTO 800
INTFRVALLANFANG GLE ICH INTERVALLENDE?
IF(X{K1) . EQoX{K2)}) GOTO 420
403 KI=K1+1
LAUFENDFER PUNKT GLEICH INTERVALLANFANG MDER INTERVALLENDE?
TFOXIKI}LED o XIKL L ORX{KI)EQ.X(K2}} GOTO 420
Y — WERTE MIT WERTEN <=1.0E-10 WERDEN NICHT ELIMINIFRT
405 TR(Y(KI}.LF.1.06-10) GO TD 420
LINFAR INTERPOLATION
XA=X (K1)
XR=X(K2)
YA=Y (K1}
¥YB8=Y(K2)
XP=X{KT}
TFIXA.EQ.XB) RETURN 1
YP=YA+(XP-XA)}%*{YR~YA)/{XB-XA)
TFIABSUIY(KE)=-YP)/Y{KI}).GT.EPS) GOTO 420
NAECHSTER ZU FLIMINTERENDER PUNKT IM INTERVALL Kl...X2.
KI=KT+1
TF(KI.LT.%2} GOTO 435
VERGROESSERN NES INTERVALLS.
K2=K2+1
IF(K2.L".N2)} GOTO 403
INTFRVALL WAR ZU GRNSS. LETZITER PUNKT FRREICHT,
GEMAUTGKELT NICHT ERFUELLT. INTERVALL VERKLETNERN UND

1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210

10

20

30

40

50

60

70

BO

90
100
110
120
130
140
150
1690
170
180
190
200
210
220
230
240
250
260
270
280
290
300
319
320
330
340

OO0

[sRaNaNaNel

420

406

407

EVENTUELL PUNKTE FEL IMINIEREN,
K2=K2-1
IF(K2.GT. (K1+1)) GOTO 406
INTERVALL NACH DOBFN VERSCHIEBEN.
Ki=K1+1
GCTN 431
ELIMINTEREN DER PUNKTE KI1+1 BIS K2-1
K1P1=K1l+1
K2Ml=K2-1
KANZ=K2~-K1-1
DN 407 K=K24N2
X AK=KANZ)=X(K)
Y{K-KANZ ) =Y(K)
N2 =N2-KANZ
K2=K2-KANZ
K1=K2
GCTN 401
—FINTSHED
RETURN
END

SUBROUTINE PO1705
PROGRAMM ZUM AUFFUELLEN DER SEKUNDAERDATEN MIT STANDARDDATEN

REAL*8 MATNA(200), TYPN{100) ,MATL2),TYP(10)

DIMENS ION NJNA{207) ¢NUTY(120),UE{B,4910},0E(B+4,12),NMAT(2),
INTYP(10) NDTYP(10D) ,NAT(40000) (XNAMIL10),NAWI(4,10),AW{40000),
2WN{800,4),NL{10),MNAME{200),NZW{ 4)

34 NAD(400)

COMMON MATNA, TYPN,NUNAZNUTY §NZMy NZ T, NOUT , NF

WRITEINOUT,1}

FORMAT(1IHL/®

1TTTT=40000

NP=15

NKE=3

NKA&=4&

IRE=0

LP=0

MEX=0

KDAT=0

REWIND NKE

REWIND NKA

READ (NF) MAT(L),MAT(2]) ,MHM

PROGRAMM Q1705%'//)

MAT(1) NAME DES MATFRIALS , DESSEN DATEN AUFGFFUELLT WERDEN SOLLEN
MAT(2) NAME DES MATFERIALS , MIT DFSSEN DATEN AUFGEFUFLLT WIRD
MM ANZAHL DER AUFZUFUELLENDEN TYPEN

DO 2 I=1,44
READ (NF) TYP({T)gNyKy ({UEINKsLy I)aNK=1,K),{OE{NKsLsT) yNK=LsK} sL=1,
1N}

350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
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OO0

NL{T}=N
2 CONTINUE

TYP NAME DES TYPS , DESSEN DATEN AUFGEFUELLT WERDEN SOLLEN
NL ANZAHL DER AUFZIUFUELLENDEN LUECKEN
K WENN NWN>O ANZAHL DER WEITEREN NAMEN
WENN NWN=7 ANZAHL DER ARGUMENTE
UE UNTERE LUECKENBEGRENZUNG IM DATENSEREICH VON MAT(1)
0E OBERE LUECKENBEGRENZUNG IM DATENBEREICH VON MAT(1}

DO 91 [=1,4
91 NIW(I}=0
READ (NKE) KSA,KSI,KK
WRITE (NKA) KSA,KST,KK
READ {NKE) {MNAME{L),L=1,KK}
WRITE (NKA) (MNAME(L),L=1,KK)
DC 3 K=1,2
DO 4 I=1,NIM
TFMMATIK).EQ.MATNALI)) GO 7O 5
4 CONTINUE
WRITE (NOUT,6) MAT(K)

6 FORMAT (' DAS MATERIAL',A9,* IST NICHT IN DER NAMFNUMRECHNUNGSTABE

1LLE ENTHALTEN')
sT0p

NMAT (K)=NUNA(T)
CONTINUE

DO 77 K=1,2

D0 78 I=1,KK

5
3

IFINMATIK).EQ.MNAME(T)) GO TO 77

78 CONTINUE
WRITE (NOUT, 79) NMAT(K)

79 FORMAT(' DAS MATERTAL®yI9y° IST
STOP

77 CONTINUE
DC 10 K=1,MM
N0 7 I=1,NIT
IF(TYP(K}.EQ.TYPN(I)) GO Tn 8

7 CCNTINUE

WRITE (NOUT,9) TYP{K)

NICHT AHUF KEDAK ENTHALTEN®)

9 FCRMAT(* DER TYP',A9,* IST NICHT IN DER NAMENUMRECHNUNGSTABELLE EN

1THAL TENY)
STOP
B NTYP(K)=NUTY {1}
10 CONTINUE
N0 11 L=1,KK
IFINMATI 2} FQ.MNAME(L)) GDTO 12
TF(NMAT(1).EQ.MNAME(L)) IRF=1
11 CCNTINUE
WRITE (NOUT, 13) NMAT(2)
13 FORMAT (' DER MATERIALNAME', A9,?
1ERNDATENBIRLIOTHEK!)
STop

SUCHEN NER AUFFUELLDATEN

STEHT NICHY IN DER SEQUENTIELLEN K

320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
T10
720
730
140
150
760
770
780
790
800
810
820
830
840
850
860

g NaRe

OO0

[aEnNel

12

15

16

17
20

19

22
24
23
25
28

27
26

SCHLEIFE UEBER NIE MATERIALTEN

N0 107 M=1,KK

READ (NKFE)} MAGNTY

IFIIRELEQsD) WRITE(NKA)IMA,NTY

READ (NKE) (NNDTYP(I),I=1,NTY)

IF{IRF.EQ.0) WRITE(NKA) (NNTYP{T ), I=1,NTY}

SCHLEIFF UEBER DIE TYPEN

I17=1

JW=0

NK0G=0

DO 14 IT=1,NTY

LK=1

ME=0

READ (NKE) MATNGNTYPNNWNyNA ¢NWy NNK
IFITRE.EQ.O) WRITE(NKAIMATN,NTYPN, NWN,NA,NW, NNK
ND=NA+NW

IF{NWN)15415,416

NNK1 =1

GO TO 17

NNKI=NNK

SCHLEIFE UEBER NIE NAMENKOMBINATIONEN

DC 18 INK=1,NNK1

IFINWN)19s19, 20

READ [NKE } (XNAM(T),L=1,NWN)

IFUIRELEQ.O) WRITE(NKA) (XNAMUI),I=1,NWN)
READ(NKE) NDAT

IF(IRE.EQ.O0) WRITE(NKA) NDAT

12=NDAT*ND

READINKE) (DAT(I},I=1,12)

IF(IRELEQ.0) WRITE(NKA) (DAT{I),I=1,12)
TF(MATN,NE.NMAT{2})} GO TO 18
IFINTYPN.NELNTYPLITTY) GO TO 18

ME=1

IF(NWN)Y21,21,22

AUFFINDEN DER EINZUFUEGENDEN DATEN NWN>O

IF{LK.GT.NLL{IIT)) GO TO 18

DO 23 NN=1,NWN

TFUUXNAM(NN) ~UE(NN, LKy IIT) ) /XNAMINN)+5.E~-6)18,24,24
TFOUXNAM (INNY =UE (NN, LKy TIT) I/ XNAM(NN)-5.E~6)23, 23, 25
CONTINUE

GO TO 18

1P=0

DO 26 NN=1,NWN

TFU{XNAMINN) -OE(NN, LK, TIT) )}/ XNAMINN)+5.E-6)27, 28,28
TFCOXNAMINNY —OE(NN,LK, TIT) ) /XNAM{NN) -5 ,E-6126,26,29
IP=1

CONTINUE

IF(IP.EQ.L}) GO TO 30

870

880

890

900

310

320

930

940

950

960

970

980

990
1000
1910
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
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[aBeXe]

29 LK=LK+1
JW=0
GO T3 22
30 NAD(NKO# 1) =NDAT
NKO=NKO+1
NZWILK}=NZW (LK) +1
DD 31 T=1,NWN
31 WN{THIW, LK) =XNAM(T]
JW=JW+ NWN
IF{KDAT+I2.LELITTTT) GO TO 32
WRITE (NPIKNAT, (AW{ 1), I=1,KNDAT)
KDAT=0
LP=LP+l
32 DC 33 I=1,12
33 AW({KDATH+I)=NAT(I)
KDAT=KDAT+12
TF{JW+NWN.,LE.800) GO TO 18
WRITE {NOUT, B1)MATN,NTYPN,LK
81 FORMAT(' MATERIAL',I9,' TYP®*,19," LUECKE®,I3," BENDETIGYT MEHR ALS
1800 SPEICHERPLAETIE®/' FUER NIE WEITEREN NAMEN ; DIE LUECKE WIRD D
2ESHALB NICHT VOLL AUFGEFUELLT®)
LK=LK+1
JN=0
GO 70 18

AUFFINDEN DER EINZUFUEGENDEN DAT EN NWN=)

21 NAW(L,TIT)=0
N 34 I=1,NNAT
43 DO 35 J=1,NA
IND={T-1 }VAND+J
IF(NTYPN.NE. 21520} GO TO 89
IF(DAT{IND)*0.999995.LTUE(J, LK, IIT)) GO YO 34

GO YO 37
89 TFI(DAT{IND)*1.000005-UE(JsLK,IIT})B6436,436
36 IF(DATE{IND) *0.999995-UE{J,LK,T1TIT)}35,35,37
86 IF(DAT({IND).EQ.0) GO TO 34
TF(ABS((ARS{DAT (IND) }-ABS{UE(J LK, [IT)})/ABS(DATLIND)))}=5.E~-6)
135,35, 34
35 CCNTINUFE
GOTO 34
37 1P=0
DO 38 J=1,NA
IND={I-1}%ND+J
IF(NTYPN.NE,21520) 6O TO 88
IF({DAT(IND)*¥1.000005.LT.OE(JsLK,IIT)) GO TO 42
GN T 41
88 IF(DATIINDI*1.000005~0E(J,LK,IIT})BT,y40,40
40 IF{DAT{IND)}*0.999995-0E(J,LK,11T))38,38,41
87 IF(DAT(IND).EQ.O0) GO TO 39
IF{ABS({ABS({DAT(IND))-ABSIOE(J,LKyIIT)))/ABS{DATC(IND) ))I-5.E~-6])
138,38, 39
39 IP=1
GO TN 42
38 CONTINUE

1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740

1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1300
1910
1920
1930
1940
1950
19560

[eNeal

[aNyl

[sXeXe]

41

42

44

45

34

18

14

100

46

B2

80

60

IF(IP.EQ.L) GO TO 42

LK=LK+1

JW=0

IF(LK.GT.NLUTIT)) GO TO 18
NAWILK,TIT)=0

GO TO_43

NAW{LK, TITI=NAWILK, IIT) +1
IF(KDATHNDLLELITTTT) GO TO 44
WRITE(NP) KDAT,(AW(J) J=1,KDAT)
KDAT=0

LP=LP+1

DO 45 J=1,ND

IND={T1-1 )=ND+J

AW(KDAT+ J)=DAT(IND}
KDAT=KDAT+ND

CONTINUE

CONT INUE
ENDE DFR SCHLEIFE UEBFER DIE NAMENSKOMBINATION

IF(ME.EQ.D) GN TO 14

IIT=11T+1

MEX=1

IF(IIT.LE.MM) GO TO 14

IIT=11T7T-1

CONTINUE

ENDE DER SCHLEIFE UEBER DIE TYPEN

[FIMEX.EQ.1) GO TO 46
CONT INUE
ENDE DER SCHLEIFE UEBER DIE MATERIALIEN

IF(IRE.EQ.1) GO TO 82
I1=M+1

GC TN 80

REWIND NKE

11=1

IFILP.EQ.0) GO TO 60
REWIND NP

READ(NPINN, (AN{I)I=1,NN)

SUCHEN DES AUFZUFUE LLENDEN MATERIALNAMENS

KDAT=0
Lpe=1

DO 101 M=I1,KK

READ (NKE) MA,NTY

WRITE (NKA) MA,NTY

READ {NKE)} (NDTYP(I),I=1,NTY)
WRITE(NKA) (NDTYP(I)},I=1,NTY)}
[1IT=1

Jh=0

NK(O=0

1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
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93
96

200

99

48

49

50

53

64

63

55

68

DN 47 IT=L,NTY

[T7P=0

LK=1

REAND (NKE) MATN NTYPN,NWNyNAyNWy NNK
NN=NNK

ICRU=1

IF{MATN,NE.NMAT{1)) GO TO 96

FFINTYBN NENTYP(IIT)) GO TO 96
IDRU=2

[FINN.EQ.O) GO T 96

LN=NL(IIT)

NDC 93 I=14LN

NN=NN+NZW(T)

WRITE (NKA) MATNGNTY PN, NWNyNA, N o NN
IF{IDRU.EQ.1) GO TO 99

WRITE (NOUT,200) MATN,NTYPN,NANy;NANW,NN
FORMAT(10110)

ND=NA+NW

TF(NWN) 48,48,49

NNK1=1

GO TO 50

NNK1=NNK

DC S1 INK=1,NNK1
IF{NWN)52,52,53

READINKE) [XNAM{I), I=1,NWN)
TUN=1

TF(MATN.NELNMAT(1)) GO TO 54
TF{NTYPNJNEJLNTYP(IIT)) GO TO 54
TUN=2

IF(LK.GT.NL(IIT)) GO TO 54
1TP=1

INZ=1

KI=0

DO 55 NN=1,NWN

IF(XNAMINN) %0.999995.GT «WN{NN+JW,LK})
CONTINUE

1F(KZ) 5%y 54, 62

G0 T3 56

EINFUEGEN DER DATEN NWN>O

WRITE {NKA) {(WN{I+JW,LK),I=1,NWN)
WRITE (NDUT, 2011 (WN{I+JH,LK),I=1,NWN)
FORMAT (8E16.8)

JH=JW+NWN

KZ=KZ+1

WRITE {NKA) NAD{NKO+1)

WRITE (NOUT, 200) NAD(NKO+1)
12=NAD (NKO+1 ) %ND

NKO=NKO+1

IF(KDAT4#I2,.LE.ITTTY) GO TO 57
IF(LPP.LE.LP} GO TO 58

WRITE(NOUT ,59) LPP,LP

5G FORMAT{' AUF DFR EXTERNEN FINHFIT NP WERDEN',13,*

1 ES SIND NUR',I3,f SAETZE VORHANDEN')

SAETZE GESUCHT

*

2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2140
27150
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3010
3020
3030
3040
3050
3060

OO

58

57

62

54

65

95

94

52

STOPS

READ (NP} NN, (AW(I) o I=14NN}
LPP=LPP+1

KNAT=0

WRITE (NKA) (AWIKDAT+1},1=1,12)
WRITE (NOUT,201) {AW(KDAT+I},I1=1,12)
KDAT=KDAT+12
INZ=INZ+1
IFUINZLLELNIWILK))
LK=LK+1

Jh=0

GO TD 64
WRITE (NKA) (XNAMUI),I=1,NWN)

IF(IUN.EQ.2)} WRITE (NDUT,201) (XNAM(I},I=1,NWN}
READ (NKE) NDAT

WRITE (NKA} NOAT

IF(IUN.EQ.2)  WRITE {NOUT,200) NDAT
I12=NDAT*ND

READ (NKE) {DAT({D),I=1,12)

WRITE (NKA) (DATIT)I=1,412)

IF{IUN.EQ.L) GO TO 51

IF{INKLLTJNNKL) GO TO 51

TF{LK.GT .NLUTIIT)) GO TO 51

NN=NZW{LK}

JW=0

DO 94 I=1,NN

WRITE (NKA) (WN{J+JIW,LK)sJ=1,NWN)

WRITE (NOUT,201) (WN(J+IW, LK), J=1,NWN)
JN=J W+ NWN

WRITE (NKA) NAD(NKO+1)

WRITE (NOUT,200) NAD{NKO+1)
12=NADINKD+1)*ND

NKO=NKO+1

IF(KDAT+I2.LE.ITTYIT) GO YO 95
IF{LPP.GT.LP} GO TOO 68

READINP) IND, {AW(J) +J=1,IND)

LPP=LPP+1

KDAT=0

WRITE (NKA) (AH(KDAT+J) ,J=1,12)

WRITE (NOUT,291) (AW(KDAT+J),J=1,12)
KDAT=KDAT+I2

GO Y0 51

GO TO 63

EINFUEGEN DFER NAMEN NWN=0

TUN=1

IF{MATN. NE, NMAT(1)} GO TO 65
IF(NTYPNJNE.NTYP(TIIT}) GO TO 65
TFILK.GTNLITEITY) GO T 65
1TP=1

READ (NKE) NDAT

12=NDAT*ND

READ {NKE) (DAT(I),I=1,12)
IF{KDAT+ND.LE.ITTTT) GO TO 66
IF{LPP.GT.LP) GO TD 68

3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3530
3600
3610
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66

90

70

71

72

75

73

69

85

84

READ (NP) NNy {AW(I),1=1,NN}
LPP=LPP+1

KDAT=0

Ne 69 [=1,NDAT

DO 70 J=1,NA

IND=(I-1 )XND+J

IFINTYPNLNE, 21520) GO T0O 90

IF(DAT(IND)*¥0.999395. 5T ARIKDAT+J))

GC TO 69

TF(NDAT(IND) *0,999995,5T.AWIKDATH J))
TF(DAT(IND)*1.000705.GT JAW{KDAT+J) )

GO TO 59

CONT INUF

GC TO 69

K={NDAT~1+1) %ND

L=0

nn 72 J=1,K
NN=T2+NDNAW (LK, TTIT )L
DAT{NN}=DAT{12-L)

L=L+1

K=NAW{LK,ITT)

DO 73 J=1L,X

D0 75 L=1,4ND
NN={T~=13%ND+L+{J-1) *ND
DAT{NN}=AW (K DAT+L)
KNAT=KNDATHND
IFIKDAT#NDLLELITTITY) GO TO 73
TF(LPP.GT.L?) GO TO 68

READ (NP) NN, (AWIL) yL=1,NN)
LPP=LPP+1

KCAT=9)

CONT INUE

NOAT=NDAT +K

12=NDAT%ND

LK=LK+1

TFILK.LENLOTITY) GO TQO 66
GO YO 83

CONT INUE

NN=0

K=NAW(LK,IIT)

ng 84 J=1,K

DO 85 L=1,ND

NN=NN+1

DATUIZ2¢NN) =AWIKDAT+L)
KCAT=KDAT#+ND
TF(KDATHNDLLELITTTT) GO TN 84
[F(LPP,.GT.LP) GO YO 68
READ (NP) INO, (AW{L),L=1, IND)
LPP={ PP+ 1]

KDAT=0

CONTINUE

NDAT=NDAT+K

12=NDAT %ND

LK=LK+1

IF{LK.LELNLITITY) GO TO 66

G3 T 71

6N T3 71

GO TN 70

3620
3630
3640
3650
3660
3670
3680
3690
3700
3710
3720
3730
3740
3750
3760
3770
3780
3790
3800
3310
3820
3830
3840
3850
3860
3870
3880
3890
3900
3910
3920
3930
3940
3950
3960
3970
3980
3990
4000
4010
4020
4030
4040
4050
4060
4970
4080
4190
4100
4110
4120
4130
4140
4150
4160

oo

[aRe]

[aEe el

O

AN O0

83

51

47

WRITE (NKA) NDAT

WRITE (NUUT,200) NDAT

WRITE (NKA) (DAT{I),I=1,12)

WRITE (NOUT,20L) (DAT(I),I=1,12)

CONT INUE

ENDF DER SCHLFIFE UEBER DIE NAMENSKOMBINAT IONEN

IF(TITPLEQ.O) GO TOD 47

IIT=11T+1

IF(TITLGTMM)  TIT=T1IT-1

CONTINUE

ENDE DER SCHLEIFE UEBER DIE TYPEN

CONTINUE
ENDE DFR SCHLEITFE UEBER DIE MATERIALIEN

ENDFILE NKA
RETURN
END

SUBRNOUTINE PI1708
FRKLAERUNG DER PROBIERDATEN ZU STANDARDDATEN

REAL*¥8 MATNAL200),TYPN(100) +MAT(2),TYP(20)

DIMENSTON NUNA(200),NUTY{100), XNAM{10),D0AT(40000),MNAME( 200} 4NMATI{
12) yNDTYP(100) yAW(40000) ,WN(80O0), NAW(200) 4KO(21),KQALT (20)
24 NTYP(20)

COMMON MATNA, TYPNyNUNA,NUTY o NZMy NIT, NOUT 4 NF

WRITE (NOUT, 1)

FORMAT (1 HL/' PROGRAMM 31708°'//)

ITTTT=40000

LP=0

NKE=4

NP=20

NKA=19

REWIND NKE

REWIND NP

REWIND NKA

MEX=0

READ (NF) MAT(1)4MAT(2) 4ISToNo(TYP(T),I=1,N}, (KOALT(I) ,I=1,N)

MAT MATERTALNAME

1S7T 1: MAT(1) IST DAS STANDARDMATERTAL
2: MAT(2) IST DAS STANDARDMATERIAL

N ANZAHL DER TYPEN

Typ NAME DES TYPS , DESSEN DATEN ZU STANDARDDATEN ERKLAERT
WERDEN SOLLEN

KOALT ANZAHL DER IM STANDARNDMATERIAL ZU UEBERSPEICHERNDEN NAMENKOM

BINATIONEN

READ (NKE) KSA,KSIyKK

4170
4180
4190
4200
4210
4220
4230
4240
4250
4260
4270
4280
4290
4300
4310
4320
4330
4340
4350

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
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[aRakal

[aXeEel

3
5
4
2
7
9

8
6

13

11

WRITF (NKAa) KSAKSI KK

READ (NKE) (MNAME({L),L=1,KK}
WRITE (NKA) (MNAMELL]) ,L=1,KK)
DO 2 K=1,2

DO 3 T=1,NIM
TF{MATIK).EQ.MATNA(T)) GO TN &
CCNT INUE

WRITE (NDUT,5) MAT(K)

FORMAT (* DAS MATERTIAL',A9,° IST NICHT IN DFR NAMEMUMRECHUNGSTA3EL
1LE ENTHALTEN®)

sTnes

NMAT (K)=NUNA(T)

CONTINUE

DN 6 K=1,N

nC 7 1=t,NZT
TF(TYP(K).EQ.TYPN(I)) GO TO 8
CCONTINUE

WRITE(NOUT,9) TYP(K)

FORMAT(®* DFR TYP?,A9,% IST NICHT IN DER NAMENUMRECHNUNGSTABELLF EN

1 THALTEN? }
STOPS

NTYP(K}=NUTY [ T)
CONTINUE
DO 11 I=1,2
DO 10 L=1,KK
TFINMATI I).EQ.MNAME(L)) GO TO 11
CCNTINUE
WRTTE (NNUT,13) NMAT(D)
FORMAT (' DAS MATERIAL',I9,' IST NICHT AUF KEDAK VORHANDEN')
STOPS

CONTINUR
KDAT=0

SCHLFETFE HE3ER DIF HMATERIALIEN

J=1

TF{IST.FR.1) J=2

DG 12 M=1,KK

READ (NKE) MANTY

IF(IST.EN.2) WRITE(NKA} MA,NTY

READ (NKF)} (NDTYP(I ), 1=1,NTY)

IF{IST.FQe2) WRITE(NKA) (NDTYP{I}, I=1,NTY)

SCHLEIFE UEBER DIE TYPEN

IDW=9

11T=1

J¥=0

DO 14 IT=1,NTY

KO(1irjy=0

ME=0

READ (NKE) MATN,NTYPN,NWNyNA yNWy NNK

IF(IST.EQa2) WRITE{NKA) MATN,NTY PN NWN NAyNWy NNK
[F(MATN.NENMATIJ)) GO TO 98
IF{NTYPN.NE.NTYP{IIT}) GO T0) 98

330
340
350
160
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
599
600
610
620
630
540
650
660
670
680
690
700
710
720
730
140
750
760
770
780
790
800
810
820
830
840
850
860
870

[aEaNel

el R

nNe]

a0

98

15

17
20

19

22
23

24
25

26

18

27

14

12

ME=1

ND=NA+NYW
IFINWN) 15915416
NAK1=1}

6C TO 17
NNK1=NNK

SCHLEIFE JEBER OIE NAMENKOMRINAT IONEN

DC 18 INK=1,NNKL

TFINWNI134+19,20

READINKE) (XNAM{TI), I=1,NWN)

IF(IST.EQ.2) WRITEUNKA) (XNAM{I),I=1,NWN)
READ (NKE) NDAT

TFUTSTL.FEQs2) WRITE(NKA) NDAT

12=NDAT*ND

READ (NKE} (DAT{I},1I=1,12})

[FIIST.EQ.2) WRITE (NKA) ( DAT(I),I=1,12)
IF(ME,EQ.0) 6O TO 18

TFINWN)21,21,22

DO 23 [=1,NWN

WNLT +JW) =XNAMIT)

JH=J W+NKHN

KO(LTITY=KD({IIT)+1

NAW{ INK+ INDW) =NDAT
IFIKDAT+I2,LELITTTIT) GO TO 24
WRITE (NP} KDAT,; (AW(T),I=1,KDAT}
KDAT=0

LP=LP+1L

DC 25 I=1,12
AW{KDAT+I)=DAT(T)
KDAT=KDAT+12
IF(JW+NWN.LELB00) GO TO 18
WRITE (NOUT,26)

FORMAT(* BEIM PROBIERMATERIAL IST DIE ANZAHL DER NAMENKOMBINATIONE
IN * ANZAHL DER WEITEREN NAMEN > 800')

NNKL =TNK
GO Tn 27
CONT INUE
ENDE NDER SCHLEIFE UEBER DIF NAMENKOMBINATTONEN

TE{MEL.EQ.DY GO TO 14

IDW=IDW+NNK]1

TIT=11IT+1

MEX=1

IF(TITLLEL(N+L)) GO TO 14
[IT=117-1

CONTINUE

ENDE DER SCHLEIFE UEBER DIFE TYPEN

IF(MEX.EQ.1) 60O TN 28
CONTINUE
ENDE DER SCHLEIFE UFBER DIE MATERTALIEN

380

890

900

310

920

930

940

950

960

970

980

990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
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fal

28

29

32

31

99

34

936

3A
35

37

38

39

42

IFCIST.FQ.1) 60 TD 29
I1=M+]1
GC T0O 390

REWIND NKE

Ii=1

IF{LP.EQ.D) GO TO 31

REWIND NP

READ (NP} NN, LAWIT) ,I=1,NN)

SUCHEM DER STANDARDDATEN

KDAT=0

LpP=1

J=2

[F(IST.FQ.1) J=1

NG 32 M=11,KK

IF(M.GT. 1) 6O T 99

READ (NKE) KSA,KSA,KSA

READ (NKE) (MNAME(I),I1=1,KSA)
READ (NKE) MAGNTY

WRITE (NKA) MA,ZNTY

READ (NXE) (NDTYPLT },I=1,NTY)
WRITE (NKA) (NDTYP{I),I=1,NTY}
i1r=1

ICW=1

JW=0

DG 33 TT=1,NTY

READ (NKF) MATNyNTYPN,NWNyNA,NW, NNK
NN=NNK

ICRU=]1

IND=1

TF(MATNONENMAT(I)Y) GO TO 34
TFINTYPN.NF NTYPLIIT)) GD TO 34
IDRU=2

TFINN.ERLO) GO TO 34
NN=NN+KO{I T T)~KNALT(TIT)

WRITFE (NKA) MATN,NTYPNyNWNyNA,NW NN
TELIDRULEQ.L) GO TO 35

WRITE {NNUT, 936)

FORMAT (1H )

WRITE (NOUT, 36) MATN,NTYPN,NWN,NA, N9, NN

FORMAT{1D11D)

ND=NA+NW

TF{NWN)37,37, 38

NNK1 =1

6N 10 39

NNK1=NNK

DO 40 INK=1,NNK1
TF{NWNI&GL 641 442

READ (NKE) { XNAMIT)},T1=1,NWN}

IF(IDRIILEQ.1) GO TO 56
DC 44 T=1,NWN

1430
1440
1450

1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
15650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1300
1310
1920
1330
1849
1850
1860
1870
1880
1899
1900
1910
1920
1930
1940
1950
1960
1970

laXa Rl

44

45

56

54

49
50

48

47

46

51
52

43

TF(XNAMU L)} #%1,000005.LT.WN(T+J«))} GO TO 45
CONTINUE

GO TO 54

WRITE(NKA) (XNAM(T),I=1,NWN)
WRITE (NAUT,68) (XNAMIT),1=1,NWN)
READ (NKF INDAT

WRITE (NOUT,36) NDAT
WRITE(NKAINDAT

I2=NDATEND
READINKE)(DAT(T),I=1,12)
WRITE(NKA)(DAT(I),1=1,12)

GC T0 49

BACKSPACFE NXE

GC 70O 43

UEFRERSPEJCHERN DER DATEN NWN>Q

K=KQ(IIT)

DO 46 L=1,K

WRITE (NKAY (WN(I+JW),I=1,NWN)
WRITE (NOUT,68) (WN{ T+JW)yI=1,NWN)
JW=JW+NWN

WRITE (NKA) NAWUIDW)

WRITE (NOUT,36) NAW{IDW)
[2=NAW{INW) £ND

ITW=IDW+1

IF(KDAT+I2.LELITTTT) GO TO 47
IF(LPP.LE.LP) GO TO 48

WRITE (NOUT,50) LPP,LP

FORMAT{® AUF DER EXTERNEN EINHEIT NP WERDEN', I3,!
1 ES SIND NUR?', 13, SAETZIE VORHANDEN')

stap
READ (NP) IND,{AW([},1=1,IND)
LPP=LPP+]

KDAT=0

WRITE (NKA) (AW(KDATHI),1=1,12}
WRITE (NOUT,68) (AW(KDAT+I),1=1,12)
KDAT=KDAT+I2 :
CCNTINUE

BACKSPACE NKE

K=KOALT(TIT)

IF(K.EQ.0) GO TO 52

DO 51 L=1,K

READ (NKE) (XNAMII},I=1,NuN)

READ (NKE) NDAT

I 2=NDAT%ND

READ (NKE) (DAT(I),I=1,12)
CONTINUF

IND= INK +K

IFLINDLGT.NNKL) GO TO 55

DO 53 INK=IND,NNK1

READ (NKE} [XNAM{I),I=1,NaN}
IF(IDRYI.EQ.2) WRITE (NOUT,68) (XNAMII) ,I=1,NdN)
WRITE (NKA) (XNAMIT),I=1,NAN}

READ (NKE) NDAT

SAETZE GESUCHT

L

1980
1990
2000
2010
2020
2030
2040
2050
2069
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520

- ¢01-11 -



53

[a¥eNa)

41

59

58

159

158

64

61

60

62

71

70

69

IF(IDRYLEQ.2) WRITE (NOUT,36INDAT
WRITE (NKA) NDAT

12=NNAT%ND

READ (NKE)} (DAT{I),I=1,12)

WRITE (NKA) {(DAT(I),I=1,12})

CONT INUE

GC 10O 55

UERERSPEICHERN DER NATEN NWN=0

IF(IDRU.EQ.1} GO TN 57

READ (NKE} NDAT

12=NNDAT®ND

READ (NKEJ(DAT{I),I=1,12)

TT2=NAWLINW) *ND

IDW=IDW+1

IF(KDAT+IIZ2 LE.ITTTY) GO YO S8
IF(LPP.LE.LP) GO TO 59

GO TN 49

READ (NP) IND,{AW(I),1=1,1IND)

LPP=LPP+]

KDAT=0

IFINA.GT.O) GO TO 158

D0 159 I=1,NW

DAT(I)=AW{KDAT+I)

KDAT=KDA T+NW

GO 7O 160

D0 60 I=1,NDAT

DO 61 L=1sNA

K=ND®(I-1)+L

TF(NTYPN NE,. 21520} GO TO 64

[FIDAT(K )*1,000005. LT AW(KDAT+1}) GO TO 56O
GO TO 62

IF(DAT{K }*1.,000005.1L.T.AN(KDAT+L)) GO TO 60
IF{DAT (K }%0,999995.GT. AW(KDAT+L}) GO TD 62
CONTINUE

GN TN 62

CONTINUE

NDAT=NDATH+NAW(IDW-1)

Gt TN 77

KI=(NAW( IDW—1)-1)#ND+KDAT

DC 69 II=I,NDAT

DO 70 L=1,NA

K=ND*(TI-1)+L

IFINTYPN.NE, 21520} GO YO 71

IF(DAT(K )*0.,999995.LT.AW(KTI+L))} GO TO 69
GC 70 72

IF(DAT{K)*1,000005.LT.ANIKI#L)) GO TO 69
IF(DAT(K)*0.999995.GTLAWIKI+L)Y) GO TO 72
CONTINUE

IF(IT.EQ.NDAT) G3 7O 69

Ti=11+1

GO 1O 72

CCONT INUE

2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
27150
2760
2770
27180
27190
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2870
2980
2990
3000
3010
3020
3030
3040
3050
3060
3070

sNelaNaNal

[a X%

72

73

76

75

78

17

66

160

67

68

57

40

55

33

32

NDAT=NAW{IDW-1}+1-1

G0 TQ 77
IE(NAW(INDW-L)~(ITI-1))T3,77,75
1 : €
II: £
LUECKE ZU GROSS
IP=1T-I-NaW{ IDW-1)
ITP=IP%*ND
L=(I1-1)%ND#+1

DO 76 [J4=L,12

DATITIJ-1TIP)}=DAT(1J)
NDAT=NDAT-IP

GO YO 77

LUECKE 7U KLEIN
IP=NAW(IDW~1)-{II-T)}

[IP=1P*ND

L={TI-1)%ND+1

DO 78 1J4=L,12
DAT(I2-14+L+[TIP)=DAT{2-1J+L)
NDAT=NDAT+ P

AUFFUFLLEN DER ANGEPASSTEN LUECKE
L={1-1}%ND

DO 66 K=1,I12
DAT(L+K)=AK{KDAT +K)
KDAT=KDAT+I12

WRITE(NKA) NDAT

WRITE (NOUT,67) NDAT
FORMAT(112)

IP=NDAT *ND

WRITE (NKA) ({DAT(I),I=1,1P}
WRITE (NOUT,68) (DAT(I),I=1,IP}
FORMAT {8E16.8)

GO TO 40

READ{NKE) NDAT

WRITE (NKA) NDAT

12=NNAT*ND
READ(NKE)(DAT{I},I=1,12)
WRITE(NKAY (DAT{I),I=1,12)

CONT INUE

ENDE SCHLEIFE UEBER DIE NAMENSKOMBINAT IONEN

IF(IDRU.EQ.1) GO TO 33

ITI7=11T+1

IF(IITLGTN) TIT=117-1

CONTINUE

ENDE DFER SCHLEIFE UEBER DIE TYPEN
CONTINUE

ENDE DER SCHLEIFE UEBER DIE MATERIALIEN

ENDFILE NKA
RETURN
END

RSTES WERTEPAAR , DAS MEBERSPEICHFRT WIRD
RSTFS WERTEPAAR , DAS NICHT MEHR UEBERSPEICHERT WIRD

3080
3090
3100
3110
3120
3130
3149
3150
3160
3170
3180
3190

3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3590
3600
3610
3620
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[aRalkal

iaNel

2000

3

6

30
10

12

11

SUBROUTINE PO1703

PROGRAMM 7UM AUSDRUCKEN DER SEQUENTIELLEN KERNDATENBTBLIOTHEK

REAL*3 MAN(100),TYP(100),MATNA(200},TYPN(100)

DIMENSION DAT (40020),NUNA(200),
MNAME{100) 4NDTYP(100)yXNAM(10) ,NMAT(100),

INUTY (100),
2NTYP(190)

COMMON MATNA , TYPN,NUNA NUTY o NZM, NZT, NOUT ,NF

WRITE (NOUT,2000)

FORMAT{1H1/* PROGRAMM 01703%//)

NKE=2
REWIND NKE

READ (NF} Ny (MANCI),TYP(I),T=1,N)

READ (NKE) KSI4KSI,KK

READ (NKE) (MNAME{L),L=1,KK)
DO & K=1,4N

DO 3 T=1,NIM

IF [MAN(K) .EQ.MATNA(I)) GO TD 5

CONT INUE
WRITE (NOUT,6) MAN(K)

FORMAT(* DAS MATERIAL',A9,' IST NICHT IN DFR KEDAKUMRFECHNUNGSTAREL

1LE ENTHALTEN®)

sToP s

NMAT (K )}=NUNA(I)

DO 7 I=1,N2T7
IF(TYP(X).EQ.TYPN{I)) GO TO 8
CCONT INUE

WRITE (NOUT,9) TYP(K)

FORMAT (' DER TYP',A6,' IST NICHY IN DER KENAKUMRECHNUNGSTABELLE EN

1 THALTEN' )

STOPS
NTYP{K)=NUTY {1)
CGONTINUE

K=1

SCHLEIFE UJEBER DIE MATERIALIFN

DO 16 M=1,KK
D0 10 L=1,KK

IF (NMAT(K).EQ.MNAME(L)) GO 7O 11

CONT INUE

WRITE (NOUT,12} NMAT(K)
FORMAT(®* DER MATERTALNAME',I8,°
1ERNDATENBIBL INTHEK®)

K=K+1

IF(K-N}30y 30,31

READ (NKE) MA,NTY

READ (NKE)} (NDTYP({I),I=1,NTY)}

SCHLEIFE UEBER DIE TYPEN

STEHT NICHT IN CER SEFQUENTIFLLEN K

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510

[aXeRal

13

14

15

18
17

19

21
22
20
23

24

25

26

32
29
28

33
34
36

16
31

DG 16 IT=1,NTY
IKS=0

READ {NKE) MATN,NTYDON, NWN,NA,NW, NNK

ND=NA+NW

IF (NWN) 13,13,14
NNK1 =1

GO YO 15

NNK1=NNK

SCHLEIFE UJEBER DIE NAMENSKOMBINATIONEN

DO 36 INK=1,NNKl
IF(NWN)IL17,17,18

READ (NKE) (XNAM{I) ,I=1,NWN)
READ (NKE) NDAT

12=NDAT*ND

READ (NKE) (DATII),I=1,12)
TF(MATNLNENMAT(K)) 60 TD 36
IF (NTYPNJNELNTYP(K)}) 50 T3 36
WRITE (NOUT, 19) MAN({K),TYP{K)
FORMAT(1X,2A9)

IKS=1

IFINWN)}20,20,21

WRITE (NOUT,22) (XNAM(I)+I=1,NWN)
FORMAT (1 X,8E15.8)

WRITE (NOUT,23) NDAT
FORMAT{I10)
IFINTYPN.EQ.14510) GO 7O 33
IFI{ND-3)24,25,26

NCAT 1= (NDAT+2}/3

ND1=6

GO 10 27

NDAT1=(NDAT+1}/2

ND1=6

G0 10 27

NDAT1 =NDAY

NDL1=ND

12=0

DO 28 IDAT=1,NDAT]

I1=]2+1

12=12+ND1

IF {INDAT-NDAT1) 29,32,32
I2=ND*NDAT

WRITE (NOUT,22) (DAT(I),I=I1,12)
CONT INUE

GC YO0 356

WRITE (NOUT,34) (DAT(I),I=1,12)
FORMAT (1X,20A4)

CONTINUE

IF(IKS.EQ.0) GO TO 16

K=K+1

IF{K-N) 16,16,31

CONTINUE

RETURN

END

520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
T00
710
720
730
140
150

760 -

170
780
790
800
810
820
830
840
850
860
870
880
890
900
910
920
930
940
950
960
970
380
390
1000
1010
1020
1030
1040
1050
1060
1070
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SUBROUTINE P0O1704
PROGRAMM ZUM AUSDRUCKEN DER KEDAK-INHALTSLISTE

REAL*S MATNA(200),TYPN(10D),WQ(100)
DIMENSINON TFELD(BBO),ITYP(880) ,NT(3),IWQ(100}
COMMON MATNA,TYPN,NUNA{200) ¢ NUTY (100} sNZIM,NZT,NOUT
WRITE (NOUT, 1)

FORMAT (1HL/®* PRNGRAMM 01704°%//)

LBN=18

DEFINE FILE 18(3950,880,U,K8)

NSZ=880

READ (LBN'L) (IFELD(I),I=1,NSZ)

IS=TFELN(12)

IwW=1FELD(13)

[T=1FELD(1L)

L=1

IF{1S.ER.L) GO T3 2

READ (LBN*IS) {IFELD(I),I=1,NSZ)
NAME=IFELD(IW)

J=0

IF(IW+1~NSZ)3,3,4

I15=1S+1

READ (LBN'IS) (IFELD{I)},I=1,NSZ)

IN=TW-NS Z

Th=1Wt1

J=J+1

NTUJ)=IFELD(IW)

IF{J.LT.3) GO TO 5

ITN=NT (1)

TTINS=NT( 2)

ITNW=NT(3)

IF{ITNS.EQ.1S) GO TO 6

READ {(LBN*ITNS) (ITYP(I),I=1,NSZ)

G0 TO 7

DO 8 I=1,NSZ

ITYP{TI)=IFELDI(T}

N0 9 1=1,ITN

IWQUII=ITYP(ITNW)

ITNN=TTNW+7

TF(ITNW-NSZ)}9,9,10

TINS=ITNS+]1

READ {(LBN*ITNS) (ITYP(K) K=1,NSZ}
ITNW=ITNW-NSZ
CONTINUE

DO 11 I=1,NIM
TF(NAME, EQ.NUNA(T)}
CONTINUE
WRITE {NOUT,13}) NAME

GO TO 12

FORMAT{' DAS MATERIAL®*,I8,' IST NICHT IN DER NAMENSZUDRODNUNGSTABEL

1LE DER FINGABE ENTHALTEN')

10

20

30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
150
360
370
330
390
400
410
420
430
440
450
460
470
480
490
500
510

[alaNe!

12

15

17

16
14

18

19

20

2000

STOPS

DO 14 J=1,ITN
DO 15 K=1,NIT

TRFOINQUU)EQ.NUTY{K)) GO TO 16

CONT INUE

WRITE (NOUT,17) IWQ{J)

FORMAT(® DER Typ*®,I8,' IST NICHT IN DER NAMENSZUORDNUNGSTABELLE DE
1R EINGABE ENTHALTENT')

STOPS

WQUJII=TYPNI{K)

CONTINUE

WRITE (NOUT,18) MATNALID},(WQ(J},J=1,1TN}
FCRMAT(1H ,A10/(12X,7ALO))

L=L+1
TF{L.GT.IT)
TW=TW¢l
IF{IN-NSZ)2,2519
IS=1S+1

GO T3 20

READ (LBNFIS) {IFFLDIT},I=1,NSZ)

IW=1IW-NSZ
GO TO 2
RETURN
END

SUBROUTINE POL720 ( MNAME,MTYP)

PROGRAMM ZUR FRZEUGUNG EINES KERNDATENFILES IN CARD

IMAGE FORMAT

INTEGER*2 MN(2),TZ(11) ,FM,FMT(10),FMFE(12),FMA{10),FX,FZ

REAL*8 7(300)

DIMENSION FELD(880) ,IFELD(880),DAT {40000}, IDAT (40000),MAT(4,100),
LITYPU7,100) s NWN(9,400) y XWN(9,400) 4 IFMT(5),IFME(6),IFMA(5)
2y MNAME (400) ,MTYP(2029)

COMMON Z yNUNA{200) s NUTY{100} yNZM,NZTNOUT
EQUIVALENCE (FELD(1),IFELD(L)),{DAT(L),IDATIL})

1o (NWN{L,1) o XWN{L,1) )y {MNIL) 4KK)
2o UFMT LY IFMTLL) D { FMEL L), IFMELL}) L (FMALL) L,IFMA(L) )

DATA 12/ TN LD b 3 t w4 P w5 1 rg G 0] @ 0g

WRITE (NOUT,2000)

FORMAT (1H1/* PROGRAMM 01720°//)
ITTTT=40000

NSZ=880

LBN=17

DEFINE FILE 17(3950,880,U,K8)
TMA=16

READ (LBN'1) (FELD(I),I=1,NS2Z)
IDAT{L)=1

l'lq

"'0

DATA FM/ 100 /,IFMT/ *{ PaTT124% 0" Xe"e'212,',714) Y/,
LIFME/ " (1 "4 'E12."y 'S5y "y 'Xy21%,%2,14%,°%) '/
2IFMA/* ( TV ALy Tyt Xyt P 212, 30 T14) '/ GFX/ XY/ 4 FZ/POY/
CALL FSPIE
IS5=1

v/

520
530
540
550
560
ST0
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740

10
20
30
40

50

60

T0

80

90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
210
280
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e

B9
90

91

92

10

12

11

16

15

14

13

45

46

IDAT(2)=TFELD{4)

L=TFELD( 11}

IS=IFELND(12)

IW=IFELD (13)

IF(IS-1) 1,241

READ (LBN'IS) (FELD(I),1=1,NSZ)
K=1

DC 5 N=1l,L

IN=1W

D0 89 M=1,NIM

TF(IFELD(ID) LEQ.NUNAIM)) GO TO 90
CONT INUE

KK=MNAME {2%M)

D0 91 M=1,11

IF(MN({1).EQ.IZ(M)) GO TO 92
CCONTINUE

GO TO 45

IF(MN(2) NELTZIL)) GO TD 45
MAT(1,K)=IFELD(IN)
IF(ID+1-NSZ)9,9,10

1S=15+1

READ (LBN'IS) (FELD(I),I=1,NSZ)
1D=0

10=ID+1

MAT(2,K)=TFELD(ID)
TFCID+#1-NSZ)11,11,12

IS=1S+1

READ {(LBN*IS) (FELD{I),I=1,NSZ}
ID=0

ID=1D+1

MAT(3,K)=IFELO(ID)
IFCID+1-NSZ)15,15,16

1S=1S+1

READ (ULBN'IS) (FELDI(I),I=1,NSZ)
10=0

ID=1D+1

MAT(4,K)=IFELD(ID}
IF{IN+1L-NS5Z}13,13,14

1S=1S+1

READ (LAN'IS) (FELD(I), I=1,NSZ)
I1D=0

IW=1ID+1

K=K+l

GO TO 5

IW=1D+4

IF(IW-NSZ)5:+5,446

IS=1S+1

READ (LBN'IS) (FELDU(I),I=1,NSZ}
I W=IW-NSZ

CONT INUE

K=K~1

IDAT{3)=K

KKK=K

IMI=0

WRITE (TMa,6) (IDAT(I)I=143),IMI,IMI,IMI

290
300
310
320
330
340
350
360
3710
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830

80

[aEalg!

17

18

26

22
23

21

FORMAT(3112,36X,212,14)

WRITE (NOUT,6) (IDAT(I)1=1,3) yTMI,IM],]IM]I
1=0

M=K /6

IF(M.EQ.0) GO TO 80

DO Bl KI=1,M

L=1+1

I=1+6

WRITE (IMA,7) (MATU14KK) ¢ KK=L,T) IMI,IMI,KI
FORMAT (6112,212, 14)

WRITE (NOUT,7) (MAT (1,KK),KK=Ls1), IMI, IMI,KT
IFIK.EQ. 1) GO TO 8

I=1+1

LO=M+1

FMT (2)=FMtK~-T+1

KI=72~{K-T+1)%12

M=K1/10%¥256+KI-KI/1L0*10

FMT(5)=FM+M

WRITE(IMA,TFEMT) (MAT(L yKK)yKK=TyK)},IMI,TIMI,LO
WRITE(NOUT, IFMTI{MAT(L4KK) s KK=T 4K} IMI,IMI,LO

SCHLEIFE UEBER NDIE MATERIALZAHL

DO 101 I=1,XKK

IM1=0

FMT (2) =FM+2

FMTUS)=FM+4%x256+8

WRITE( IMA,IFMT) MAT(L1,1)yMAT(2,1),1,IMI,IMI
WRITE(NIUT,IFMT) MAT(1,1),MAT(2,1),1,IMI,IM]
J=MAT(2, 1)
TF{MAT(3,I)-15}17,18,17
1S=MAT(3,1)

READ(LBN*IS) (FELD(K),K=1,NSZ)
IW=MAT (4,1}

10=1W

DC 21 K=1,J

ITYP{1,K)=IFELOD(ID)

JK=1

JK=JK+ 1

IF(ID+1~NS2)22,22,25

I1S=1S+1

READILBN'IS) (FELD{KK) ,KK=1,NSZ}
D=0

ID=1D+1

IF{JK~-T)23,23,21
ITYPLIK,K)=IFELDLID)

GO TN 26

CONT INUE

NK=0

M=3/6

IF{M,EQ.0) GO TO 82

DO 83 KI=1,M

N=NK+1

NK=NK+6

WRITE (IMA,7) (ITYP{1,KK) ¢KK=NyNK} 1 41MI4KI

840

850

860

870

880

890

900

910

920

930

940

950

960

970

980

390
1000
1010
1020
1030
1049
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
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23

82

[eXaXe]

32

28

27

g NeRel

30
34

35

36

40

39
37

102

[aEeNel

WRITE (NDUT,
TF(J.EQ.NK)
NK=NK+1
LO=M+1
FMT{2)=F4+J—
KI=72-(J-NKs
M=KI/10%256+
FMT(5)=FM+M
WRITE( IMA,I
WRITEINOUT, I

SCHLEIFE UEB

NC 101 K=1,yJ
IMi=0

TARFU=ITYP(3
IFLITYP( 2,K)

T) {ITYP{L KK}y KK=NyNK}y I, TMI,KI
GO 1O 32

NK+1
1)*12
KI-K1/10%10

FMT) (ITYP{L1,KK) KK=NKsJ}, T, IMI,LO
FMT) (ITYP{ L KK ) KK=NK,Jd), T,TMI,L0

ER DIF TYPENZAHL

yKIHITY P4 ,4K)
127,28, 27

IWP=ITYP(5,K}

ITYP(5,K)=0

WRITE (IMA,7) MAT(L,1) s {ITYP(KK,K) ¢KK=145) 1 +KsIMI

IFLITYP(2,K)
ES SIND WEIT

ID=ITYP( 6,K)
TFLIN~1S )34,
1S=ID

READ (LBN'IS
Tw=ITYP(T,K]}
NK=1ITYP(5,K}
DO 1021K=14+N
NWN(1,IK)=IF
JK=1

JK=JK+1
TF(IW+1-NSZ)
I5=1S+1
READ(LAN'IS)
IW=0

TH=1We1
IF{JK-ITYP(2
NWNIJK TK)=1
GO 10 36
CONT INUE
IN=ITYP{ 2,K)

SCHLEIFE UEB

IMI=1

DC 103 IK=1l,
N=0

M=IN/6
IF(M.EQ. O)
DO 85 KI=1yM
NN=N+1

N=N+6

130,431,390

FRE NAMEN VORHANDEN

35,34

) (FELD({KK) KK=1,NSZ)

K
ELD(IW)

39439,40

(FELDUKK) yKK=1,NSZ)

»K)~3137,37,102

FELD{IW)

ER DIE NAMENSKOMBINATTONEN

NK

GO TO 84

1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
17130
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930

84

86

41

42

57
58

47

53

52

54

393

94

95

88

97
96

WRITE (1MA,4) (XWN{KK,IK) KK=NNy N} I,KyTHMI
IMI=IMI+]

IFIIMILEQ.10000) TMI=0

CONTINUE

FORMAT (1P6EL12.5,212,14)
IF(IN.FQ.N) GO TO 86

N=N+1

FME(2)=FLZ+IN-N+1
KI=T72-{IN-N+1}*12
LO=K1/10%256+KI-KI1/10%10
FME(A)=FM+LD

WRITE(TMA, TFME) (XWN{KKTK) ¢KK=NIN} ,T,K, IMI
IVI=IMI+1

IF(IMI.EQ,10000) [IMI=0
FMT(2)=FM+]

FMT{5) =FM+6%256

WRITE(IMA, TFMT) NHUN{IN+14IK} 1K, 1M
IMI=IMT+1

IF(IMILEQ.10000) 1IMI=0
ID=NWN({IN+2, 1K)

I W=NWN(TN+3, K)

IFLID-1S)41442,41

I5=1D

READ (LBN®TS) (FELD{KK) KK=1,NSZ)
IP=NWN{IN#1, IK}XTARFU
TF(IP-ITTTT)&T447,57

WRITE (NOUT,58) MAT(1,1),MAT(2,1)
FORMAT({* ZAHL DER ARGUMENTF + WFRTE GROESSER 40000 FUER®,2110)
STOPS

DO 54 N=1,IP

DATINY=FELD(IW)
IF(IW#1-NSZ)52,52,53

1S=15+1

READ (LBN'IS) (FELD(KK) ,KK=1,NS5Z)
IW=0

Tw=IW+1

CONT INUE

IF{IARFU-3)93,94,95

NDAT1=(NWN{ IN+1,1K)+2}/3

ND1=6

GO T0 88

NDAT 1= {(NWN{IN+1,IK}+1}/2

NDL=6

GO 10 88

NDATL=NWN{IN+1, 1K)

NDI=JARFU

12=0

DO B7 KI=1,NDAT1

I1=12+1

12=12+ND1

IF(KI-NNDAT1)96,97,97

12=1p

FME(2)=FZ+12-11+1
L0=72-(12-11+11%12
ILI=1L0/10%256+L0-L0O/10%10

1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2260
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
22%0
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
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132
133

87
103

31

64
65
67

66

76

75

68

123

113

114

116

IF{ILI.NE.O) GO TO 132
FME(6)=T1211)
FME(T)=1201)

GO 70 133

FME(6)=FM+ILI
WRITE(IMA,IFME) (DAT(KK)KK=T1,12)+1,K,IMI
(MI=IMI+1
IF(IMI.FQ.10000) IMI=D
FME({T)=FX

CONT INUE

CONTINUE

60 70 101

ES SIND KEINE WEITEREN NAMFN VORHANNEN

IMI=1

FMT{2)=FM+]

FMTI5)=FM+6%256

WRITE(IMA,IFMT) TuWP,I,K,IMI
10=1TYP{6,K)

IW=ITYP{7,K}

IFLIN-15)64465464

I$=1D

READ (LAN*IS) (FELD(KK) 4KK=14NS7)
IP=1WP*T ARFU

IFLIP-ITTITIT) 66,66,67

WRITE (NOUT,58) MAT(1,1),MAT(2,1)
STOP5

DO 68 N=1,IP

DAT(N}=FELD{(IW)

TF{IWH1-NSZ) 75,75,76

IS=15+1

READ{LANTIS)I(FELDIKK) ,KK=1,NS2Z)
Iw=0

TW=IwW+1

CONTINUE

TF{ITYP(1,K)«NEL14510) GO TN 123
ND1=13

NDAT1=(1P+16)/18

GO 7O 116

IF(IARFU-3) 113,114,115
NOAT1={IWP+2)/3

ND1=6

GO TO 116

NDAT1=(IWP+11}/2

ND1=6

GO 70 116

NDATL=TWP

ND1=TARFIJ

12=0

KII=2

DO 117 KI=1,NDAT1

[1=12+1

12=12+ND 1
TF{KI-NDATL11118,119,119

2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
27160
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2980
2890
2900
2910
29290
2930
2940
2950
2960
2970
2980
2990
3000
3010
3020
3030

s EaXeRal

119
118

134
135

120

136

130
131

117
101

iz=1p

TFCITYP{1,K) NEL14510)
LO=12-11+1
IMI=LO/10%256+L0-10/10%
FMA(2) =F M+ I M]
LO=72-{12-11+1})%4
IMI=10/10%256+L0-LD/10%
IF(IMI.NE.O) GO TO 134
FMATS)=1Z(1)
FMA(B)=IZ2(1)

GD TO 135

FMA{S)=FMeIV]
WRITE(IMA,IFMA) (DATIKK
KII=KIT+1

FMA(6)=FX

GO TO 117

KEZ=0

IFLE2-11+]1.LE.6) GO TO
KEZ=1

1G6=12

12=11+5
FME(2)=F7+¢I2-11+1
LO=T72-(I2-11+1)*12
IMI=L0/10%256+L0-0L0/10%
IF(IMI.NE.O) GO TO 130
FME{6)=1Z(1)
FME{T)=12(1)

GO 1O 131

FME(6) =FM+IM]
IFIKIT.EQ.10000} KII=0
WRITE( IMA, TFME) (DAT(KK
KIT=KII+1

FME{ 7)=FX

IFIKEZ.EQ.D) GO TO 117
11=12+1

12=10

60 10 129

CONT INUE

CCNTINUE

REWIND IMA

RETURN

END

SUBROUTINE PO1721 (MNA)

PROGRAMM ZUR ERZEUGUNG EINES TETLES DER KERNDATENBIBLIOTHEK

IN CARD-IMAGE ~ FORMAT

INTEGER*2 11,
REAL*8 Z2(300),TMAT(200)

DIMENS ION FELD(880),IFELD{880),DAT(40000),IDAT{40000),MAT(4,100},
LITYP(T4100) ¢ NWN{(9,400)yXWN{94400), IFMT(5), IFME(6),IFMA(S)

50 Tn 120

10

10

)y KK=11,12) y1,4K,KTI

136

10

YeKK=T11,4T2)yI4K,KTI

FMy FMT{1D ), FME(12), FMA( 10),FX,FZ
sMNA (200}

3040
3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450

10
20
30
40
50
60
70
80
90
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2000

[

89
90

10

12

11

16

15

COMMON Z,NUNA(200)y NUTY{100) sNZM,NZT,NOUTNF6
EQUIVALENCE {(FELD(1),IFELD(1)V,(DAT{L1},IDAT(1})}

Ty (INWNTL, 1)y XWNEL,1) )

29 (FMTLL) o IFMT (1)) (L FMECL ), TFMELL ), (FMAL L), IFMA( L))

DATA 1Z/°% */

DATA FM/ 00/, IFMT/ *( TePT12,%,°

Xe®o9212,% 7141 ¥/,

LIFME/Z® {1 "3 "E12."y "5y "' Xe21%4%2,147%,°) "/
21FMA/ L Ty tAhy Yy Xof4 2125750 14) f/4FX/TXyt/4FZ/ PO/

CALL FSPIE

IS=1

WRITE (NOUT,2000)

FORMAT(IHL/® PROGRAMM 01721°//)
NSZ=880

ITTTT=40320

LBN=1T

DEFINE FILE 17(3950,880,U,K8}
IMA=16

READINF6) NNMy (TMAT(I),I=1,NNM)
READ (LBN'1) (FELD(I1),1I=1,NSZ)
IDAT{1)=1

IDAT(2)=1FFLD(4)

L=IFELD{11)

1S=1FELN(12)

IW=1FELD{13}

IF(IS-1) 1.2,1

READ (LBN*'IS) (FELD(I),I=1,NSZ)
K=1

DO 5 N=1,L

ID=1IW

DO 89 M=1,NIM
TFCIFELD(ID ) LEQ.NUNA(MY) GO TO 90
CONT INUE

TF{MNA(M).NE, THATIK 1) GO TN 45
MAT(1,K)=IFELD(ID)
IF(ID+I-NSZ)9,9,41D

IS=IS+1

READ {LBN'IS) (FELD(I)},1I=1,NSZ)
1D=0

10=1D+1

MAT{2,K)=IFELDI(ID)
IFUID#1-NSZ)11,11512

IS=1S5¢1

READ (LAN'IS) (FELD(I),I=1,NSZ)
10=0

ID=1IN+1

MATI3,K)}=IFELD(ID)
IF{ID+1-NSZ}15,15,16

IS=15+1

READ (LBN'IS) (FELD(I),I=1,NSZ)
1D=0

1D=IN+1

MAT{4,K)=IFELD(ID)
IF(ID+1-NSZ)13,13,14

1S=15+1

READ (L3N'IS) (FELDI(I),I=1,NSZ)

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
6540

13

45

46

137

80

17

18

26

1D0=0

Tw=ID+1

K=K+1

IFIK.GT.NNM} GO TO 137

GO 70 5

IW=1D+4

IFCIW-NSZ)5 45406

I1S=1S5+1

READ (LBN'IS) (FELD(I},I=1,NSZ)

IH=TW-NSZ

CONT INUE

K=K~1

IDAT(3)=K

KKK=K

IMI=0

WRITE (IMA,6) (IDAT(I),I1=1,3)IMI,IMI,IMI
FORMAT {3112,36X,212,14)

WRITE {NOUT,6) (IDAT(I) I1=143),1MI,IMI,IMI
1=0

M=K/6

IF{M.EQ.0}) GO TO 80

DC B1 KI=1.M

L=T+1

I=1+6

WRITE (IMA,7) (MAT(L1,KK)sKK=L 1)y IMI,IMI,KI
FORMAT(6112,212,14)

WRITE (NOUT,7) (MAT(L1,KK),KK=L,1),IMT, IMI,KI
IFIK.EQ.I) GO TO 8

I=1+1

LO=M+1

FMT{2)=FMeK~1+1

KI=72-{K-1+1)*12

M=KT1/10%256¢KI-KI/10%1)

FMT{5)=FM+M

WRITE(IMA, ITFMT) (MAT(14KK)yKK=I4K},IMI,IMI,L0
WRITE(NDUT, IFMT)I(MAT(L yKK) yKK=T, K) 4 TMI,IMI,1L0

SCHLEIFE UEBER DIE MATERIALZAHL

DO 101 T=1,KKK

IMI=0

FMT(2)=FM+2

FMT(5)=FM#4%256+8

WRITE( IMALIFMT) MATUL,1),MAT{2,1),1,IMI,IMI
WRITEINOUT, IFMT) MAT(L, I)yMAT(2,T)yTsIMI,IMI
J=MAT(2,1)

IF(MAT(3,1)-IS)17,18417

1S=MAT(3,1}

READILBN'IS) (FELD(K),K=14NSZ)

Iw=MAT (4,1}

1D=1W

D0 21 K=1,J

ITYP(1,K)=IFELD(ID)

JK=1

JK=JK+1

650
660
670
682
690
700
710
T20
T30
T40
750
T60
770
780
790
800
810
820
830
840
850
860
870
380
890
300
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1290
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190

- 601-I1 -



ono

[N aXel

25

22
23
21

83

32

28

27

30

34

35

36

40

39

[FOINE1-NSZ)22,22,25

IS=1S+1

READ(LBN'IS) (FELO{ KK} KK=1,NS5Z}
10=0 !
I1D=TN+1

TF{JK-T7)23,23,21

ITYP{UK, K)=TFELD(ID)

GO 10 26

CCNT INUE

NK=0

M=J/6

IF{M.EQ.0) GO TO 82

DO 83 KI=14M :

N=NK+1

NK=NK+ 6

WRITE (IMA,T7) CITYP(1,KK)yKK=NyNK},I,IMI,KI
WRITE (NOUT,7) (ITYP(L,KK)yKK=NyNK)y Iy IMI,KI
IF(J.EQ.NK) GO TD 32

NK=NK+1

LO=M+]

FMT{2)=F M+ J-NK+1

KI=T72-{J-NK#1}%12

M=K1/10%256+KI-K1/10%10

FMT(5)=FM+M

WRITE( IMAL,TFMT) (TTYP{1,KK) KK=NK,J}yI,IMI,LO
WRITE(NOUT , IFMT) (ITYP(1,KK)yKK=NKyJ),I,IMI,LO

SCHLEIFE UEBER DIE TYPENZAHL

DO 101 K=1,4

IMI=0

TARFUSITYP(3,K)I+ITYP(4,K)

TFUITYP(2,K))274284 27

IWP=ITYP (5,K)

[TYP{5,K)=0

WRITE (IMA,T7) MAT(LsI)o (ITYP(KK K} KK=1y5) 9l yK,IMI
IF(ITYP(2,K} )} 30,31,30

ES SIND WEITERE NAMEN VORHANDEN

10=1TYP(6,K)

IF{10-15)34,35,34

IS=1ID

READ (LBN*IS) (FELD(KK) yKK=14,NSZ)}
TW=1TYP{ 7,K)}

NK=ITYP{5,K)

DC 102TK=1,NK

NWN{1, IK)=IFELD(IW)

JK=1

JK=JK+1

TF{IN+1-NSZ)39,39,40

I1S5=15+1

READ(LBNT'IS) (FELO(KK),KK=1,NSZ)
iW=0

IW=1W+1

1200
1210
1220
1230
1240
1250
1260
1270
1280

1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740

37

102

84

86

41

42

57
58

47

53

52

54

93

TF(IK-ITYP(2,K)—-3)37,37,102
NAN{JIK,IKY =1 FELD(IW)

GO TO 36

CONTINUE

IN=ITYP( 2,K)

SCHLEIFE UERER DIE NAMENSKOMBINATIONEN

IMI=1

00 103 IK=14NK

N=0

M=IN/6

IF(M.EQ.0) GO TO B4

DO 85 KI=1,M

NN=N+1

N=N+6

WRITE [IMA,4) (XWN{KKyIK) KK=NNyN),I,K,IMI
IMI=IMI+1

IF(IMI.EQ.1D0000) 1IMI=0

CONTINUE

FORMAT (1P6EL2.5,212,14)
IF{IN.EQ.N} GO TO 86

N=N+1

FME(2)=FZ+IN-N+1
KI=T2-{IN-N+1})%12
LO=K1/10%256+KI-KI/10%*10
FME(6)=FM+LO

WRITE({ IMA, IFME) (XWN{KKIK) ¢KK=N4IN),I,K,IM
IMI=IMI+1

IF{IMIL.EQ.10000) IMI=0
FMT(2)=FM+1

FMT(5)=FM:6*256

WRITE(IMA, IFMT) NWNTIN+1,IK),I,K,IMI
IMI=IMI+]

IF(IMI.EQ.10000) IMI=0
ID=NWN{IN+2,IK)

ITW=NWN{IN+3,1K)

IF(ID~IS)41, 42,41

15=1D

READ (LBN'IS) (FELD(KK) KK=1,NSZ)
IP=NWN{IN+1, IK)*IARFU
IF(IP-ITTTT)4&T7,47,57

WRITE (NOUT,58) MAT{Ll,1),MAT(2,1)
FORMAT (' ZAHL DER ARGUMENTE + WERTE GROESSER 40000 FUER',2110)
sSToOPS

DC 54 N=1,I1P

DATIN) =FELD(IW)
TFCIW+1-NSZ)52452,53

[5=15+1

READ (LBN'IS) (FELD{KK) 4KK=1,NSZ)
IW=0

TW=IWt1

CONT INUE

IF(IARFU~3)93,94,95
NDAT1I=(NWN{IN+1,IK)+2)/3

1750
1760
17170
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
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eNeXe]

94

95

838

97
96

132
133

87
1C3

31

64
65
67

66

16

75
68

ND1=6

G0 T 83
NDATI=(NANUIN®L, 1K) +13/2
ND1=6

60 TN 8%
NDATL=NWN{IN+1,IK)
NDL=TARFU

12=0

D0 87 KI=1yNDAT1
I1=12+1

12=12 #ND1
IF(KI-NDATL)96,97,97
[2=1¢

FME(2)=FI+12-11+1
LO=T2-(I2-11+1)%12
ILT=L0/12%256+L0~L0/17%1)
IF(ILI.NE.O) GO TO 132
FME(6)=1Z

FME[T)=11Z

GO 7O 133

FME(6)=FM+IL]

WRITE(IMA,IFME) (DATIKK) KK=11,12}),14K,1MI

IMI=IMI+]
IF{IMI.EQ.10000) IMI=0
FME(T)=FX

CONTINUE

CONTINUR

GO TO 101

FS SIND KEINE WEITEREN NAMEN VORHANDEN

IMI=1

FMT(2)=FM+1

FMT{S5)=FM+6%256

WRITE(IMA, IFMT) IWP,I,K,sIMI
1D0=1TYP(64K)

TW=1TYP{T7,K)

IF(ID-1S)64,65,64

15=1D

READ (LBN'IS) (FELD(KK) yKK=1,NSZ)
I P=1WP*T ARFY

IF(IP-ITTTT) 66466,67

WRITE (NOUT,58) MAT{Ll,I)yMATI(2,1)
STOPS

DO 68 N=1,1IP

DAT(N)=FFELD(IW]

IF{IW+1-NSZ) 75,75,76

IS=1S+1

READ(LBN®IS) (FELDIKK) ¢ KK=1,NSZ}
IW=0

TW=1W+1

CONTINUF

TFLITYP(1,K) .NE.14510) GO 70O 123
ND1=18

NDAT1=(IP+161)/18

2300
2310
2329
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
2770
2780
27190
2800
2810
2820
2830
2840

123
113

114

115

119
118

134
135

120

130
131

117
101

GO TO 116
IF(IARFU-3)113,114,115
NDAT1=(IwWP+2)/3

ND1=6

GO 70 116

NDATL=(T1wWP+1)/2

ND1=6

GO TN 116

NDAT1=IWpP

NN1=TARFU

12=0

Ki1=2

DO 117 KI=1,NDAT1

T1=12+1

I2=12+ND1
TF(KI-NDAT1)118,119,119
12=1P
IF{ITYP({L,K).NE.14510} GU TO 120
LO=12-T1+1
IMI=L0O/10%256+L0-LD/10%10
FMALZ2)=FM+IM]
LO=T2-(12-11+1)%4
IMI=L0/10%256+L0-L0O/10%*10
IF(IMI.NE.Q) GO TO 134
FMALS5)=11

EMALG6)=11

GO YO 135

FMA(S )=FM+IMT

WRITE(IMA,TFMA} (DAT(KK) KK=T1,12),1,K,KIT

KIT=K11+1

FMAL6) =FX

GO TO 117

KEZ=0

IF(T2-T1+1.LE.6) GO TO 136
KEZ=1

10=12

12=11+5

FME(2)=FZ¢12-11+1
LO=T72-(12-11+1)*12
IMI=L0/10%256+L0~-L0/10%*10
IF{IMI.NE.D) GO TO 130
FME({6)=12Z

FMELT)=12Z

GO0 Y0 131

FME{6)=FM+IMI]
[F(KIT.EQ.12000) KII=D

WRITE(IMA,IFME) {(DAT(KK) KK=T1,12),1,K.KIT

KIT=KII+1

FMELT)=F X

IF(KEZ.EQ.0) GO T3 117
11=12+1

12=10

GC 10 120

CONTINUE

CONT INUE

2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
29890
2990
3000
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
3120
3130

3140

3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
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[aNeNaNel

2000

REWIND IMA
RETURN
END

SUBROUTINE POLT22

PROGRAMM ZUR FRSTELLUNG DER KERNDATENBIBLIOTHFK
AUS CARD-IMAGE - FORMAT IN DIRECT-ACCESS FORM

REAL*8 FELD{10),MATNA{200), TYPN(100),MAA

DIMENSION SATZ(40002),ISATZ(40000)MAT(880)},NDTYP(880),
IXNAM(10),X(40000),1SUM(880),NUNA(200),NUTY(100) ,MA4(2)
COMMON MATNA,TYPN,NUNA,NUTY , NZM, NZT,NOQUTP,NF6
EQUIVALENCE (SATZ(L),ISATZ(1)),(MAA,MA4(L))

CALL FSPIE

WRITE (NOUTP,2000)

FORMAT (1H1/Y PROGRAMM (1722'//)
ITTTT=40000

NS§Z=880

NUM=NSZ+]

KNNT=21

IFILE=1

DEFINE FILFE 1(3950,880,UyK8)
KLZ=0

1s=1

DO 701 I=1,NSZ

SATZ(I)=0.

po 750 1=1,3950

K=1

WRITE (IFILE') (SATZ(J)yJ=14NSZ)

EINLESEN DER ERKLAERUNGSSAETZE

FORMAT{6112)

READ (NF6) (ISATZ(I),T1=143),NMAT,I8ND
CALL ZEIT(ISATZ(4))
ISATZ{5)=NIM
ISATZ(6)=1

ISATZ(T) =14
ISATZ{8)=NZIT
ISATZ{11)=NMAT
N=ISATZ(5)%3
M=ISATZ{8}%*3
M=N+M+13

J=M/NSZ
1SATZ(12)=J+1
ISATZU13)=M~J¥NSZ+1
T=N+13

J=1/NSZ
ISATZ(9)=J+1
ISATZI10)=T~J*NSZ+1
K=14

3400
3410
3420

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480

[aNeNel

28

500

501

o~

800

25

26

404

405

NG 590 J=1,NIM
MAA=MATNAL J)
ISATZ(K)=MA4( 1)
ISATZIK+ 1) =MA412)
ISATZ(K+2)=NUNA(J)
K=K+3

DO 501 J=1,NIT
MAA=TYPN {J)
ISATZ(K) =MA4(])
ISATZ(K+1)=MA4(2)
[SATZ(K+2)=NUTY (J)
K=K+3

I=K~1

ND=0

TF{I-NSZ)5,6,7

N=1

GC TO 8

N=2

WRITE(IFILE*IS) (ISATZ(J),J=14NS2Z)
WRITE (NOUTP,800)IS
FORMAT (318)

ND=ND#+1

1S=1S+1

K=1

GO TD (404,+25) N

DG 26 J=NUM,I
KW=J-N5Z
[SATZIKW)}=ISATI( J)
I=1-NSZ

G0 1O 27

K=T1+1

1BR=K~-1

MIK=K
IF(IBRY444,405
WRITE (IFILE*IS) (ISATZ(J)},J=1,138R)
J=1

WRITE (NOUTP,800) T1S,J,IBR

LESEN DER BAENDER KNDT

IBR=0

1P5=0

IRS=0

11=KNDT-1

KK=0

DO "105 4J=1,18ND

11=11+1

REWIND I1

MR=KK+1

RFAD (Il,1,ERR=300) KSIT4KSI,KK
KLZ=KLZ+1

RFAD (II41,ERR=300) (MAT(L),L=1+KK)
KLZ=KLZI+1

KK=MR~1+KK

DO 10 KMAT=MR,KK

490
500
510
520
530
540
550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
140
750
760
770
780
790
800
810
820
830
840
850
860
aro
380
890
900
310
920
930
940
950
960
970
980
990
1000
1010
1020
1030
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12

13
14

17

18

19

20

21

804

805

802

806
807

READ (II,1,FRR=300) MATN,NTYP
KLZ=KLZ+1

READ (I11,1,ERR=300)(NDTYP(I),I=1,NTYP)
KLZ=KLZ+1

D0 15 [TYP=],NTYP

READ {11,1,ERR=300) MATN,NTYPN NWN;NA,NWyNNK

KLZ=KLZ+1

ND=NA+NW

TF{NWN}12,12,13

NNK1 =1

GO TO 14

NNKL=NNK

00 15 INK=]1,NNKL

TFINWN)}164 16,17 '

REAND (11,42 ,ERR=300) (XNAM(I},I=1,NWN)
KLZ=KLZ+1

FORMAT (6E12.6)

READ (IT,1,ERR=300) NDAT
IF{ND*NDAT.GT.ITTTT) GO TO 806
KLZ=KLZ+1

IFINTYPN.EQ.14510) GO T0 831
IF{ND-3)18,19,20
NDAT1=(NDAT+2)/3

ND1=6

G0 T0 21

NDAT1={NDAT+11}/2

ND1=6

G0 TO 21

NDATL=NDAT

ND1=ND

12=0

D0 22 IDAT=1,NDATL

11=12+¢1

[2=12+ND1
IF{IDAT-NDATL)23,24,24
I12=ND*NDAT

READ (II1,2,ERR=300) (X(I),I=11,12)
KLZ=KLZ+1

CONT INUE

GO TO 808

NDAT 1=(NDAT+161}/18

ND1=18

12=0

DO 802 IDAT=1,NDAT1

[1=12+¢1

[2=12+ND 1

IF({IDAT-NDAT 11803,804,804
I12=ND%NDAT
READ(II,805,ERR=300) (X(I1),I=11,12)
FORMAT(18A4)

KLZ=KLZ+1

CONT INUE

G0 TO 808

WRITE(NJUTP, B0T) MATN,NTYPN

FORMAT{®* DIE ANZAHL DER ARGUMENTE + WERTE IST GROESSER 40000 FUER®*

1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580

[aEeRaRel

808

302

69
38

31

30

115

35
36

37
121

120

122

39

40

34

1,2110)
STOPS

EINSPEICHERN DNER KNDT-DATEN
SCHREIBEN DFS BLOCKES DER ISOTOPENNAMEN

Ky=1
WRITE (NOUTP,302) KVyINK,ITYP,KMAT,JJ

FORMAT (1H 4HKV =13,2X,SHINK =13,2X,6HTTYP =T13,2X,6HKMAT =13,

12X94H34 =13}
TF{INK~1)69y 69,73
IF(ITYP-1138,38,41
K=MTK

ISATZ{K)=MATN
ISATZ(K+ 1} =NTYP
TF(KMAT®JJ-1) 30y 30, 31
IR=ITR

IK=1TK

GG TO 115

J=NMAT*4

I=K+J

J=1/NSZ

IR=IS+J

ITS=1IR

IK=T-J*NSZ
ISATZ{K+2)=1IR
ISATZ{K+3)=1K

NR=0

LR=]R

M=K

K=K +4

MIK=K

L=K-1

IFIL-NSZ})34, 35,36

N=1

G0 TO 37

N=2

TF(KMAT®*JJ~1) 120,120,121
READ(IFILE'IS) (ISUM{I),I=1,NSZ)
JA=M-1

WRITE(IFILE*IS) (ISUM{I),I=1,JA),(1SATZ(1},I=M,NSZ}
I=NSZ

WRITE {NOUTP,B00)IS,M,I
M=1

GC 10 122
WRITE(IFILE!IS) (ISATZ(I),T=1.NSZ)
WRITE (NOUTP,800)1S
18=15+1

K=K~NSZ

GC TO (141,39)eN

DO 40 J=NUM,L

KH=J~NSZ
ISATZ(KWI=ISATZ{ S
L=L~NSZ

TF{IS-ITS)EL 641164117

1590
1600
15610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
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[ NeNel

116

118

119

READIIFILETIS) {ISUMII) I=14NSZ)
IF(M-1)118,118,119

WRITE{IFILEYIS) (ISATZ(I),I=1,1),(ISUMIT),I=K,NSZ}

=1

WRITE (NOUTP 48001 TS 1,1
G0 TO 141

N=M-1

WRITECIFILEYIS) (ISUMITI),I=1,N), (ISATZ(L), =M, L}, (ISUMIT), I=K,NSZ

O

117
123

141

124

125

41

303

42

43
44
45

46

99
93

49
50
173

WRITE (NOUTP,B800}1S.MyL

GO 70 141

IF(M-1)123,123,116
WRITE(IFILE®ISY (ISATZ(I),I=1,L)
I=1

WRITE (NDUTP,800)IS,1,L
TF(KMAT*%JJ~1)124,124,125

IRA=TS

GC TO 41

IRA=ITR

SCHREIBEN NDES BLOCKES DER TYPNAMEN

Kv=2

WRITE {NOUTP,303) KV
FORMAT (1H , 4HKV =13)
ISATZUIK)=NTYPN
ISATZ{TIK+1}=NWN
ISATZ{IK+2)=NA
ISATZ(IK+3)=NW
IFINWN]42,42,43
TSATZ(IK +4)=NDAT
GO 1O 44
ISATZ{ IK +4)=NNK
TF{ITYP-1)45,45,46
J=NTYP =T

I=1K+J

J=1/NSZ

ITR=IR+J
TTK=I-J*NSZ
ITN=1ITR
ISATZ(IK+5)=ITR
ISATZ(IK+4)=1TK
J=1IK

IK=TK+7

L=IK~1
IF{IR~-IRA}I8,99,98
NR=IR
TF(L-NSZ )47, 48449
N=1

GO TO 50

N=2
IF{IR-NR)74,173,74
READ{IFILE'IR} (ISUM(I) T1=1,4NSZ}
K=J-1

WRITE(IFILEYTR) (ISUM{I1),I=1,K), (ISATZ(T),1I=J,NSZ)

2140
2150
2160
2170
2180
2190
2200
2210
2220

2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680

oo

74

76

52

11

47
95
738

32

33

96

51

53

73

54

55

56

86
85
58

1=NSZ

WRITE (NDUTP,800)IR,Jy1

GN YO 76

WRITE(IFILE*IR) (ISATZ(I},1I=14NSZ)
WRITE (NDOUTP,800) IR

IR=]R+]1

IK=1K~NSZ

GO TO (51452} 4N

DC 11 N=NUM,L

KW=N-NSZ

ISATZ(KWI=ISATZ(N}

L=L~-NSZ

J=1

IF{IR~NR135,793,95
IF{IR-1TN)96,78,96
READ(IFILE*IR) (ESUMIT),I=1,NSZ)
K=J=~1

M=1+1

1F{K)32,32,33

WRITFE (IFILE'IR) (TSATZ{I)yI=JsL),(ISUMIT},I=M,NSZ)
WRITE (NOUTP,800)IR,J,yL

NR=TR

GO 70 51

WRITE(IFILE® IR (ISUMIT) pI=14K)p (ISATZ(I), I=Jy L) (ISUM(I},1=M,NSZ}
WRITE (NOUTP,800)}IR,J,L

GO TO 51

WRITE{IFILET IR)LISATZ(T),I=1,1)
I=1

WRITE (NOUTP,B00)IR,I,L

NR=TR

TF{NWN}32,82,53

SCHREIBEN DES BLOCKES DER WETTEREN NAMEN
IWNK=TTK

IWNR=ITR

T TW=TWNK

DO 54 J=1,NWN
SATZ{TWNK) =XNAM(J)
TWNK=TWNK+1

ISATZ{ IHNK)=NDAT
IF{INK-1)55455,56
J= (NWN+3 ) ENNK
I=J+1TW

J=1/NSL
ITK=1-J%NSZ

I TRATWNRAY
ISATZ{TWNK+1)=TTR
ISATZ(IWNK+2)=ITK
THNK=TWNK+3
L=IWNK~1
IF{TWNR-NR}B5,86,45
IRS=TWNR
IF(L-NSZ)34,58,59
N=1

2690
2700
2710
2720
2730
2740
2750
2760
2170
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
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leknEel

]

89

79
el

62

63

84

397
33

171

102

97
182

82
61

64

65

ar

287
67

68
70
90
126

GC TN 60

N=2

IF (IT4-11893,79,80

READIIFTILE® IWNR) (TISUM{Tl,I=L,¢NSZ)

J=1TwW-1

WRITE(IFTLEY TWNRICISUMIT)y T=1yd )y CISATZ(T),I=1TWyNSZ)
GO TN 81

WRITE (TFILE? IWNR) (ISATZ(I},I=1,NSZ)

TWNR=TWNR+]

TWNK=TWNK-NSZ

ITW=]

GG T0 (82,62) 4N

DO 63 N=NUM, L

KW=N-NS7

ISATZ(KW}I=ISATZ(N)

L=L-NSZ

IF{IWNR-TRS)57,83,57

IFUTWNR-TBR) 397, 83, 397

IF{IWNR-TPS)O7,83,97

REAND(ITFTILE® IWNRY (I SUM{I),I=1,NS2Z)

J=1TH=-1

K=l+1

1F{41102,102,101

WRITF(IFILE® IWNR) (ISUMEI)I=1,J), {ISATZ(I),I=1ITW ,L}y{ISUM(I),
1I1=K,NSZ}

GC TNLA2

WRITE(IFILE® JWNRY (TSATZIL) oI=1THW oL} (ISUM{ITY,I=K,NST)
GO 10182

WRITE(IFTILEYIWNR) CTISATZ(T},I=1,L)}

IRS=TWNR

SCHREIBEN NDES BLOCKES DER DATEN

J=NDATEND
IFLINK-1)61:61564
IBR=ITR

IMK=0

IB=1TK

DC 65 I=1,J
SATZUITK)=X{1]}
TTK=1TK+1

L=ITK-1
IFUITR~-IPS)A7,88,87

1€ (ITR~-IRS}287,83,287
[MK=TTR

IF(L-NSZ 66,6768

N=1

GO 10 70

N=2
IF{ITR-IMK)126,90,126
IF(IB-1)126,126,127
WRITE(IFILE®ITR) (SATZ{I),I=1,NSZ}
GO 7O 91

READ (IFILE® ITR} (ISUM(I),I=1,NSZ)
J=1R-1

3240
3250
3260
3270
3280
3290
3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3590
3600
3610
3620
3630
3640
3650
3660
3670
3680
3690
3700
3710
3729
3730
3740
3750
3760
3770
3780

S1

71

T2

66
93

103
104
114

92

112

111
113

15

10
105

300

301
305

WRITE (TFILETITRY (ISUMET ) T=19J), (SATZUE)I=TB,NSZ)
ITR=TTR+ 1

ITK=1TK-NSZ

i8=1

GO TO (15, T1),N

DO T2 N=NUM,L

KW=N-NS7

SATZ KW} =SATZ{N}

L=L—-NSZ

GO Tn287

TF{ITR-IMK)92,93,92

READ (IFTLETTITRI(ISUMIT) I=1,NSZ}

J=1R-1

K=L+1

IF{4)103,103,104

WRITE(IFILE*ITR) ( SATZ(I), I=IByL),CISUMIT)I=K,NSZ)
GC 7O 114

WRITECIFILETITRY (TSUMITI)»E=1J) s (SATZILD)sT=1B,L),(ISUMIT)},I=K,
1NSZ)

IPS=1ITR

GO Ta 15

J=18-1

REAN (IFILE*ITR) (ISUM(T1),1=1,NSZ}
TF{J)111,111,112
WRITECIFILETTTRYCTISUMIT) o I=1,J) s (SATZ{T) I=TB,L)
GG T0 113
WRITE(IFILE'ITRI(SATZII),I=1,L1)
IMK=1TR

1PS=1TR

CONT INUE

CONT INUE

REWIND [1

Kv=5
WRITE (NOUTP,303) KV
GO TO 305

KLZ=KLZ+1

WRITF (NOUTP,301) KLZ

FORMAT (1HO, 5HKLZ =16,16H ERROR IN 01722)
RETURN

END

3790
3300
3810
3820
3830
3340
3359
3860
3870
3380
3890
3900
3910
3920
3930
3940
3950
3360
3970
3980
3990
4000
4010
4020
4030
4040
4050
4060
4070
4080
4190
4100
4110
4120
4130
4140
4150
4160
4170
4180
4190
4200

- GH=-IT =~
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3. Input preparation for the program system KEMA (REFORM)

3.1 The purpose of the program REFORM

The purpose of the program REFORM is to facilitate the preparation
of the input for the program system KEMA. For example if sets of
data for a material are to be cancelled on KEDAK it would be
cumbersome to specify each and every data point in the data
alteration block DROPS in the program 01750 or 01751 of KEMA
/see 2.3/. The program REFORM traces these energy points on
KEDAK within a specified energy interval and generates the data
alteration blocks as required by programs 01750 or 01751. REFORM
also generates if desired DROPA and ADD blocks. The data to be
inserted in KEDAK may be stored on cards or any external storage
unit and in any specified format.

REFORM is written in FORTRAN IV and uses the ASSEMBLER routine
DEFI and the FORTRAN IV routine LDFPAC /see III. 2/.

3.2 The input for REFORM

The input for REFORM is divided into two parts. The first part
contains the information about the desired data alteration block
and is read from the standard input unit using a NAMELIST list.
Therefore it is not necessary to repeat input data which were
already specified in the previous NAMELIST group. The second part
of the input is only necessary if a data alteration block ADD is
to be produced. This part contains the arguments and respected
functional values which are to be inserted or changed on KEDAK.
These data pairs are read from unit IN with format FORMT as
explained below. Both the first and the second part of the input
must be ordered as the materials and data types appear on KEDAK,
in detail: the materials have the order as given on KEDAK, the
data types have an alphabetic order and the arguments in part
two of the input must be given with increasing arguments.

For each data alteration block to be produced a separate NAMELIST
group is specified.

Description of the NAMELIST groups:

a) Production of the data alteration block DROPS
b&DROPb-options:



NAMZ
NAMEN

EMIN
EMAX
TST

&END

[
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number of names, default: NAMZ = 2

'materialname’, 'data type name', eventually
further names

T

lower:} limit of the energy region to be cancelled

upper J on KEDAK in eV. EMIN < E < EMAX

Print output of the data alteration block
is desired.

Print output of the data alteration block
is not desired.
Default: TST = F.

b) Production of the data alteration block ADD

b&ADDb -

NAMZ
NAMEN
TST
IN

FORMT
ANZAHL

COMT =

&END

options:

[}

see a)

external storage unit on which the sets of data
to be inserted or changed on KEDAK are stored.

' (format of the sets of data stored on unit IN)'

number of the sets of data to be inserted or
changed on KEDAK

the first record on unit IN is a record containing
comments

no comment precedes the sets of data.
Default: COMT = T

¢) Production of the data alteration block DROPA

b&DROPAD

NAMZ

NAMEN

TST
&END

options:

see a)
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3.3 The output of REFORM

REFORM writes the desired data alteration blocks on the external
storage unit 2, They can be directly used by the program system
KEMA.

In cases TST is set equal to T the data alteration blocks are
also printed on paper.

The error messages are self explaining

3.4 Needed external storage units

5 Standard input unit.
6 Standard unit for the print output.

2 Storage unit on which the data alteration blocks
are written.

9 External storage unit which is used to take up
the NAMELIST groups from unit 5. This is done to
enable a BACKSPACE statement for this part of the
input.

1 Storage unit containing the KEDAK library which 1is
to be modified.

IN Storage unit (units) containing the data pairs used for
the data alteration block (blocks) ADD. Because it is
possible to read the data pairs of each material and
each data type from another storage unit, for all
specified units IN in the NAMELIST groups b&ADD a special
DD-card is necessary.

3.5 Input example

J/INRDYLTKE  JOR (1917 ,17Ls26%1A) 4K ATFGMSELEVEL=11,1),CLASS=A
/*SETUPR CEYICE=2314, [D=CFKI5)

/7SETUP REVICF=2314,1IN=6GE5K029

//OTXIN FRLE

F/LoLIB B UNIT=2314,V0L=SFR=(FKO29, DSN= TNR 4 STE TN, LOAD, D 1SP=SHR
7/LSYSIN DR %

INCLUDE L TE(RTFURM,LOFPAC)

ENTRY MAIN

J/GLETCIFCAL DD UNTT=2314,V0L=SER=GFKISD, DTSP=SHR, NSN=KELAKI
J/CJFTCGEDCY DD UNIT=SYSDA,DTSP=(NFA,DELETE) ,SPACE=(80,15C30),

/7 PCE=(RECEM=F,3LKS[2F=20,LRECL=82)

J/GLETI2FCCT N UMIT=SYSDA,SPACF={TRK 521 yDSA=ARFFNRN,DTSF=(NFJ, PASS)

//G.FTI5F21 DD %

U 238 SGG

2.500000E+00 3.750000E+01
3.000000E+00 4. 125000E+02
1.000000E+01 2.015000E+02
U 238 SGN

6.025000E+01 2.030000E+00
2.000000E+02 6.500000E+01
5,500000E+02 4.200000E+00
8.200000E+02 1.950000E+Q00
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//7GSYSIN [0 *

ENQOD NAMTZ =2 NAMEN=1] 2388 , ISGGY  EVMIN=L1 .y EMAX=T1,0F1 ,TST=T,4END

AAND NAMI =2 MAMEN=ME 23R, 8SGGY, INSIS,ANZAHL=3,C0OMT=T,
FORMT=t{2FE 14,63 %, R5ND

ENEOP NAMZ=2  NAMON=1] 2300, TOGHN T EMIr=2 3F3,EMAX=2, 5F 2, AFND

ZAOD NAMT =2 NAME =91 2383 , 8 SON® , TN=1 S, ANZAHL =4 ,00¥T =T,
FORMT=9 [2ET1 4.4 )8, &FND

3.6 The output for the example




IN=15

ITE KARTENETINGAZE wWJRDF AUF FT 9

BETWELN

TEST PRINTOUTSWRITTEN
49 DROPS

1
L. 901932E+09
4439300E+00
6. 13861C+00
6.H57T984F+00
9.80899L£+400

NAMZ = 2 NAMEN=l}

*COMMENTC ARD* i

ANZAHL=

DRIP_REQUESTED.

0.1000003E+01 RV
NMAMEN={)

3.19335F+00
4. 39661E+00
6.45413E+0)
6.69%491E+0D

AND
2338

SGG

RECORD RFADS:
2 U 233

SGG

3.93401E+09)
4.40136E+00
6.55621E00
6.71059E+00

ADD_REQUESTED,.

238 SG

3 CoMT= T

238

SGG

TEST PRINTOUT.WRITTEN RECORD READS:

15 ADD

1
2.50000E+D0

BETWEEN

2 U 238

1
3.75000E+01

SGG

3.00000E+00

DEOP _BEQUESTED,

0.38903)E+D4FY
NAMEN=U 2313

AND

SGN

TEST PRINTOUT.WRTTTEN RECORD READS:

89 DRNOPS 2 U 238 SGN
1
3.80001E+403 3.80026FE+03 3.8)3115E+03

3.83053E+403
3.83083E+03
3.85630E+03
3.86018E+03
3., 871976£+03
3.88251E+03
3. 895106+ 03
3.89966E+403

3.83)56E+03
3.83112F+03
3.35654E+03
3.864%4TE+03
3.87200E+03
3.33230E403
3.8%511E+03

3.83057£+03
3.83212E+03
3.35663E+03
3.867T17E+)3
3.37203E+03
3.89365E+03
3.89513E+03

ABGFLEST o FS WURPMEN

D.1))2IDF +#02EV FOR:

4420959F+0D
4+41416F+0D)
6+60386E+0D
6. 73614E+00

FORMY=(2E14.6)

4412500F+02

0.3900D0F+04EV FOR:

3.R0659F+03
3.83059F+03
3.33223E+403
3.85670£+03
3.86842F+03
3,837207E+903
3.89461E+D3
3.89514F+03

7 KARTEN

NAMZ= 2

44 29632E+3D
4,42T48E+00
54562941E+00
6. 78379F+00

1. 0CO00E+D1

NAMZ= 2

3.81430F403
3.83060E+03
3.83392E+03
3. 8567T7F+03
3.87039E+23
3.87219E+403
3. BG48RE+ D3
3.89517E+93

GELESEN

4.335831E+400
44%44919E+00
6+ 645095 +00
6.88587E+Q0

2.01500F+02

3.82297TE+03
3.83061E+03
3.84893E+03
3.85686E+03
3.87115E+03
3.87230E+03
3. 89498€E+03
3.89522E+03

44358528400
4.4836TE+00
6. 66016F+09
T.15139E+00

3.82908E+03
3.83063E+D3
3.853226403
3.85T10E+03
3.87151E+03
3.87249F+03
3.89503E403
3.89532FE+03

44 3T184F+00
4.57641E+00
6+ 6657 5F+0)
8.08201E+00

3.83008%+03
3.832564FE+)3
3.85486E+03
3.85735E+03
3.87170E+03
3.87285E+03
3.89506E+)3

3.89559E+03

4.38464E+00
4.80199E+00
6.6 TOOJE+DD
B.58820E+00

3.83037E+03
3.83067E+03
3.85563E+03
3.B57T7E+03
3.87181E+03
3.87361E+03

.3.89507E+93

3.89573E+403

4438939E+00
5. 43892F+00
6.56T7425E40N
9.01828E+0D

3.83048E£+03
3.83072E403
3.35605E+03
3.45854E+03
3,87193E+403
3.87553E+03
3.89509E+03
3.89702E+03
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ADD_REQUESTED.

NAMZ = 2 NAMEN=L 233 S5N

IN=15 ANZAHL= & COMT= T FIRMT=(?2E14.56)

*COMMENTCARN 1) 238  SON

TEST PRINTOUT.WRITTFN RECORD READS:
17 ADD 2 U 238 SON
1 1

£.02500E+01

2.33J00E+00  2.00000E+07

WRTTTEN RFECORD

6.50000E+01 5.5000CF+02
TESTPRINTOUT:

READS:
2ENDE

XAokkk NOAMAL END 3F JNR

4.20000E+400

8.,2C0000E+402

1.95000E+00

= 121-11 -
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3.7 List of REFORM




aEeNel

10 12 ITF(ANZAHL.GT.O) GITN 14 560

AJE BAND FUFR KRIEGSCHES AUFNAHMEPRIGRAMM KEMA 290 WRITE(KNUT,501) 570

30 601 FORMAT(//t *kks [RRJIR IN PARAMETER ANZAHL'//) 580

DIMENSTIN Z{1000),FORAT(20) s TEXT(20}, NARGU(3) 4 FMT(20) 40 NERR=1 590
REAL NAMNAT (2} 50 14 IF{FORMT(1) JNF.ALANK) GOTO 16 600
INTEGER ANZAHL,ANZ, A 60 WRITE(KOUT,602) 610
REALAS NAMEN{10),ANDX/YADD'/; DRIPS/ SDROPS */,ENDE/YENDE '/, TYP,4AT, 70 602 EORMAT(//? *&kxfs ERANR [N FORMY'//) 620

IE XC,DNRNP X/ P IRAPAT / 8y NFRR=1 630
LOGICAL TST/F/,COMT/T/ 30 16 [F(NFRR.NE.D) STAP 640
DATA AD/' 2ADY/,DR/' &DR'/,N2/'0PA */ 100 17 IFCNOTLCOMT) 6OTH 21 650
DATA FORMT/20%¢ Y/ BLANK/! YN/ GN212/ 110 READ(IN,61T) TEXT 669
DATA EMIN/D o/ EMAX/ 1.E+13/ 4 ARG/ ARG */ 120 WRITE(KQUT,618) TEXT 670
NAMEL IST/IROP/NAMZ, NAMEN,EMIN, EMAX yTST,MAT , TYP ,EXC 130 6518 FORMAT (/! *COMMEN TCARD*, 2044/ ) 480
EQUIVALENCE (ANZAHL yANZ 4 A): (FORMTOLY,FMT( 1)) o IN,KARTEH) o {NAMEN(1) 140 21 IF{ANZAHL:=(NARG+MWFRT )} LE.MAXZ) GO TO 18 690

Le MAT) o INAMEN(2),TYP ), (NAMEN(3),EXC) 150 MAX=MAXZ /(NARGNWERT) 700
NAMELIST/ADD  /NAYZ JANZ AHL yNAMEN,FORMT,IN,NARG ,NWFR T, TST ,COMT, 160 GOTN 20 710

1 ANZ A FMT,KARTFH,TYP,MAT,FXC 170 18 MAX=ANZAHL 729
NAMEL IST/DROPA/MNAMZ yNAMEN yTSTyMAT 4 TYPLEXC 180 20 M=MAX%{NARG+NWERT) 730
COMMON/ INDUT / KIN,KOUT 190 READ(IN, FORMY ,END=32) (Z(1},1=1,M) 740
CALL FSPIE 200 NWORD=NAMZ + T+M 750
NARG=NT 210 TF(NARG.EN.D) NWORD=NWORD+1 760
NWERT=N1 220 NMD=2 770
NQUT=2 230 CALL STRINGINAMDAT{ 1) ,NAMEN{1},8) 780
MAXZ=1020 240 IFINAMZ.LT.2) GDTO 25 790
KIN=9 250 NMD=NMD+2 800
KOUT=6 260 CALL STRING{NAMDAT(3),NAMENI(2),8} 81n
IN=KIN 270 IF{NAMZ,.LT.3) GOTD 25 820
NERR=D 280 DO 22 1=3,NAMZ 830
NAMZ=2 290 NMD=NMD+1 840
ANZAHL=0 300 22 NAMDAT(T+2)=NAMEN(I) 850
KEKONT=0 310 25 CCNTINUE 860
NNFRR=0 320 IF{NARG.GT.0) GO TO 7105 370
CALL CDINPT 330 WRITE (NJUT) NWORD,ADX,NAMZ , (NAMDAT{I) ,1=1,NMD) NARG, NWERT ARG, 880

10 READ(KING6174FEND=50) TEXT 340 1T4ZET) ,1=1,M) 890
617 FORMAT(2DA%) 350 GO TO 796 900
IFITEXT(1).EQ.AD) 50T0O 11 360 705 WRITE(NNUT) NWORD,ANX,NAMZ, {NAMDAT{I)}, 1=1,NMD) ,NARG ,NWERT, 910
IF(TEXT{1).EQ.DRANDJTEXT{2}).EQ.D2) 62 TO 700 370 1 (ZU1) 4I=1,M) 920
IF(TEXT(1).EQ.DR) GOTO 120 380 706 IF(TST) WRITE(KOUT, 611} NAORDyADX, NAMZ, (NAMDAT (I),1=1,NMD) 930
WRITE(KDUT,607) TEXT 390 IF{NARG.GT.N) GO T0 727 940

607 FORMAT(////20X,* ERRORMESSAGE /Y +%,19X,12(7_")/ 400 IF{TST) WRITE {KJUT,708) NARG,NHERT ARG {Z(I),1=1,M) 950
1 ' %V, 20A4%, 7% NOT IDENTIFIED AS CONTROL CARD.'//) 410 708 FORMAT(1X,2110;A5/¢1X,1P1DE13.5)) 360

9 NNERR=NNERR+1 420 GO TO 709 970
GOTO 10 430 707 IF(TST) WRITE(KOUT,615) NARGyNWERT,(Z(1),I=1,M) 980

11 BACKSPACE <IN 440 615 FORMATILX,2110/(1Xs1P1DEL3.5)} 990
READ{KIN,ADD LEND=5D) 450 709 ANZAHL=ANZAHL-MAX 1000
WRITFIKIUT,609) 460 TF{ANZAHL.GT.D) GOTO 21 1010

609 FORMAT(////20X,*ADD REQUESTED.'/ *+',19X,14(_"')/) 470 GUTO 10 1020
WRITE(KIUT,605) NAMZ, (NAMEN{I) o T=1,NAMZ) 480 50 WRITE{NIUT) N2,FNDE 1030

605 FORMAT( ' NAMZ=9,12,' NAMEN=',2{A8,2X),1P5E13.5) 490 TFITSTY WRITE({KOUT,619) N2, ENDE 1040
WRITE(KDOUT,606) INy ANZAHL,COMT, FORMT 500 619 FORMAT{/' TESTPRINTIOUT: WAITTEN RECORD READS:*/1X,15,A8/) 1050

606 FORMAT(/' IN=*,12,' ANZAHL="',18,"' COMT=%,L2," FORMT=*',2044%) 510 TF{NNERR.NE,.D) GOTO 52 1060
IFINAMZ.NE.D) GOTOD 12 520 WRITE(KDUT,603) 1070
WRITE(KOUT,600) 530 603 FORMAT({//* #%&%%x NIRMAL END OF JOB') 1080

500 FORMAT(//* wxxxk NAMZ NOT GIVEN®//) 540 GOTO 54 1090

NERR=1 550 52 WRITE{KOUT, 620) NNERR 1100
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620 FORMAT(//Y %#okkx 9,13,% ERRORMESSAGES WSRE GENERATED. ')
54 STOP
90 WRITFIKOUT,504) IN

604 FORMAT(/ /Y sx=k= END DOF DATA ON UNIT',73,*,3EFQRE SPECIFIED NUMBFR

X OF DATAPJIINTS HAVE BEEN READ,STOPY)
STOP
120 BACKSPAZE KIN
READIKIN,DROP, END=50}
WRTTE(KDUT,5610)
WRITF{KIUT,608) EVINSEMAX,NAMZ o (NAMEN(T) ,1=1,NAMZ
610 FORMAT(////20X,"DROP REQJIESTED.*/ "+ 419X, 15("_*})/)

608 FORMAT(' BETWFEN 'yE1l4.69*FEV AND ¥ E14.6,'EV FOR: NAMI=%,12/

1 20X, NAMEN=* ;2(A3,2X]), IP5E13.5)
NARGU( 1) =NAMZ ’
TF(KEKANT.NE.O} GITD 121
CALL LDFOPN(1,TDATUM,4140)
KEKONT=1

121 CALL RETXS(NARGUsNAMEN, EMIN G EMAX ¢ Z 11, MAX, MAXZNR)
IF(NR.GT.2) GOTO 130
NARGX=NARGU{2)
NWORD=6+ NAMZ+ MAXXNARGX
NMD=2
CALL STRING(NAMDAT (1), NAMEN{11,8)
IF(NAMZ.LT.2) 5070 125
NMD=NMD+2
CALL STRING (NAMDAT(3),NAMEN (21,3)
TF(NAMZ.LT.3) GOT2 125
DO 122 1=3,NAMZ
NMD=NMD+ 1

122 NAMDAT (NMD}=NAMEN(I )

GOTO 125

125 WRITE(NOUT) NWORD,DRIPS,NAMZ y{ NAMIAT(T)sI1=1,NMD) NARGX,{Z{T}yI=1,M

1AX)

TF(TST) WRITE(KOUT,611) NWORD,DROPS,NAMZ, (NAMDAT{I),1=1,NMD)

611 FORMAT (/' TEST PRINTOUT.WRITTEN RECORD READS:*/
1 IXy11041XsA8491X,13,2(LXs2A4),1P5EL3.5)
IF(TST) WRITE(KOUT, 612) NARGX,{Z{1),1=1,MAX)
612 FORMAT(1X,I10/({1X,1P10E13.5))
TFINR.NEL2) GOTO 10
CALL REPXS (NR,MAX)
NWORD =6+ NAMZ +MAX
G0TO 125
130 WRITF(KOUT,513)

613 FORMAT(/* NO DATA FIR THESE SPECIFICATIONS WERE FOUND.NO DROP REC

10RDS ARE WRITTEN.'/)
G070 9
140 WRITE(KIUT,616)

616 FORMAT(//! KEDAK~LIBRARY NOT MOUNTED.NO DROP RECORDS ARFE WRITTEN

1'/7)
GOTO 9
700 BACKSPACE KIN
READ {KIN,DROPA,END=50)
WRITE (KOUT,701)
WRITE (KOUT,702) NAMZ,{NAMEN(I),I=1,NAMZ)
701 FORMAT(////20X,'DROPA REQUESTED. "/ *+*,19X,16(°*_")/)

1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650

[gExRXel

oMo

TO2 FORMAT(20X, *NAMZI=",12,° NAMEN=',2(A8,2X)1P5E13.5)
NMD=2
CALL STRING{NAMDAT(1),NAMEN(1},3)
IF(NAMZ,.EQ,1) GO TO 703
NMD=NMD+2
CALL STRINZINAMDATI 3) 4 NAMEN(2),8)
IF({NAMZ.LT.3) 6O TOD 715
NG 716 T=3,NAMZ
NMD=NMD+1
T16 NAMDATINMD)=NAMEN(I)
T15 NWORD=5+NAMZ
GO TO 704
703 NW3RD=S
704 WRITE (NOUT) NWORD, DROP Xy NAMI, (NAMDAT(I) ,1=1,NMD)

IF(TSTY WRITE (KOUT,511) NWORD,DROPX,NAMZ, (NAMDAT( T}, T=1,NMD}

GN T0 10
END

SUBROUTINE CDINPT
COMMON/ TNOUT/ KINy KDUT, KPUN
REAL*B A(10)

INPT =5

N=1

CDINPT LIEST DIE KARTEN-EINGABE VON INPT UND LEGT SIE NAZH XIN

5 READ(INPY,3)00,END=99,ERR=G} A
WRITE(KIN,900) A
900 FORMAT(10A8)
N=N+1
GaT0 5
9 WRITE(KOUT,501) N
601 FORMAT{/'" FEHLER BEIM LESEN DER',15,'-TEN KARTE'/)
601N 5
99 WRITE{(KNUT,502) KINN

602 FORMAT(/® DIE KARTENEINGABE WURDE AUF FT',12,' ABGELEGT.ES WURDENT®

1,15, KARTEN GELESEN'/}
REWIND KIN

RETURN

END

SUBROUTINE RETXS{NARG,NAMES, EMIN,EMAX, X, NUMX,MAXNUM,NR)
DIMENSION X (1}, 2{23),NARG(L}

COMMON/INIUT/ KOUT

REAL*B8 NAMES (1),NAM(20)

RETXS RETRIEVES KEDAK-DATA,

N=NARG( 1)

1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
160
170
180
190
200
210
220

10
20
30
40
50
60
70
80
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20

24

25

30

34

200

DC 2 I=1eN

NAM{T)=NAMES( T}

1=n

CALL LDFLDCINERR,NARG,NAM,Z)
IFINERRLF2.0) 3ITY 30
K=NARG(2)

IFEZI1). LTLEMIND 3370 29
TF(Z(1).GT.EMAX) 577D 32
507D 21

CALL LDFNXT{NFRRy VARG NAM,7 )
TF{NFRR,EN.D} GOTO 22
TELZUL)LLT.EMIN) 3070 20
IF(Z(1).GT.EMAX) 5DTD 264
1=I+1

TECI#K. 5T AXNUM) GO TO 34
N0 1 J=1,K

L=(I-11%K+d

X(L)=2(J)

5070 20

ENTRY REPXS (NR,NUMX)
=0
GOTn 21

IF(T.LT.1) 5071 23
NR=1

GaT0 209

NR=5

GOTO 2922

IF{I.LT.1) GOTO 25
NR=0

GOTO 2090

NR =6

GOTO 220

NR=3
GOTD 200

NR=4&
5070 200

NR=2
I=1-1
GNTD 200
NUMX =1
RETURN
FND

480
490
500
510
520
530
540
550
560
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